Devanagari Script: Short vowels

H 2 3 £ %

a 1 u r 1

31 ispronounced asin cup, bus etc.
g ispronounced asininform, init etc.
3 is pronounced asin look, book etc.

% hasno direct equivalent and is pronounced
somewhere in between ri and ru, like crystal.

% isasolike=® and is pronounced somewhere
in between li and [u similar to glycerene.

Devanagari Script: Long vowels

The eight long vowels are

3T

a

S * q

o F

el o,
=4

(@]l

al

Thefirst four are the long forms of the
corresponding short vowels.

T and A are long vowels which do not have
short formsin Sanskrit.

T and 3 are often likened to di phthongs though
they are not strictly combinations of two vowels.

Is pronounced asin far, bar, fall etc.
IS pronounced as in easy, eagle etc.
IS pronounced as in rooster, fool etc.
isthe long form of &

Is pronounced asin fable, gray etc.
Is pronounced asin my, fly etc.

@A A Y 9 Mg

Is pronounced as in road, goat etc.
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S IS pronounced as in down, noun etc.

The Support Vowels

The two support vowels are known as "ubhayakshara’
and are mostly appended to syllables. They are not
used independently like other vowels.

They add specific sounds to the syllables they are
appended to. These two support vowels are represented

using the first vowel 31 .

3 3

am ah

Thefirst isknown as the "anuswara"' and the second
"visarga' The anuswara adds a sound similar to the
sound of min"sum" to the syllable. Thevisarga
adds a sound similar to "ha" to the syllable.

The "ha" will change depending on the vowel ending
the syllable. The visargamore or less extends the
vowsel in the syllable with h+the same vowel asin the
syllable.

Example: if the syllable endsin vowel g then the visarga
would add a sound like "hi".

There may be differences in the manner in which these
two are introduced in conventional Sanskrit Primers.
When reading Sanskrit, it will be necessary to render
the visargain away that will distinguish it from the
syllables ha, hi, hu etc. This may be accomplished by
shortening the vowel in the visarga.

Oneistempted to ask, "well how can Sanskrit be a
phonetic language then, if the sound for aletter is
context dependent?'. We shall answer thisin alater
section dealing with phonetics.

Let uslook at the first consonant.



+ (ka

Thegenericformof & is % . The nether

stroke _ isattached below the letter < .
Now, the familiar form of a consonant in
Sanskrit isthe form when it is sounded with the

first vowel i.e., 31 . Thus

EE +3] =
Pronouncing a consonant in its generic form
requires that no vowel sound be added to the
consonant’ s generic sound. The generic sound is

guite similar to the sound associated with a basic
phoneme corresponding to a consonant in English.

For the consonant & the associated generic sound
will be like the ending syllable of the words
"lake", "bake" etc..

A pure consonant is linguistically defined to be
one without any vowel attached to it. Consonants
can be meaningful in practice only when uttered
along with avowel. Ancient linguistic scholars
refered to the vowels as "life giving" aksharas
while the consonants were likened to the body.

It is common practice to introduce the consonants
to the student, in the form where the first vowel 31
forms the syllable with the generic sound of the

consonant. Thusthe student learnsthat % is

is pronounced like the first syllable of "cup” . In
India, children are often taught the aksharasin
this manner.

Thefirst group of consonants are the Gutterals.

E9) | J| 9 S
ka kha  ga gha fna

% soundslikethefirst syllablein cup

d istheaspirated form of &



T sounds likethegingum

¥ istheaspirated form of 1

€ soundslike thengin finger

The second group consists of the Palatals.

| 3 © | | S|

ca cha ja jha fia

d soundsasin char

¥ istheaspirated formof =

S sounds asinjar, just

& istheaspirated form of S

3 soundssimilar to the last syllable of the
spanish word espana where the n has the
combination sound of the Englishnandy.

The third group of consonants are the cerebrals.

< [ S [ il

ta tha da dha na

< soundssimilar tothetin taylor

& istheaspirated form of <

€  soundssimilar tothedin day, differ etc.



@ istheaspirated formof €

91  soundssimilar to the nin fund.

The fourth group is made up of the dentals.

a o g o a

ta tha da dha na

d sounds like thefirst syllable of thirty

Y isthe aspirated form of d

& soundslikethefirst syllable of thus

g isthe aspirated form of §

d soundslikethenin null, name etc..

The fifth group of consonants are the Labials.

q % q 3 q
pa pha ba bha ma

9 soundslikep in pun

% istheaspirated formof 9

d soundslike the b in butter

¥ istheaspirated formof

H soundslikethemin man



Semivowels

q { A q

ya ra la va
Sibilants

2 g q

sa sa sa
Aspirate

g

ha

g soundslikethey inyoung

T soundslikether inreal, similar to the Scottish
pronounciation.

&  soundslikethel in laugh
94 soundslikethev invast

21 hasnodirect equivalent in English. Itislike
the"g" a German would pronounce while
speaking English and saying Germany !

¥ soundslikethefirst syllablein shall
d dmilar tothesin same

& soundslikethe hin harmony.

There are three other consonants that one finds in use.

o & d

la ksa jfia



@ isusually included in the semivowels.

Itissimilar to < but is pronounced with thetip
of the tongue folded back.

& isactualy aconjunct being &% +¥
g isadsoaconunct ST+

Thefirst and the third are used fregently in old
sanskrit texts. The second isin common use today.

Consonant VVowel combinations.

Sanskrit is a phonetic language. Any of the con-
sonants can form a syllable with any of the vowels.
Such combinations are written using special
ligatures (specific shapes different from those of
the normal vowels). The Devanagari script

follows fairly consistent rules to write a consonant
vowel combination. In standard literature, the term
medial vowel is sometimes used to refer to vowels
seen inside aword. Hence some scholarsin the past
have refered to the ligatures as medial vowels. We
will see that while thisis reasonable, exceptions do
occur.

Each vowel has a specia shape associated with it

for use with a combining consonant. Thisis known
asa"matra' or ssimply vowel extension. A matra,
when added to the basic shape of a consonant, results
in a syllable consisting of the consonant and the
vowel.

Some matras are added to the right of the consonant,
some above or below the consonant and one specific
matrain Sanskrit is added to the left of the con-
sonant i.e., before drawing the consonant.

The matras associated with the vowels are shown
below.

A
al

Vowsd: H T E



—_—

matra:

6

X
=
3
3
s, =
¢S

Vowsdl: x q \Q N a
matra : . h ® ki Y
Ex. % 3 * &l ol

No matrais used for the combination with 31 since
thisis considered the basic syllable for a consonant.

In consonants having avertical stroke in their shapes,
the matras that get added above or below are drawn
coinciding the vertical stroke. For consonants not
having avertical stroke, the matras are usually added
centered with respect to the horizontal span of

the consonant. Takeq for example.

2.6

g a
T E

A ap

d
al

Ay 6.4

All the thirtythree consonants strictly follow
the above convention with very few exceptions.

The consonant ¥ hasan exception for combinations
withd and & .

Theformsfor¥T withS and® are ® and®&
respectively.

The combination of 8 and#® iswrittenas & .
As seen aboveq and & will beT .

In respect of Sanskrit, the term conjunct refers
to a syllable formed with two or more consonants
and avowel.

Let uslook at an example of a conjunct.

The name Krishnais familiar to one and all.

2



In Devanagari it iswritten as$s and

the word is made up of the two syllables %

and ST . Thefirst syllable has the consonant
combining with the vowel 3 and the second
syllableisacombination of ¥ , 91 and 3T .

In Sanskrit, we reckon %01 as being made up of
two aksharas.

Here are some examples of two consonant conjuncts.

i = | + B
H = H + q
&d = q + d

Note that in the first conjunct ahalf formof < is
attached to the vertical stroke of the first consonant.
In the second and third case, the first consonant has
lost its vertical stroke while the second consonant is
written in full.

Over the centuries, different conventions have been
adopted for writing conjuncts. We will see some
variations in the next section.

Writing methods for Conjuncts

As ageneral rule, consonantsin a conjunct are
written in their half form except for the final
consonant which iswritten in its full form.
There are exceptions to this rule when the con-
sonants do not have a clear half form. The
consonants which do not have the vertical stroke
in their shape come under this category.

The following 22 consonants have avertical stroke
in them.

(C] I 19 o S L S|
|

1
H A4
FCRNC
3
o 1
& 4
a 2



The following do not have a vertical stroke in them.

[ 3 A [y g
[} q { g
% and® have astrokein the middle.

For the twentytwo shown first, the half formis
obtained by simply removing the vertical stroke.

For & , the half formis & (not to be confused

withd ). The half form for % isvery closeto that
of 9 itself.

For the nine in the middle row above, a clear half
formis not standardized. Often the letters are just
reduced in size and placed before the succeeding
consonant in the conjunct. Considerable flexibility
exists in writing conjuncts with these consonants.
Examples of conjuncts with these nine, will be
given below.

Here are some examples of conjuncts. Please note that
there are nearly a thousand of these. Only some
areincluded here. The information relating to
[ITM software has pointers to all the supported conjuncts.

VI AV TR YR T VG - VR VI T

+ + + + + 4+ + + + + + 4+

q4 M H M A o § o o H ™ oA g
I

MM A 9 o W g oA N d oy



Devanagari- Rarely used Aksharas their
representations.

Among & & and % only 3 isnormally used asa
vowel with consonants. The other two are mostly
used as independent vowels and in cases where
they do combine with consonants, the following
consonants are the ones which figure most.

Z d Q | el d combine with =
% isseen mostly with s

When ¥ combineswith 3 | itisgeneraly shown as

Gk andnot¥ .

Note on timing.

The short vowels are pronounced for one unit of
time and the long ones two units. The unit of time
Is not an absolute value by itself.

L etters which look similar and thus might confuse the
student initially are shown below..

g € g

1 da ha

D] g, H H, d d,
tha ya, bha ma, gha dha,
< <, d -, q g,
dha da, ta na, pa sa,
q d

ba va

© may be confused with T followed by a 9 i.e, 9.
The first part of @ will in general be more curved
than¥ but inin the case of the gutteral @ , the bottom



stroke will overlap with the round of thed . The
comparison will be effected by writing the two aksharas
one below the other.

C]
G|

The student is urged to keep these similar looking shapes
in mind when learning the script.

Conjuncts with ¥ asthe first consonant.

The consonant Y is special in that conjuncts

where X occurs as the first consonant, are written
using a special ligature. In these conjuncts, the

presence of T isindicated by a shape resembling
a hook above the last consonant of the conjunct.

Let uslook at afew examples.

A oA oM oA
+ + + +
a o A
+ + 0o
g g 4, 3,

T combines with almost every other consonant
and onefinds several wordsin Sanskrit with ¥ as
well asd  in aconjunct.

Earlier, we had mentioned about a conjunct with five
consonants. Hereisthe word with the conjunct.

Feel  Just two syllablesin the word!

L et us now look at some conjunctsin which
{ appears as the second or third consonant.

We have already seen that T belongs to the group
of semivowels. Most consonants will combine with

4 4,



with¥ and the resulting conjunct will usually end
with ¥ and an appropriate vowel. The presence of

T in the conjunct will be seen through a special
stroke added to the first consonant. Please observe
the following carefully and remember the writing

method for the consonant.
% o9 A El 9 q
kra cra tra tra pra mra

Sanskrit books printed during the early part of the
twentieth century may show variations from the
above.

Now that you have learnt the basic writing
system used in Sanskrit, you might want to
see for yourself how well you can identify
and read the Devanagari script.

1. Identify the following aksharas and speak
them. Y ou might also wish to distinguish
vowels from the consonants.

g T % & g
N q g q da
q q T 3 3

2. Speak out the folowing aksharas.

@@ & @ A R

a = Gl Y el
3. Speak out the following conjuncts.

3 cO I - S )

4. No clues are given but figure out what
the words are. We have put spaces between
the letters for you to identify the aksharas
easily.

AN
EUEY



& A
&
Agga
ST 9t g
AHARSF A

N D

A H e
TH, 59, e
=~ X¢
MSEECSEEN
At this point you would see the advantage of a
phonetic system of writing!
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INTRODUCTION:

In thisfirst lesson, the student will learn some
expressions of common everyday use. In these

expressions, the verb 3_ (to be) is understood
and is not explicitly used.

Sanskrit, like other classical languages, has three
genders- masculine (m), feminine (f) and neuter (n).
These are indicated in the examples given. The student
Is advised to learn these expressions by memory.

The prelude to these tutorial lessons introduced the
vowels and consonants of Sanskrit and also indicated
how they are to be pronounced. The student is advised
to refer to this prelude as well to memorize the basic
|etters.

1.1 Here are some common expressions
in the first person.

AH a#H {H: My Name is Rama (m)
mama nama ramah

qq dW dtar My Nameis Sita (f)
mama nama sita

T AW R My Name is Sekhara (m)
mama nama sékharah

HH G SHT My nameis Uma (f)
mama nama uma

o a: B My God is Siva (m)
mama dévaha sivah

Tq & g My Goddess is Parvati (f)
mama dévi parvati

HH T |4 My son is Madhava (m)
mama putrah madhavah

P e My daughter is Vijaya (f)

mama putri vijaya



oH 9dl &) My husband is Vishnu (m)

mama bharta visnu

A Wl R My wifeis padma (f)
mama bhirya padma

o Udr SEed: My father is Jayadeva (m)
mama pitd jayadévah

HH HIAT QAT My mother is subhadra (f)
mama matd subhadra

q9 Tl ded: My brother is Vijay (m)
mama bhrata vijayah

qH 99T HicsH! My sister is Mallika (f)
mama svasa mallika

ou o Fe: My friend is Krishna (n)
mama mitram krsnah

o9 G R My vehicle is Toyota (n)

mama vahanam toyota

Note that the verb "to be" (i.e., theform "is" in English)
iIsnot used in any of the expressions. The explicit

form of the verb 19_ (to be) isawaysimplied in
expressions of this nature and in Sanskrit, asin most

languages, the personal pronoun #H has no gender.

1.2 Simple expressions involving a question.

This subsection deals with expressions invoving
aquestion, the answers to which are similar
to the expressionsin section 1.1.

.

dd d™H T What is your name?
tava nama kim

dd \QH: % Who is your God?
tava dévah kah

a9 &t & Who is your Goddess?
tava devi ka

dd = & Who isyour son?



tava putrah kah

ag g #: Who is your daughter?
tava putri ka

dd |Tdl : Who is your brother?
tava bhrata kah

dd 491 &l Who isyour sister?
tava svasa ka

da o & Who is your friend?
tava mitram kim

dq ared & What is your vehicle?

tava vihanam kim

Observe that there are no question marksin any
of the sentences. In Sanskrit, no punctuation is
ever used. Generally, the punctuation is recog-
nized from the intonation.

Even in the interrogative form, the verb 314
(to be) isnot explicitly used.

Gender becomes apparent in these sentences as
can be observed with the ending akshara of the

words i.e, &: , &l and & .

%: isthe masculineform known as

o\

d5%:  (pumlingah)
%1 isthe feminine form known as
w=iiosg: (strilingah)
T isthe neuter form known as
GHRE: (napumsakalingah)

Among the words used in the sentences given
above, the following words are masculine
in gender.

= > [N
TH:, @, &, T, R, Ana:,
=\ [aN o\
SHeg:, Ao, U, gran



The following are feminine words

didr, SHI, 9Edl, faeE, a4, O,

Some examples of nouns in the neuter gender are

M, 9, W, 9, S,
HHAH | IHWUH

In Sanskrit, gender is not decided by the meaning
of the word but is fixed by other considerations
such as the form of the word and its ending.

A Noteontheworddd .

The form of addressdd , it should be noted | is
mostly used in circumstances involving persons
who enjoy a close relationship with the person
speaking the sentence. Often, the form with respect

Had: (m) or AT (f) isused.

However, it is observed that the form dd wasin
regular usein earlier times and did not mean any
disrespect. In keeping with modern trends, we are

following the practice of using da for the familiar

form of address and Hdd:/qdcHT: for the respectful
form. Thisis similar to the usage of the German
words "dein" and "ihr".

Demonstrative pronouns.

Masculine §:  He(whoisnearby)
q: He (who is farther away)

Feminine Wq  She(who is nearby)
a1 She (who isfarther away)

Neuter Tdd_ This
dd. That



The use of the demonstrative pronoun will
depend on whether the speaker isrefering to a
person in the immediate vicinity or someone
at adistance. Essentialy, thisisequivalent to
the difference between "this' and "that". In
Sanskrit this distinction applies for al the
three genders.

qq: and q: (masculine)
ésah sah

QT and a1 (feminine)
ésa sa

Tdd. and dd_ (neuter)
etat tat

Let uslook at some examples.

Tq: hlh: This (isa) crow
ésaha kakah

TET HIAT This(isd) garland
ésa mala

QY: HA IS This (is) my elephant
ésaha mama gajah

TN A9 g™ This(is) my wife
ésa mama bharya

Tdd_ hHIH_ This (is @) lotus

état kamalam

Tdd a9 ®HASGH_ This(is) your lotus

gtat tava kamalam

[SERE LK That (is) Krishna
sah krsnah
[SLIE I That is Krishnaa (f)

(Krishnaais afeminine name)
dd_ - That (isa) seat
tat asanam
dd d9 MEAH_ That (is) your seat



tat tava asanam

1.3 Some common expressions used in

daily life.
T Greeetings
namaste
GIHATAH Good Morning
suprabhatam
PIASH_ T How do you do?
kusalam va
Jeqdlql: Thank you, Thanks
dhanyavada:
EINTAH Welcome
svagatam
TR | am thankful
(I am grateful)

dhanyosmi
TS See you again
punarmilamah
A Please excuse me
ksamyatam
AHE] Best wishes
subhamastu

Glossary:

Words already seen in the sections.
Eck - God Ecii - Goddess
=" - friend
Tar - father Al - mother
aH - name
gA: - son =t - daughter
dre-H_ - vehicle

Tl - brother &©4q1 - Sister



HH - my
Wal - husband T - wife

Here are some more (new) words.

1. Masculine gender

L - man dlh: - Ccrow
HYL: - peacock

a«: - monkey AAH: - dog

& - hand

USE - elephant IS - mountain
qeR: - cat

3 - horse

2. Feminine gender

A& - garland RAT - story

G| - mercy

SEI - hall HHT - language
FAU - sympathy

&dl - creeper AL - female dog
T - female monkey

qEdl - mare g8 - peshen
O - female cat

T - woman

ARG - name of a Goddess
FE - Goddess of learning

3. Neuter gender

HI4H_ - house ®HSH_ - lotus
AA-H_ - face
AEAH,_ - seat STAH, - water

99 - wealth



Exercises.

1. Learn to pronounce all the words introduced in the earlier
sections. Correct pronounciation is essential for Sanskrit.
Make use of the Roman transliteration given alongside when
necessary.

Try and pronounce the following words.

e WA AEE: R,
A UM Hlsar
VTR UE: Bk ged:
Tl iz I | L1 B

2. Using the words intoduced in section 1.4, try
to form sentences similar to thosein
sections 1.1 and 1.2.

3. Try and form sentences in Sanskrit.

Thisisyour husband.
That isyour son.
Thisismy lotus.

That isyour lotus.
Thisis Govinda. (m)
That isVimalaa. (f)
Salutations, Krishna
See you again, daughter.



-------------- L esson-10
Generdl introduction to the tenses.

In Sanskrit, verbs are associated with ten different
forms of usage. Of these six relate to the tenses and
four relate to moods. We shall examine the usages
now.

Six tenses are identified as follows. The tenses
directly relate to the time associated with the
activity specified in the verb, i.e., whether the
activity referred to in the verb is taking

place now or has it happened aready or if it
will happen or going to happen etc.

Present tense; ~ AcHIH Fles:
Thereisonly one form for the present tense.

Past tense: d &l
Past tense has three forms associated with it.

1. Expressing something that had happened sometime
in the recent past, typically last few days.

2. Expressing something that might have just happened,
typicaly in the earlier part of the day.

3. Expressing something that had happened in the distant

past about which we may not have much or any
knowledge.

Futuretense,  Wiasdd H1:
Future tense has two forms associated with it.

1. Expressing something that is certainly going to happen.
2. Expressing something that is likely to happen.

------ Verb forms not associated with time.

There are four forms of the verb which do not relate

to any time. These forms are called "moods" in the
English language. English grammar specifies three



moods which are, Indicative mood, Imperative mood
and the Subjunctive mood. In Sanskrit primers one
sees areference to four moods with a dightly
different nomenclature. These are, Imperative mood,
potential mood, conditional mood and benedictive
mood. Since the nomenclature differs we will have
to see what the moods in Sanskrit actually refer to.

The ten forms of usage of the verb are each given a
name in Sanskrit and all the names start with the

akshara@. Hence the forms are called the ten "lakaras"
(Even though two of the forms do not strictly start

with@ | theterm SRT:  applies)

1. &< Present tense

2. 3¢ Past tense - imperfect
3. AL Past tense - aorist

4, Te5E Past tense - perfect

5. < Future tense - likely
6. 1 Future tense - certain
7. ag Conditional mood

8. CIBIET: Potential mood

0, TR Benedictive mood
10. E:?Ig I mperative mood

It may be noted that five of the lakarasend in € and
the remaining fivein'€ . One more Lakarais known to
be seenin Vedic texts. It is known as%‘{ :

It must also be remembered that verbs in Sanskrit belong
to two categories depending on whether the activity
specified in the verb applies to the person himself

or whether it applies to someone other than the subject
of the verb.

Verbs referring to the activity for the self are said to be

" Atmanepada’ aﬂ?ﬂﬁﬂ'q’ verbs.
Verbs referring to the activity for others are said to be

"Parasmaipada’ CR'FﬁTq’ verbs.
V erbs which can take both forms are known as

"Ubhayapada" 39949q verbs.



Each verb in Sanskrit can be traced to a root which we
may refer to as the root form of the verb. There are many
Instances of verbs being derived from two different forms
of aroot. The form of the root used in deriving the verb
will depend on the tense.

Forms of the verb for the different tenses and moods are
obtained by adding suffixes or prefixes or both to the
root form and adding an infix as well. So we may say
that the general for of any "lakara' is

(prefix) + root form + infix + suffix

The paranthesis indicates that the prefix is not present
in all the forms.

Theinfix is generally referred to as the conjugational sign.
The form of the infix is dependent on the root form as
well as person. In Sanskrit, the aksharasin the infix are

termed as FIEXUTIcdd: and those in the suffix are
called l%t{QFq?-T . Theroot form is known as g .

The suffix isreferred to as the verbal termination sign.
The form of the suffix depends on the lakara and we can
apply some rulesto arrive at the suffixes. For each of
the lakaras, nine suffixes will have to be remembered.
Three persons and three numbers for each person make
up the nine.

It may be bornein mind that the verbal termination signs
also depend on the type of the verb, i.e., "Atmanepada’
or "Parasmaipada’.

We have seen in lesson 3 the conjugations of the verb in
the present tense. Later in this lesson we shall study the

conjugations for the other tenses and moods. These will

be covered in independent sections.

................. Lesson10

Past tense (simple past tense):
The form considered here is &g



As seen in the introduction, the formation of
the verb may be specified through aformula

(prefix) + verb root + infix + suffix

Theinfix is based on the root and the personwhile
the suffix, referred to as the verb termination,
depends on the tense or the mood.

For the simple past tense, 31 isthe prefix.
The terminations are as follows. These apply for
verbsin "parasmaipada’.

Per. Sing. Dual Pl.
1. d di SE
1. g d d
. =) C| H

Applying the formulathe forms of averb will be
obtained as

11 Sing. H+vr+3+d_
[11 Dual S+ Vr++dH,
[ M. ST+ Vr +3+ 3
Il Sing. J+vr+3+Y
[l Dual ST+ Vr+3A+dH_
[Pl ST+vr+3+d
| Sing. I+ Vr + 3+ 31
| Dua S+ vr+3+d
| PI. +vr+3AT+H

Now for the forms (past tense) of the verb TSI
The root form for the verb is =%

Theinfix corresponding to the root 3T=2 _is also 31
for second and third person but 3T for first person.

Per. Sing. Dual Pl.



1. TR TR IS

He went They two They went
went
1. VTS TS INT=Sd
Y ou went Y ou two Y ou went
went
l IS VTS TS
| went Wetwo We went
went

The discerning reader would want to know why in
the case of the second person singular, thereis

no conformity with the indicated termination §_or
why differences are seen in applying Sandhi rules?

It must be remembered that there are specific grammar
rulesin repect of how sounds are modified when suffixes

are added. Typically, the suffix §_,when added to a noun
or verb root, becomes avisarg. We will not dwell on this
much, as thisis beyond the scope of our current lessons.

Lesson 10
Future Tense- MidsdcahT:

As seen in the introduction, Future Tense may
express something that is certainly going to happen

(@2) or express something that may happen(&g).
Of these two, &< is seen in frequent use.

Theinfix for future tense is&4. Thisinfix changesits
form to 4 when applied to some roots. In some cases

it may become ™. There is no direct rule or formula
which we can remember in respect of thisinfix. It
will be necessary to commit to memeory the forms
for different verbs.

For many verbs, two root forms may be seen. For
example,

¥, =3 arethe two root forms given for IT=S(d.



Likewise,

q1 , 99 for MaTd and

e, fdg for fsfd .

The form of the verb for future tense will be based

on the first root where two roots are specified.
As seen earlier, the second form of the root will be

used in generating the verb in present tense, past tense

and imperative mood.

Let uslook at the terminations for future tense.
The infix and the tense terminations are combined
together and shown here.

The table appliesto verbs in " parasmaipada’

Per. Sing. Dual
11 i q:
I (1) =
I STH a:

Now for the forms of the verb I/=sTd in future tense.

1 TS TTHsa:
He will They two
go will go

1l TS TSy :
Y ou will Y ou two
go will go

| ST TS
I will go We two

will go

The forms for T4, Please note that the form

of theroot that istaken is4T .

1 QAT QT
He will They two
drink will drink

Il I gy
Y ou will Y ou (two)

o o

ITHTd

They
will go

[aN

TTHSSY

You

will go
TS
We will

go

R
They will
drink
Q&

Y ou will



drink will drink drink

o

I qQrEaTH qE Qe
I will We (two) We will
drink will drink drink

The student would have observed by now that he/she
will have to remember the root forms for many verbs
to be able to correctly form the verbs. Panini, the
foremost among Grammarians, had listed about 1950
root forms for Sanskrit. Surprisingly, knowledge of
just about 300 of the root forms will be adequate for
understanding Sanskrit texts.

If you arew curious as to what these 300 are, you may
have to wait for advanced lessons to be put up in these
pages! Thisisabig task and we would like to know if
you are interested. Send us a note.

Summary of root terminations and verbal
terminations for different tenses and moods.

The tables given below may be used asabasic
reference for determining the forms of the verbs
in different tenses. The student is reminded that
the tableis given only as areference and the
terminations cannot be blindly applied to aroot
form. It will be necessary to remember the root
forms for many verbs.

Terminations for the present Tense

2 -
qEHYS ACHIS
1 fa a: offed d ¥ Id
I 1= S FR g ¥ w9
[y LN
| M 9 =R g da Ha

Terminations for the Past (imperfect) tense

1 d dH S+ d gl ed
Il g @ d RIEE-CIREC



b
e

I SH4Ad H E

Terminations for the Future Tense

~ ~ LN =~
i S S Sied S Sd SR
I =Yg S Sy 151 B S S 5
| SH S S W ER SR

In case of the Future Tense, we have already seen
that the general termination is 4. In some verbs,

¥ changesto ™ and also takes¥ in the beginning
of the termination. The form shown above may be
interpreted in the light of this observation.

Terminations for the Imperative Mood

11 d a °=d ai i eFdl
I aq o d SO
| A T ST U oTER e
Terminations for the Potential Mood

1 id 3aWm g 3q Sl S



Lesson-11

GIERIEN

- A pilgrimage

dH-dhld: - Springtime

FE. - e |, U (g, A (IH),

ST AR T |

Family - Grandfather, Father (Shankar), Mother (Uma),

Mohan and Usha.

I - g T O 9 gEaed: |

For along time we have not had a vacation.
(It isalong time since we have had a vacation.)

AR I FATSTY Teaoama |

We should certainly go somewhere this summer.
RICHEG Jdd g a7 GhedT

HE (hRIcH® T@m: |

A place far away from this crowd into the mountains
or forests and spend some time with nature.

A ... o 9 RHEITE TS

ARG J5aH: ?
Ahl..... Yes, yeswe will go to the Himalayas and
view the snow capped peaks.

T - e, |

o

HdHzg

Let me think.

[aN o N o haN
AR Hacdy 79 U@ 3 @t f0E: g |
Thisyear my paid vacation is due.
qE_ 599Ed Fdl Fwdl o geamt
FqAd TEH: |

We can think of along trip not worrying about the
expenses (or: and not worry about the expenses)

- Zg |, FROT 1T Sl ey 9 3%

IRTRTFAH, | d=d 79 Jedl: T |
Shankar, for along time | have had awish to go to
Badrinath and Kedarnath before my death.

dd Al U Udd_ g Hlgaddl | Wed T@5ed



Hhsed] Ud HI HdAT |

Y our mother too had the same wish. But she died
without achieving her desire ( without getting her

wish fulfilled)

IAT- i 99 RASIAYEd OF TSEm: - |

q1 g GEE neat ZE ;|

Y es, we will go to the Himalayas only and see two

of the most important shrines (temples).

TR a1 ? " {UaUsT™ garn: et oy e gid
Remember the saying? The manes are satisfied and the
mangoe trees also watered.

e aTr(a_ ha¥ . @: ‘[ (N
HREH: |
Like that we shall enjoy nature and also take our bath
in the holy Ganges.
Q.a, a_i;é_‘ a&"@f haN . o . |
If so, we shall plan our trip.
I , HiEd g990: aaeaed TeHEE: w
AT ?
Usha, Mohan when does your school’ s summer
vacation begin?

o

dre § AEE Y @ , die #Ql aed

O TArC s
That isin the beginning of May and when does it
reopen?

~ 2 =
HiEd , SHI - GRAMEE HeY |

Middle of Visaka (End of May)

|lesson -11 Part-2

AT -

o

HdHe:

Td ¥d UF e qd: SRd @9 ?
I IAH: FS: TGOS T, |

If so, we have amonth’stime and that is the
best time to go to Badrinath.

- ST e G- FgRATISAT
RiTY IgRAd |
The two temples at Badrinath and Kedarnath open



o

HdHE:

for worship only after Akshaya thritheeya.
= NN ~

U] , FIHQET &I gl Iid T8 |

AT ... ERER Gid Wdied g al

Twd |

Listen, first we go to Delhi by train and then ...
To Hardwar we can take atrain or bus, or to
Dehra Doon....

- BRI T=™: |9 g el |

a QUERTEEl S Fodl AUaER FH: |

L et us go to Hardwar and not Dehara Doon. After
adip in the holy Ganges, we shall start our pilgrimage.

ENEREE THAEINY S aw |

FAETRE T T RN d09e0T Sidad |

It was at Kanakhal that Daksha' s head was severed by
V eerabhadra.

O, 39 - Fu9 , wIF |

o\
pe

AT -

g ¢
.« =

Tell me, Tell me!

H A1 T, RIST AOIG: ?
Who was Daksha ? And who is this Veerabhadra ?

Il T |

| will tell later.

A Tad_ g |

So it is decided.

I Sl Gid (odie TSI |
First we go to Delhi by train.

qd: I U9 | SRR TSR |
Then we go by train again, to Hardwar.
SR T TEa, |

Train journey is more comfortable than journey
by bus.

Tt 9 9491 @ |

Indeed! father is not young.

FEAGTGN IHH (ISR ST
AATTES- R TAURERAT RS |

| will get our A/C threetier sleeper berths reserved



through my office.

lesson 11 Part-3

o A e e |
Early May, the day of the pilgrimage.

3T -

IYAEA & AT FEa, |

IE A=Y SR |

Usha, Mohan, do not trouble me. | am preparing for
the trip.

Todq, | [Uamed @8 oM Fed shiedd, T |
Go, talk to your grandfather or play.

ad |, WA, g afe: Hiae TG A @EH |
Father! you don’t eat anything bought from outside.
AT, caed (hisd, FFRIEATNT Tosiihdy |

So | am preparing some dry food for you.

(that will last so that you can avoid eating food
from outside as far as possible.)

IH | AT FET: & AT

TGN SRIAN a1 ?

Uma, have you taken water cans, flash light,
sleeping bags and such?

I G- did |, o1 | AU (Gediden: IRNEH T

ToT Flferae el Y Eihare |

Father, yes. We have a so packed candles, match box
and some books to read.

I HiqHAT ST ST Tl = sy |
| shall take few medicines and digestives.

IE GAT-GACRI, T O o 9 SR
TATCHAT GROTH FH: |

| will take some traveller’ s cheques. On the way
we can exchange them at banks for cash.

* o
HAPTAT 3TEHT AT AdH |

The van is here and Senthil has come to pick up
our luggage.



SHI -

e | T, I qadi Jed Al yeadas: |
OK, before departure, we shall pray to the Deity
and then proceed with our trip.

Lesson-11 Part-4
At the station &= F&d

g ¢
.« =

i 4

-

IY , O, Faedd: |1 gEaq |

qH & Rid |

T SEEAS 8 o |

Usha, Mohan, Don’t run here and there. Hold my hand,
lest you be lost in the crowd.

T g ARG AU, W, GeaREadeH |
T ARA PIEREUEH 237 .. af A |

Thisis an airconditioned compartment but it is
two tier. Whereisthreetier? Ah! thereitis.

Hiede;, , IFEAE ATEEH aF a9 |
TEFEESE Yo
QY G |

Senthil, please take the luggage there. Berth
numbers 40 to 44.

did W O T MR SueRd |
Father, you sit here next to the window.

IH O’ 97 IUEEIH |

| will sit near the window.

A7, 99 € a9 SURIH |

No, no, | will sit there (near the window)

G i T i i

IY o4 d A A q6d TEEEd e S9ERr |
Mohan, you sit here next to me and Usha, you

sit in front of me near that window.

SOH |, Wed FY o 30 9aA ?

LT FA ?

td J ShaF RS "TEAURE 3 |

Fine, but how do we lie down? Where is the

place (to Slegp)? You said it is a sleeper compartment.



O, , S - & , gl (86d:)

ald WA Iae [ R 9 S |
Ha, HaHa! (laugh)

Grandfather, you don’'t know even alittle bit
of things modern.

IF Od [AY AEHEA |, T29d I IEAEER
HANTGH, | o1 WAM, T F |

Pull thislever. See your sleeper berth is spread
(folds out). You will sleep here.

Lesson-11 Part-5
‘ﬁ{],: - Next Morning.

o\
M

AT -

o

HdHE:

-F 99 gET: ?

Where have we come?

T4 gl FrSEETel gy &1

We are now near Vijayavada.

-3 | AR &

I g a] AT TS |

e g @viy eTka & 7

i e O grH?

Oh! Arewe in Andhra? Telugu is spoken here.

Isn’'t Godavari close by? How many minutes
to reach there?

I a1 AEHS, 99 WM, ST 90
[hRIh® aEd. , | 3B IEEUaN d |
Do you know Bhadrachalam, where long ago,

Lord Sri Ramachandraresided for some time?
It is Situated here on the banks of the Godavari.

T Y THEUSHAY WIgH: | Teq &
VNS | S |

From here in about an hours time we will reach, but
the train does not stop at Bhadrachalam.

T T T W, TG g T

When the train crosses the bridge, we can see theriver.
N ]

AT AFTg0 qTear ;|

For lunch we will be at Nagpur.



(Means: by lunch time we will reach Nagpur)

UaE: - AFTgY TS T FoTaNed TF Had.

N o
% ST |
Nagpur was a great center of our ancient culture.

o L\aNaN

|1 TRl IFwadl |

She (Nagpur) isin Vidarbha.

I, O, F: AN ? e Feaan
AT &1 ST, 3 2

Usha, Mohan, Who (between the two) remembers?
who was the most famous princess of Vidarbha?

Oied - 98 I | &EHun | SiFsRs e wmE |

I -

| know. Rukmini, the dear wife of Sri Krishna.
TATl T, 95 W |
Also Damayanti, wife of Nala.

Lesson-11 Part-6

Uame: - o1 | Y HEOERS: Hloam:
N [aN
G S g T

Y es, according to some the king of kings among poets,
Kalidasa was also born here.

SHT-

™\ o\ . .
aid, ad: AT &INT 9 WS 9YE @ed |

Father, please eat your beaten rice mixed with
milk and honey.

T - I, e, T29d, AId: Ta6d ST

"FHH [ @Efd |
IAT | I SUER 6 FOSR ?
Usha, Mohan, see, Father is eating his traditional

"corn flakes'! Uma, what are you giving us for
breakfast?

YeTET | TRISH: SIS0 |
T STFEld S 9= |
Wait, the caterer will come. Let us see what he brings.



‘.‘E[tsa: -

JUER: , SUEN: |

Voice- Breakfast, breakfast.
WG - A | SURRE & gEsE 2
What are you giving (providing) for breakfast?
[aNaN [aNaN
QY - ATREN: 91 ?29MHYT a1 ?
V egetarian or Nonvegetarian ?
ATV - ATRERN: |
V egetarian.
aREwE: - g | qe , Age F | H S A
Idli, Vada, Pongal. Coffee or Tea.
TG - A EHHT ?
How much ? (How many Rupees?)
[a\aN . . e o\ o\ l
Twenty Rupees.
T - AN TR 6 g ?
What do you give in Non-vegetarian?
AT - [ geste | oF gAY @eR |
Why do you ask? Y ou do not eat Non-vegetarian.
T - FEE T
Just to know.
e\ =~ ~
IRIAYE: - IFE UF A |
Toast and Omelette.
ATV - ITEH®R AT YRR TG | IMRER: TF |
Td UF A Fel S ?
We will have four breakfasts. Vegetarian only.
By the way, when do we get lunch ?
URaE: - fgaie anTgal | JHY g S |




Two O’ clock at Nagpur, if we reach on time.
T WA F SOCIRATT GiefeR g |
South Indian and North Indian packets can be had.
S, qu: , o gl A, e e

g Td qURERT | JEERIG SETT |

Rice, lentils, chappati or puri, vegetables,

sambhar, curds (yoghurt) and papad.
Twenty five Rupees.

I, e QIEfodT:, SRITREET: |
For us three lunch packets, Southern type.

Lesson-11 Part-7

IR

- Afternoon

= . m haNiaN Il__q, =\ o [} E-Rﬁ-[ |
The train is passing through the beautiful forests and
mountains of central India.

A -

TR | 9 O RST: |, G O R
Sl 9 ag a1 ?

Sister, again and again (these) hills, again and
again (the) forests. Don’t you feel bored?

SN -3 | o TR wREE: |
Y es, what else can we do?

AW FEd, FA O T |

We shall request Grandfather to tell us some story.
g |

Good.

I HEA - dd aid w4 92d |

o

I -

Grandfather, tell usastory.
dd_fa- FURsiy 3 eEed fhe | af ®:Ai
On that day you said you will tell us. That story.

Ud™E: - Hl ®AT ?

Which story?
ERENET THIY FAE@es R quysiud: RR:
IR I eEEd. | df FUT 9gg |




Y ou said that the head of Dakhaprajapti was severed by
Shivaat a place called kankhal near Hardwar. Tell that
story.

fUawE: - a1, P9, |
Ok, listen.
TEFRSGI_ I ¢ I ©I: AN S, |
Long time ago there was a prajapati called Daksha.
(A prajapati is aleader of the people)
qEd STHT: Gal: ST |
He had many daughters.
T T STIqHT Tl HEeaed Sdl ST, |
Among them was Sati, the wife of Mahadeva.
(Mahadeva -Lord Shiva)

S IoFe: ToW: ST | (HIFE)
Daksha was ahighly revered person.
TEAT T ST 9T GOTH g, |
So all the Gods prostrated before him.
Oled - A WEH_ ey yoeia &1 2
Even Lord Vishnu prostrated before him?
(The interrogative nature of the sentence must be

assumed)
HamE: - 4, d1

No, no
I - REISH ?

Shivatoo?

o

UdmE: - 9, 99 ®ROW Bad @8 @8y SFud, |

No, and so Daksha developed a hatred for Shiva.
GH: FIESHS U FEEY Fd A0 |

Daksha started a great Y agna (sacrifice) at the place

Kanakhal.
[aN q% < Ha_(l‘q\‘\ [aN \3'\
9 e, |

He called all the Gods and all his daughtersto
take part in the sacrifice.

fohrd AdHECEAT: FH= F Faae, |

But he did not invite Sati and Mahadeva.

qUMy @t a5 28 Ut 28 o Scgwl odid. |




Still, Sati was very keen to attend the Y agna and
see her parents too.

A1 B FERar U o wTrsd. |

Despite Shiva' s objections, she went there.

U FER AR ?

What did Daksha do? (Here it means- in the context
of Sati’svisit)

s - T | wF g R |

She was treated well by her father.

I 0 TN AW AFAET GET, |

In the Y agna, Daksha offered oblations to all the Gods.
Wed d: REET 9FT 9 GUYad. |

But he did not offer Shiva what was due to him.
g Ad: AT, Al gRaar enEd |

Sati was saddened by the insult to her husband.

A1 [’ & SO Ag=ad_ |

She asked her father the reason for it.

del g Reed el o, |

Daksha then abused Shiva.

Tl W ieel SFHEHET e dE dRTRN 3iged, |
Unable to bear the abuse of her husband, Sati burnt
herself in the Y ogagni (Sacrificial fire).

T A0 e e SAid w9 enTEd |

Hearing of her death, Shivawas furious.

q: a6 GaMid 07 T 38T 95 ogarREd. |
He sent his commander in chief V eerabhadra and
destroyed Daksha s Y agna.

UF gl RN Y e, |

Also he severed the head of Daksha.

qd & 7 ged B 9udd, 9, FAEe, 31
oeTd ead. |

That place where Daksha' s head fell, became famous
as Kanakhal.

IV AR - ad: W fh epfEd. ?

o\
e
:

What happened afterwards?
- Ed @ FE Qe R STdE, |
All the Gods with Brahma at the lead appeased



Shiva (through Hymns)

Ud e qAShadTd T, |

Also they prayed for bringing Daksha back to life.
BlE: TR I BR: e, @Y 7T 3™eEd. |

Cutting the head of a goat, Shivafixed it to
the torso of Daksha.

Ud ged GAsiiad Iad. |

Thus Daksharegained life.

qesiiied: 281 THE 3d &dId deeds

e gRiEEl ST, |

Daksha, who regained life, composed the Vedic Hymn
called Chamakam in praise of Lord Shiva

Lesson-11 Part-8

q‘m:,\ a \'21'
Next day, Delhi Railway station

K3
¢ -

o

g :

T4 TaeEd! gEaed: |

We have reached New Delhi.

I I I feorear | T BRER id Aegd
EIGRIEE I e C

After staying here for the day, we will leave for
Hardwar, by the Mussorie express at night.

QI o IS ?

Where shall we go now?
Fcdl, dd: AR @Sl WK 2T Tom: |

We shall go to the First class waiting rooms, complete
our baths etc., and then go to see Delhi.

TR, Sea, | A littlelater.
IR d R g8 T=aied |

After breakfast, they go to see the city.

& RE g AW 3ege 3
A A ar ?



Delhi city was called Indraprastha in ancient times.
Did you know that?

9 FES I NAET (oI |, TWed qUea i 314
T ST |

Not only isit the capital of Indiatoday, but it
was the capital of the Pandavas too.

9 gied a1 ?
In that case, are there ancient forts and pal aces here?

G - A, RN JESNd HEMSE ST
TEHFS T |
No, unfortunately the kingdom of Delhi was under the
rule of the Mohammadans for avery long time.

[a N aN . ﬁ :"\ auﬁ_ . < |
T Al Godiel adl Jued. 3id & |

Two types of Muslim rulersruled over Delhi. They were
known as Sultans and Mughals respectively.

haN o

d U U, ST SR i
‘fié(’;\ld‘liféll(‘l':hli SH{E |

They ruled over Delhi for six hundred and fifty years.
aqF GTE: HaiT At JEEg Aieaan =
e |

During that period, all the palaces and temples of
Sanathana Dharma were destroyed.

Seay Aeay 3fd AT Ui FReened 99 gy
IERE &g |

Perhaps Jantar Mantar, the observatory, is the only
remnant.

o ™\ 'y o o N o
FACAARE THY T: 9T &9: d, §: A9 (FISTH)
AR : T §fd F9 agfed |
Theiron pillar near Kutubminar, according to some
people, belongs to Sanathana Dharma.

AOES:  Jodod JcauTa:
Evening - Back at the Railway Station.




TR~ ANTSed 9 | SEHE caRaded
TEUREET ITedl T FH: |
A A gFEey FEE |
We will go to the slegper compartment of our train and
sleep. Thetrain will leave at 10.30 PM.

A B T e
Next day, 5 O’ clock in the morning.

SHT - SWd S | =S Y
T4 EREK WgH: |
Wake up, wake up. Within fifteen minutes we will
reach Hardwar.

IO, - oM A FMd ARd |
Oh! Itisvery cold.

I - SWd | 3 Iud | 3 Joddd I S
kticn feeT fasfa |

Wake up and get up quickly. The train stops here only
for afew minutes.

fyame: - o'l g | o' o qdi T TR |
Oh! It ismy fortune. At last | will be able to see
the holy Ganges.

Lesson-11 Grammar: Part-1

R, T

T, =R - All these words mean " for along
time" or "over along period" or just
"always'. All the three are used synonimously,
Ireespective of case ending.

T+ - indeed, definitely, surely etc.. Thisisaso an
indeclinable.

us & °f - standsfor L.T.C or leave travel concession,
the Indian equivalent of apaid vacation. The
travel costs are paid by the employer.

HIca@ - Intheyear. §ac@X , 9o’ , 99 , 62 are
used synonimously though there are subtle



differences between them.
Eb?‘lﬁ?\{q\- to plan, to imagine
An example of add-_
ARTHIGd - desired (also means waited for)
9% - before. Whenever 9% is used, the event denoted
by the noun or nominal clause refered to by
9% should be in the fifth case.
e.g., A TTE & FA |
Before food he/she bathes. Here 91 is used to
imply "before eating".
TIAEIH - one’saim or one’' s desire and goal.
I Y R fUausty gan:
A sanskrit proverb which is roughly equivalent

to the English proverb " to kill two birds with
one stone"

I - in the middle of the month of ==t

J%EISAH_ - reopening

IFRE - sanchi 3@ + W@

NFIIAET - A very important occasion on the third day

after Newmoon in the month of %sr. Thiswas
the day on which Goddess Uma (Parvati)
married Lord Shiva.

T - by train , instrumental case
Thisword is amodern word coined from & and
I, G meanstrain. Similarly S or
Bus.

9ug - holy

HHﬁT%TEEft - As per the traditions of Sanathana Dharma,

residing and leaving the mortal body in one
of these seven towns in India, takes the soul

to heaven. ﬁT&FL Is usually taken to mean
Heaven. In the scriptures it refersto the
liberation of the person from worldly distress.
Indians view the seven towns as places which
remove bondage.

Lessson-11 Grammar Part-2
% - Refer to the notes given in lesson-7



The place where Daksha' s Y agna was
performed.

q&: - Asper the Puranic lore of India, one of the ten
Prajapathis or leaders of people.

gdl @ - Youth indeed
didig$:a - Air-conditioned
A new word in Sanskrit formed from d1d:

and 7% . Surprisingly, even the English
termiscoined!

HSSIHNU_ - preparations
HAUH_ - converse, talk to
@: - trouble

Sidel. - purchased, bought
fehIdTE. means sold, the opposite of .

AN - Sleeping bag
A coined word (in English too!)

FE9: - Flashlight, or alight held in hand
Note how the word is formed &T IS now

an adjective refering to the hand and a9: refers
to alamp or source of light.

U= - Water jug, aword coined from & and 9Tt
gl - candle

A9 - Medicines
STl - Digestive:

Also SRUTETH from the root ST
geeE: - Cheque ( financial instrument)
coined from ¥ and ST

W‘Jﬂﬁ{ﬂt - YU means travel, so you can guess the
meaning of thisword easily.
Yes, it means Traveller's Cheque

[AEJaR™H_- Again acoined word.

1%1-?,1?[ means widened. So awidened car,
meaning thereby aVan or amini bus.

Refer to the earlier note on BRI
ETAATd_- means "has come"
Yada™: - commence or begin

TR - hold



Wﬂﬁf - inthe crowd
TEEEGESE - Berth No. (In asleeeper coach)
g4 - means"only" in this context. "l only"
JEY - near or in the vicinity

e also means the same.

IATEIE - deeping place ( the berth in the coach of the
the train with slegping arrangements)

3§ - meansalever. Hereit means asmall catch that
should be released to swing the berth into
the sleeping position.

TEAER - bed

&ISdreT - A town on the banks of the river Krishna
in the state of Andhra Pradesh in India.

T - A statein the southern part of Indiafacing the
Bay of Bengal.

-

d¥] - A language spoken in Andhra, characterized as
the language with a melodious flow of words,
where most of the words end in aksharas which
awaysincludeavowsd, i.e., not endingin a
generic consonant.

WgES - A holy spot on the banks of the river Godavari
where Lord Rama (one of the ten incarnations of
Vishnu) was supposed to have resided during his
search for Sita.

Lesson 11: Grammar part-3

992l - Anhour. Also used in the dual sense of
duration and time.

AN - stops (verb) (is going to stop)

ifl@ - Bridge

A - Crosses (verb) d¥UH_- crossing

ARG - A city in the heart of India

g - ancient

FSMEN: - culture. HAEN: - acomposite word

formed from &aT and TR . We are not
surprised that this combination has manifested
in the word "culture” in English.

¥ - Center #3519 - centra



o

fed - Anancient state (region) of Indiato which
great emperors like Nala belonged. The emperors

had a common title called ¥sH: .

TITrEl?ﬁ - princess
EddHdl - most well known
%EUT ¢ - One of theten incarnations of Lord Vishnu.

Lord Krishna plays an important and central
figure in the epic Mahabharata.

&[0T - one among the eight wives of Sri Krishna

a5 , gHa=dl - Nala, the king of Nishada on whom the
poet Harsha has composed the Naishada kavya.

REUSST: - The King of Kings among poets. A
compound noun.

FMAGE: -  One of the greatest poets of India, who
has composed world renowned Sanskrit works
such as Sakuntalam, Raghuvamsam etc..

Y% - Beaten Rice, used asacereal and eaten with milk.
R - milk. 9@, g also refer to milk.

"9 - honey

AFQEsh - traditional

AHIqE: - tradition

Jaiteted - wait (imperative)

RMREN: - derived from 2Mk:  meaning vegetable.

o

ATHYER: - derived from A meaning flesh or meat
FEY_ - In order to know. Just to know. when the end ng

a1l s added to certain nouns, it givesthe
purpose for which the action is done or taken up.

-

HIETSH, - In order to be liberated or for the
purpose of liberation

-

TSI - for the purpose of taking food
TR - for the purpose of taking a bath

Lesson-11 Grammar part-4
~ ~ ha¥ .
qHY I dd - Theword dd_ standsfor ™ if °.
Here it means’ if the train reaches on time"
A few examples,

gt SAUM =, If | pass the examination



I I 4 if you get the job
qIefSH - means a packet, of paper or cloth

In this case it refers to afood packet.
W® - Afternoon
‘{:ﬁ'@' - ante-meridian or before noon
ad - Forest

99 , &4 , RaR: al refer to forest

D . .
- mountan

~ . < .
FIR: , 3@ , 9dd:  refer to mountains
SIMHAT - boredom

EDIDID - will tell the story. Thisword isin Future
tense.

JIEL - removal, in this lesson it refers to the severing
of the head.

dleH_ - just means OK or alright

qdi - daughter

qaT , T, o, SRS, &, g
all mean’ daughter’

SICE - many
Theword isformed by prefixing T&: with 31

The prefix 31 has the effect of negating or
giving the opposite meaning of the word to which
the prefix is added.

Some examples,

3=d¥q_- end or [imit Ad=dH_- limitless
Now, do you see the connection in

ending and unending

oppose and unoppose

armed and unarmed  ?

The connection you see is reason enough to
reckon Sanskrit as the very first language of
the world.

There are other prefixes which are similar

The prefix I isalso seen in the same manner.
It means before. For instance
preschool, predetermine !

il HY AT - One among them



Usage of the word will depend on the gender of
the noun referred to.

eg., FEHl A FIqH ToThe
Appleisone among fruits.
o . ha¥
RIGERIC RS o e ot | SR
Among the Pativrata Sthrees (women of honour
in following alife of chastity) Seethais one.
G SN ey STFwT: ST
Sri Krishnais one of the Avataras (of Lord Vishnu)

Lesson 11 Grammar Part-5

aidl - dearest: Hereit means’ wife’
It may also mean’ daughter’

ICFE: - great

qUITH - obeisance

- enmity

Helq , 99 - 99 isasacrificeand ¥8g isa
great sacrifice.

HET: - share, portion
EECIEGE - one’s daughters
st - invitation

SR EAECRIE - to Sati and Mahadeva
e - parents.

Note: ot may also mean two fathers (Dual).
Here it means father and mother.

Icdhl - eager, keen (Scq: - masculine)

FdTRAT - forbidden
Aedl - wdl received , well treated

(a\y

SEIEGEICE - presented

Td: - of husband

YA - insult

3TY=sd_ - asked or questioned

=T - abuse

STHEHET - unable to bear (refersto a person)

HaH[: - masculine HgHTET - feminine



bearing or withstanding

(able to bear or withstand)

&g - one's

\QE' - body

RN - Inthe Yogicfire
Thisisareference to the fire kindled by the
control of the vital airsin aperson. A belief
as per the Sanathana Dharma.

Hut - death

e - angry, angered

HAYId: - commander in chief

d07E: - Nameof Lord Shiva s commander in chief

&t - acenter of Pilgrimage
In general it means a cultivated place.
But may have different meaningsin
different contexts.

ERL - The God Brahma

QERcd - Keeping in the lead
Thisword is composed of 9: - in front
and Fcal (F)

ECEICE D] - Inorder to restore (one's) life

3T - unbeatable, unconquerable

SMS¥Y - having procured or after procuring
The proper meaning is cut into pieces

-

U - the part of the body just below the head,
comprising the neck, nape
THH - Thisrefersto the Vedic Mantrain the Krishna

Y aur Veda, which Daksharecited. It contains

many instances of the akshara® which resembles
the sound of bleating.

Lesson 11 Grammar Part-6

N

IGIE - A praise, usualy in the form of verse
‘Iﬁ‘g: - next day
caRaH- Express Train (fast train)



YRS - Yoty - First class waiting room
in arailway station

FGde - The ancient name for Delhi when it was
the capital of the Pandava empire

TSI - Capital

qued i - Of Pandavas,
Please refer to the previous lesson to
get the meaning

g‘ﬁﬁT - Fortresses, castles §TiTL- singular
qTETET - palaces, buildings
i*‘m%uamﬂ - unfortunately
is derived from gﬁﬁﬂm\ - misfortune
by adding a21Td_- dueto
ﬁmﬂ - dueto anger
qemern - The followers of Mohammad the Prophet
J@ - Under the rule of

JEHS - long time
TGaeT: - two types
HHIA: - respectively, in that order

ATdH:: - Theliteral trandation of thisis
" the eternal code" . In thislesson, it refersto
the so called Hindu religion.

HivaX - temple AfeqMT - plural

P EEIIT - demolished

Ty - Aeay - TAAGH,
refers to an observatory in Delhi built
several hundreds of years ago. It has a unique
sun-dial.
Thisword isarendering in Hindi of the Sanskrit

root words I== Hl+aX or Instrument Palace.
EtAIER| - Place of observation
fPRI&TOT - observation

The word SYH_ s added as we have seen
earlier, to many nouns to denote the place of
occurrence of the action specified by the noun.

The word iﬂq\ isalso used in place of &I _.
IR - remaining




YA - T _E: Iron pillar

3Y_or T:  refersto lron.

Thisisroot word from which the word "lron"

IS derived.

Thereisapillar made of Iron in Delhi, in front
of the Kutub Minar which has never rusted. This
isametallurgical marvel that continues to
puzzle scientists and engineers even now in

the twentyfirst century.

Jdlh: - symbolic representation.

WA, fee- anothert day , the same meaning as T:
faweT - fortunately, by good luck

g TE™: the Holy Ganges (river)



Lesson-12 Part-1

e A
Introduction: Thislesson is a continuation of
eventsin lesson-11.The sequence of case endings
and tensesis also continued. The novelty hereis

to introduce the student to usages of terms typical
of ancient Indian culture.

ERER &, Mol
Scene at the Haridwar Railway Station.

SN - Aq , G R BREM:? FT dEd ITeSH:?
FAY EES a1 AT H Te: 2
So, what should we do now? Where do we go?
To aHotel or an Ashram of the Saints?

M - I | T FEGE @R
I RS o |
TeiTer Lol S €= e |
T6q d: FIRANT @9 etfed |
IETH TRBIE O AR |
Neither, my company has arest house on the
banks of the Ganges, at a place called

Muni ki Reti. Infact, it ison the way to the
mountains. Our rooms are reserved there.

A1 - AR TT=3T™: ?
Shall we go by horse cart?
S - 3T

Yes.

d f9erfed 7€ 9gaid - They reach the rest house.
faemied I8 - At the rest house.

frale®: - TRy ORd oY TeE. & M ® & A 2
Y F A F AT & 2
Caretaker- Please come Sir. Aren’'t you coming from
Madras and aren’t you Shankarji ?



3T -UN: Tk dgid ? A {hiEd, AHT=H |
Uma- What is he saying? | don’t understand anything.

L - @AM (or AH M)
@ STISHNE A a1 ?

Shankar - | too (don’t understand)
Do you know English ? (thisis addressed to the
caretaker)

o < ha¥ [a) o [a) el
FalE®: - 96 "l 1 TS " Bral s |
caretaker - Saab, " me no english " Hindi only .

TG - YT 6 HRAM: ?
Shankar - What shall we do now?

fave: -8l @ € AeUE. | N @ & |
AN @ & (&Y aaEed
R g3 & &4 ?
Grandfather- Y es, we are coming from Madras.
Has any arrangement been made for our stay here?

e - amEme, o9 & 5N o9 TR § |
A9 oS Bedl ded £ IEY |

Caretaker- Father, everything is ready for you. Y ou speak
good Hindi. Please come.

ST, TG - AT, A, FY ‘el 9l agid ?
w1 FA AGS_?

Uma, Shankar - Father,how are you able to speak Hindi?
When and where did you learn ?

fame: - 7% 7w 299 ge1: i, 9 S
g fa=Rar ar 2
9d 99 Ig1 JI: AH | A9 d9 Red)
Wl AT 2 o Shigee Jiodead: |

Grandfather- What do you think? We old people do not
know anything- Isthat what you think ?
When we were young, we learnt Hindi happily




with the feeling that it is the national language.

L esson-12 Part-2
TEET - Scene at the banks of the Ganges.

ha¥ ha\ NN o
qred. - M ... 2 STel \ad |
A TS T eI ?
Ah! it isfreezing cold. How do we take adip?

hnY ¢ D . o = ~
ST - 9 39S A , YAEET Y A N1z AR |
3 o =\ [aN - -
S qeAY WidAISH | Fdl a1 gaa: ?
Not only isit freezing but the flow is so fast.

| am afraid even to touch the water.
Where is the question of dipping?

TN - JAT YSM AT F& | @ AFTBeg |
T4 THFET &6d TER
TRl S YR |
HHd A id W 3cd 9 AT (or FPEH:)
Come on, give no excuses. Come everybody, we will

hold each other’ s hands and enter the water. Once we
dip we shall no longer feel cold.

WA fg  ITd:®IS - Next Morning.

O weE TS, FERAE T SelHeed AN |

N . ~ D\ NN A
dA AEHUIG[AT GYTd | TS FEATEARIR Hied: |
TN AL A BIHA ST S HAd |
q T A @ A |
T o & ! A TR g
ARl 3T |
They reach Rishikesh enroute K edaranath and Badrinath. They
see the Lakshmana Joola (wooden suspension bridge) across the
Ganges (believed to have been first built by Lakshmana). The
children play on the bridge. They see some of the ashrams on
the other bank of the Ganges. They have their bath there in the
Ganges. Looking at the Ganges which is peaceful and pensivein

comparison with the previous day’ s (Ganga at Hardwar), they
are wonderstruck.




EEI\]%EI HN@,’I@S |  Same Day, in the evening.

haN « 0O < NN =\
A - A P 99 RATGIIAdEAIR,. AREH: |

o

HdHe:

RHIGIET U9 ANT: @l TeaTs, 3d & |

T4 U [OEgd WA WeE gedl TSR |

Td ARI H9d JEIEIHI U8 qaedi geam: |
JUHAAT TG Uid ITHSE: |

We will ascend the Himalaya Parvata tomorrow
morning.

This part of the Himalayas is called Tehri Garhwal.

We shall hire avan and proceed so that we can see some

Important places and temples on our way.
First, we shall go to Badrinath.

T (@ w) | e FERAT TR O gl
qidt Teded 3 | FEdaed TU drEETeET: g
AR T, dd: T Fid ITedl, ad: deRagd
=T YFdied |

No, not that way. The rule is that one should see
Kedaranath first and then go to Badrinath.

Actually, in the olden days, pilgrims would first
see Y amunottari, then to Gangottari and thereafter

proceed to Kedar and Badri.
T NFUET T 7Sl THAT FliSeal a4, @t
TR BIdied |

The river Yamuna, the darling of SriKrishnawhichis
also caled Kalinidi, starts from Y amunottari.

TG g TErdd: 9 ggHard |

Wed dd ¥ 19

THTAT TR ST |

ad: YA 9 YEgid | e ARl Afdige: |
T TR T ey GHedid Tested |

Ganga actually does not start at Gangottari, but she comes

into sight at a place called Gomukh about ten miles from
there. From there she flows towards Gangottari. The way



to Gomukh is very difficult. So most people go only
upto Gangottari.

IV, AIE - ad dd HY e g A 7
Grandfather, Why the name Gomukh?

g : - JETd e FeHER TEEeR el |
dEATd O A |

It is because the source sprout of Ganga appears like
the face of a cow. So the name.

I , AR - dd: UF I G9Erd a1 ?
Does Ganga start from there?

UamE: -d , Fd: G ARSI 3d = HISY AN |
T, 99 |1 IR edl

i, S 7

IR Y |

No, Nobody knows where she comes from. We have

heard that she comes from very far away before Gomukh
but isinvisible.

T - UG d FSNATY Uid TF JHH TS
If so, let us go to Kedaranath first.

Lesson-12 Part-3
Ah! itisso cold hereitself. How will it be above?
Qg - TSI T R, SHfd: Trd ?
What will be the height of the places we intend visiting?
TG - 9 AR TRENE B T |
Indeed, it will be more than ten thousand feet.
o eRA foRicd wald @ | o 9
2cdA FUAR |
It will certainly be very cold. We shall shiver in the cold.

I - T uq AU FEST AT T Ao TG ?
If so, should more blankets and woolen clothing be taken?



WG - TAA RIS S | Ted STEHTE AUFE T
aedT T |
Blankets will be available everywhere but we have to
take woolen clothing.

QT'I“\GH?L T Next Morni ng

UdWE: - T s : a1 ?
Do we go after our baths?

AEd , I - &M A | [ P9 Rakenid =sid a1 2
No way, do you wish to freeze (into ice)
here itself?

Uame: - g o & T=em: 29 &t
a\Y [ [aN ~
Qied STd 4 471 gd
9 JIFM: | dT: WOsaE: 99uE |
How can we go without a bath? We do not know if there

arefacilites for bathing enroute. We will become
tired after traveling.

Don’t worry. sixty KM from here we will rest at a
place called Devaprayag. There, after our baths and
breakfast, we can proceed.

o

oo : - aed
OK.

q TEAT: @ R g TS |
Ty ) FEFIA TS |

qaIsfy e gL qauanT && qIgard |
They go aong the Ganges for some distance.
Midway, the river disappears from sight. After some

distance, they reach Devaprayag.



AEd -39 , 929 , I Th SRS AT |
Hied: | TS |

Usha, see, here too there is a Lakshmana Joola.
Let us play, come.

WG - TAEEN N Fgod: Hied |
a1 Rl Ry @1 9@
SEAUST I I |
There are many such bridges. The one in Rishikesh
aloneis called Lakshmana Joola.

NN

d g TG §@3H Wgaied |
They reach the confluence of the two rivers.

AT - W I G FH: QN G I G L AH ?
First, let us bathe here.
Thisis Ganges but which is the other?

o

AT - o1 TTETGRvaal: Jgd: |

e TF TGAMET Afeat

g SR |

Here, it is the confluence of the Ganga and Alakananda.
There should be the temple of Raghunatha close by.

I -  dd dd , {9 AER: d GEET: AR ST
TR HIY Jdd 3 | HY SN F@ET: e ?
Grandfather, | thought that Prayag was in Central India
near Allahabad city. How isit there is a Prayag here too?

o

amE: - U] , 99 I gAl: gRal: ggd: ¥aid |
a9 dF 9EeT g A |

Listen, wherever there is a confluence of two rivers,
itiscalled Prayag.

I T SRS FE: FANT: Hied |
3 Beed: Fagied |
On our way, there will be many more Prayagas. The

Hindus believe that at every Prayag, thereis athird
river underground, but it is not visible to the eye.



So, inredlity, threre are threerivers.

TWed TR A 9aid | qEATd, aedad

foel: d9: UF died |

HSTEG FRET THY JANTESS I

JHAMET: U @A GH Wi |

In the Prayag near Allahabad, there is the confluence
of Ganga, Y amuna and Saraswathi.

Lesson-12 Part -4

J G Fear WANE HiGX TgAT O
YOO e Wdied |

They have their bath, see the Raghunatha temple and once
again concentrate on their journey.

I - IEEI wEA: A9 AW e TeM: ?
ST MY FART |
Now which river do we follow? Both are beautiful.

AT - ASHAGI I TT=8M: |
(or ISHHRAGEN: FARATSMH:) |
We shall follow Alakananda.
Iq: ISHACE: AN T FR A ARA |
Only along the Alakanandathere is aroad.
T O T TS ¥ IR W foed
qWi Iaqed M. |
If one decides to go along the Ganges, one should have
taken the road to Tehri earlier.

T AR ggard |
AR eI, YSaed e TR Siadrad gt |
= e Eihdaed: |

They reach Srinagar. Srinagar is avery beautiful valley in the
Garhwal district. They have their lunch.

[UamE: - ITGF |, ASGH |, TSH - T AGF |
« O (&N (&N [N a_l_ ?



Potatoes, potatoes and potatoes everywhere. Isthere
anything without potatoes?

OB UqEd Whed M Y |
By God'’ s grace, at |east we are getting potatoes.
TR g g™ F¥Ed a1 F a1, 9 T |

From now on, whether even thiswill be available,
we do not know.

IS AU TF S |
Only chappatti’ s will be available.

FRRTY a1 Wad | dIed $ad (hiad ISRhS T4
[EHT WA idad] | TR $5 S ?
Whatever may be, for Grandfather | have taken some dry
fruits and dry eatables.

EEIART Fovd T TS T o
& a@m: 3 a5
ad: TS TS |

We shall proceed upto Rudraprayag and halt there for
the night | think, and proceed from there in the
morning.

At Rudraprayag

did dmd, MY & T qg=od: a1 ?
Grandfather, two riversjoin here too?

(Y
.
¢« =

Yes.

Aled - 69aRT: | & WEe |

Rudraprayag. Oh, God!

T g od o AGAIGH: oaTe: dgd: @ied Id |

| have heard that there are many man-eaters here.

e, w e e AR

e €29 AE TS, Iea Giead |

| have heard that there are many man-eaters here. | read
thisin Jim Corbett’ s book ' Man eaters of Kumaon'.



WG - AT W | I SETEm: oY A died,
e I 9 | |
FaS SFEHRIM: A: Tied |

Don’t be afraid. There are neither tigers here nor lions.
There are only people like us.

I, HIg - 3a1: Givad 759 |
L ook at the beauty of the moon.
a9 RARNEE SUR 9e2dd | I @9 9 2
It isvisible above that snow peak. Isn’t it charming?

[ - O TRACl Aed: |
Ro™ JeydEe &: U9 dqd JeTed
9led WS4 |
Oh! How peaceful it is here.

Only the sound of the water beating against the rocks,
breaks the silence of this place.

o

. \ . o . ~
TUamaE: - N |, Wed 2M5HT TEEIE Gid Iedod ST |
I IRy @iy Iwft wd T |
Y es, but we have to go to the rest house soon where
we can warm ourselves in the fire.

d EEYART O faeied T8 Teled |

J OF AT FIHET: G AT AN o SuRMEar: |
They go to the rest house at Rudraprayag. All the five
shiver in the cold asthey are not used to it.

Lesson-12 Part-5

&g Next morning.

UaHE: - 3 ISheeal Aealhedl T8 Tg=ald oI
IS RGE: TEH:

Here Alakananda joins the Mandakini and so there
Is a confluence of Shivaand Vishnu.

I - FY?



How?

UdqmE: - Aol 74l FCRATAT &Td IFT=Bid |

The Mandakini river comes from Kedaranath
temple town.

NTFAT TSRS, AFTBd T qal:
o Waid |
Alakananda comes from Badrinath and the two
join here.
qaih & WWEd: R | W e e |
The former is the abode of God Shiva and the | atter
that of Vishnu.

. O =\ =\
o I ke a9 g9 g4 a9l @gE: 99 o gad
TEl adiie! YU FEld | G Gl SR |
Have | not mentioned that wherever two rivers meet,

athird one flows as an undercurrent? That Sarawati is
of the nature of Brahma.

TE_ T EEHANI frgell QI d st |
S0, here at Rudraprayag, the important trinity of the
Hindu Gods reside.

Td: 99 Healihedl: AR Aqgcd
FENAEIEd TOM: |

From here, we shall proceed along the Mandakini upto
Kedaranath.

H1 FAM, SEHTEHIN Jaafd |, FETd, HIdT
EEAGIRId: I YRl |

At some places, she will flow near us and at places,
hundreds of yards, below us.

TR |, GdaEd STRE ST i

AU FRTRA: I |

fhed S0 T FRIAT: U9 TRAd |

L ook, this side of the mountain isfull of treesand

appears green. On that side (towards Badrinath) it
looks barren.

fehid, g JTeal  After travelling some distance.



G - TG IR RTRY: TR
I Ted SR |
L ook, those who want to proceed to Triyuginarayan
should take this path.

O, - P e g & 2
What is Triyuginarayan?

o

. < o [\ Y

Aeqead i : TR ARd |
On the top of this peak, thereis afire burning day
and night.

Tl AFRI: T TSI WE A

AT R Sa&(d 3id agied |

Thisfire burns always and is supposed to be burning
right from Tretayuga.

A NGO I T T STl WREA, T
=t g TR |

They reach Gowrikund and stay for the night there.
Next day, they start their trip again.

ST - I ZPed [RHM STRd ar ?
T I MAHUE A AW ?
|s there anything to see here? How did the name Gowri
Kund arise?

o

UdmE: - 37 , 3 IWGH Foe AT |

IBI WEA Tt

dq: 31qud_ e qRUgH. |

Yes, thereisa hot water spring here. It is here that

Goddess Parvati performed penance intending to marry
Lord Shiva

I GTedl A Fdllel q9Te A0 fmEa |
Taking one' s bath here, one destroys all the sins
committed in al on€’s previous incarnations.

d g9 IWMEHAY & Fafed |
They all have their baths in the hot water spring.




WG - Id: PG Thed q@E A g
Tedl T T |
did cded {AT ULy GEieatd |
From here one has to walk the seven KM distanceto
Kedaranath. Father, for you | have arranged a dandi.

UamE: - ad_ 6 ?
What is that?

T - G T g4 Fi9w gUedl: SUR
e =gl
THY T |
A chair is bound to two bamboo poles and is carried
on the shoulders by four men.
FNT Y e THAd Wed ad. FE T |
One can go on horseback too but for father, it will be
difficult.
IV O, I SUR TSR a1 ?
Usha, Mohan, do you want to go horeseback?

I, AlE_ -7, T TEame TS |
No, we shall walk.

L esson-12 Part-6

I , AR TE drd: HEATE 9 SHETEE:

R Yieul Fafed |

R Fieck RIS 1Y 9Tl |

TEad SHI Fledl a1 THId |

Usha, Mohan and Grandfaher reach Kedarnath and wait

for Shankar and Uma. A little later Shankar also reaches.
Much later Uma arrives extremely tired.

|G - od o gEIdr |
At last you reached.
| thought you had returned to Gowrikund.



SHI -

o

HdHE:

Ml o T @8 wel |

Y ou are jesting with me now (are you)?
ATl T TF ARSATH 3 741 (HieaaH] |
Y FENATT: T R 9T |

| am so tired that | thought I’ d die on the way.
Why should Kedarnath be so difficult to reach?

-3H °F IR TTEWY woy T HAH
IR Tersa s

FS TReaH N |

Uma, In A.D.2001, with all modern conveniences you
are complaining.

AERECREIS: TFERN 2 Gaqa0d: Jid

I IS AT GAIH: TS FHUSEAT

9g I ANTAEH. |

Bhagavadpada Shankaracharya, attired just in two

cotton clothes and his kamandalu had come here
twentyfive centuries ago.

q: 3T Hiec®d SUMERYT Fedl IT T8l
FIIE e R S |
After renovating the temple here, he established the
system of worship and also the rules for the Pujari
(priest).

T OIS Y I UF O S
RATEET TeqTd 90T ToE: Seed: |

%[:[ a, o . [ aNiaN

qlmra o O e = R e

He also went to Badrinath and acquired the idol of
Badrinath from the ice cold waters of the Alakananda.

Heinstalled the idol in the temple and aso laid down
the rules for the worship and for the priest.

o g FaS @8 % W g IEdl Tear ag
A TS T AN @ AT Ffdear
fHouE & ?

Y ou, having walked only seven KM, that too well

protected in woolen clothing and chewing chocolates
al the way, complain?

I - ™ WEgUEE 9 79 oY ggAld: 9@ |




I , | STEHGHER: dMNUT: 5dith: d ST, |
AT F ST, Fea w8 T AR AT, |
Asfar as Shankaracharyais concerned, | agree with you.

But he was no ordinary person like us. How would you
know the difficulties experienced by me on the way?

amE: -cd [ oegd |, o Aided awd N 33
AEE: 3T 1 TE q |
TSl Fedhed ISl JUE |

What do you think? That | was brought herein a
Mercedes Benz? It is not so. These four, each one
had a different gait.

RIST: FEHET: ROy IRIGAET: T SR

I: Ge: G glermaed: |

T e O JEUl ST QSATy 39 WE S |
SR T 399 AW W&F: AW, |

While they avoided the rocks or negotiated bends, they
threw me up and down again and again. | felt that |
will fall down.

Mivd Giegd = 71 ARTaaed: |
= = o —ot Eﬂ:f <\
Aleq FGRAT TEAT G Faaed: |
WG TRABAST S SR ~Fead, |
They rest for the remaining part of the day. And they
wondered looking at the divine place and beauty of Kedaranath.
In the morning, they have their baths in the Mandakini and
offer their prayersin the temple of Kedaranath.
Shankar brings some Brahmakamal |otuses and offers them
to the Lord.

3T - (R 9 Uad 29 g9 Wi ?
What kind of flower isthis? It looks like alotus.

w:- . =\ N ]%gg
FHSHT AT |
AT TERAS S A |



AR I T |
Thisis Brahmakamal. It blossoms on atree and looks

likealotus. Soitiscaled Brahmakamal. It is seen
In this place (means that it grows prdeominantly in this

region).

Lesson-12 Part-7

UamE: - IY | A 959 UAd [oF &y |
I T ARG A AT Fad, |
Usha, Mohan, look, thisLingais self made.

Swayambhu, i.e., it came up on itsown and is
not man made.

I - (RE @ AN | g HeEde FeaeRd
qE: 3 |
What satisfaction to the mind! Even to think
of returning from hereis painful.

o

e - cd, Wed Udd, SEEd 2caq. |

TR SO ETY

I T HEHE IO |

True. But this unbearable cold. Even at noon one
shivers within the woolen clothing.

S - dd JAQYT a1 ad | SFHTR d Te0er
Y g9y Thas ?
Bethat asit may. Don’'t we have to go to Badrinath?

A TN TETl GoaRTeSled | dd: aEAgNT
EYERT Tled |

WRH_ 3 Te0eY gid 99990 g9eid |
qR SAIqHS TTgaied |

They return to Gowrikund by foot. From there to
Rudraprayag by vehicle. Next day, their journey towards
Badrinath is resumed. On the way they reach Jyotirmath.
(Also called Joshi Math)



[N : -w ’l\ aﬁ [N aN m ’
T A ST SRS
TYd 98 3t 3 |
Ty f3g o et e |
IAEE I8 B R | o dd g8 Ty |
Shankar, stop here for sometime. | have heard that
there is a Peetham established by AdiShankara here.
In al the four directions Peethas were established by

him. The northern ritualistic Peethais here.
| want to see that.

o TRl O IO 8 qIgdied |
CERRUE S I
femel 28 IR |
After seeing the Ashram, they reach Badrinath. After

spending the night there, they go to see Badrinath
(temple) in the morning.

Y d9: Feedt &t g |

W ANG: qWE oW T A

Fada geiea g |

Father, did you not say that the two Maharshis Naraand
Narayana are doing penance here even today? And also

that Narada Muni and the Devas like Indra worship
Badrinath?

TamE: - SHT , 99 a1 d 9dd ? I

A FEATEE Aieal

AR , | ANE: | Taed [ O

[aN [aN haNaN . qa(‘a_:

T FTAd |

Uma, do you see that mountain at the foot of which

Badrinath’ s templeis situated? That hill is Narayana.
Opposite that, the snow peaked mountain is called Nara.

ANGH RIS TEE o d: dRd |
THHRIS TG BH | WA agl AR Idd dedeRne: |
Narada sidol isinside the Sanctum Sanctorum of



the temple. In the warm months, when there is no snow,
people worship Badri Vishal.
) ~

=\ [aSaN . o~
OO g BR fgd Wald |, 9eT a9 9ead,
T I A AN | 39S dSald Goded A: T=Sted |

During the six months when it is covered with snow,
the Devas worship (him), people do not come here.
They just light alamp and go.

U 3] Iel IRNTHS(ed gl T
9 S |
When they return after six months, the lamp remains lit.

A - T TEFTE T Fodl FHAW: |
L et us have our bath in the hot water spring and return.

dd: SHA R ITcal FMasTed i
Fcdl ARG RIS goded: |

Thereafter they go to the Alakanandariver, sprinkle
the cold water on themselves and see the Narada rock.

AFC- IEAI, T, O gl et iR
SeEqaH,
gy TMYaaH, |
From this spot only Adi Shankara lifted the idol
and installed it in the temple

They visit the temple of Badrinath, pray and worship and
return extremely satisfied.

Lesson-9 Grammar Part-1

[aN

G9d - now

el TP - Hermitage, a place where Saints
live, equivalent of amonastery.

d IWIH- neither, ¥ - both
[eNied 7EH -  Rest House



TgThS: - The banks of the river Ganges. "I?,’I?ﬁit,
ITgTdE: are also terms which mean the same.
aTTRIEReH._ - Cart drawn by Horses
A4H - cart
3Mg?S HMNT -  The English Language
TSI - | understand SPT=8 - To understand

a3l - two children
Note here that even if one of thetwo isagirl,
the masculine form is used. However, if both
the children are girls, the corresponding term

would be dfs
EASFAN - looks, sees
FMedghd_ - Peaceful, serene, calm

CqEHU - in deep contemplation
AREMEM: - (they) climb, ST®E - to climb, ascend
SYdH_- aword that stands for 10,000

f@%: - From the root word 3T: meaning physically
disabled or strained and also, strenuous.

(2Nl aN

SATIFE: - very strenuous

ﬁﬁﬂm - The meaning here is a source from which
water sprouts.
. haN

FIWL , FUARE - shiver from
®Y_- to shiver, shake
FaS% - blanket SUEEATT - woolen clothing
ﬂ%ﬁﬁi - visibleto the eye
d999Y - also means the same
gt - avalley
geg: - onewho desires
FERT - Motorable road
3 YA - following
- tojoin =3 - two (rivers) join
IYRMAT - Unfamiliar, not introduced yet
AYRARIM™: - Dark Greenish. A{hd isaspecid
stone deep green in colour.
EEAPRIAT - ameasure approximately one yard



Lesson-9 Grammar Part-2

Y| 999 - In the Hindu Pantheon, the fundamental
deities are three, in charge of creation,
protection and destruction respectively, of the
universe and its contents. They are known as
Brahma, Vishnu and Maheswara (Shiva). This

triad is referred to as T <a=199_ .
fSTd - reigns
IFeaatet - subterrain current or flowing inwards

%Eﬂ{lﬂ: - In the Hindu concept of Time, the earth on
which we live, has gone through cyclical aeons
which are four in number. They are

Fd , AT, TN and HS

The cycle of the four spans a period of
43,20,000 human years and they are divided
intheratio of 4,3,2,1. So Kaliyuga, the last
will be of duration which is atenth of the span,
or 4,32,000 years or alittle less than half a
million years.

The current millennium, i.e., the twentyfirst
century, is approximately the 5100th year

in kaliyuga.
=R - Permanent, without agap in time.
SISERELICE - burning prominently
IRl - Day and Night
Al - Fire
agoy - worth seeing
S=HT=a - in the course of multitudes of births
I.e., among many reincarnations
dq: - penance
3{d9d_ - did penance
SMcal - having stayed
AR - on horseback
EIEI%B%FI- After along time or after much delay
Yidfeaidaadl - returned (she)

qRSTH - | will die
TAEdl - so (much)
URea< ®UN - are complaining (you)



AT g - with comforts
@AY - meansA.D (Anna Domini)

gl - worship 9si<: - one who worships
Also means a priest

EGIIECAGE - theritual code

HGHGOT g - - A hallowed saint who lived in

the fifth century B.C. Sankara, was responsible
for teaching the people, the fundamental concept
of Advaita, or principle of non-duality.

®QE T84 - two cotton clothes

qEEcRd Hacatd: g9 - Two thousand five hundred
years ago.

H®HUSE, - an earthen or wooden vessel for keeping
water. Saints carry such
avessel with them wherever they go.

SHoTgRuT - restoration, renewal from
SfuT: - digested
IENUH_ - reinstallation
e - image, idol
JegdH_ - secured, upheld (past tense)
PIREIEC g - installation (usually of a few=E®)
ATINUT: - ordinary
ferRIY: - special, the opposite of ATIRUT:

oqxh: - individual

STER”A - having brought

q& - tree, SOTHIGIR - onatree

I - arising on its own without any external

cause(s)
TS\l - unworldly, meaning divine or heavenly



In this lesson, we formally introduce the verb 319_ (to be).
3T denotes existencein al its variants.

Sanskrit isunique in that three forms exist for
each noun. They are singlular, plural and dual.
The third form dual is to beused when refering
to two persons at atime.

The Sanskrit names for these forms are

singular ThdaqH
ékavacanam

plural qEdaH_
bahuvacanam

dual e,
dvivacanam

Asin other languages, Sanskrit also distinguishes
sentences in first, second and third person. The
sanskrit terms for these are.

SdH Jey: - First Person
uttama purusah

AegH 96Y: - Second Person
madhyama purusah

9YH 9&Y: - Third Person

prathama purusah

Let usfirst look at some sentences.

This section deals with the verb 319 |

IE A ARH | am ateacher
aham acaryah asmi

o R ot Y ou are a student
tvam Sisyah asi (Disciple)

TN: e 3ARd Heis an emperor
éSah mahardjah asti

TNl HEWIE SARd Sheis a queen.

ésa mahardjfii asti



Note that Sanskrit does not use the definite or
indefinite article. The trandator has to introduce

the article as required.

qEds o STRd
pustakam atra asti
Hirad a3 A

mandiram tatra asti

The book is here

Thetempleisthere

Let us now look at some expressions involving

fea= or the dual form.

SIEED Kt

avam vaidyau svah
gal Rl €
yuvam bhaktau sthah
Tt T &
étau sévakau stah
od HfdE &

été séviké stah
FS o &

phalé atra stah
W& A

padamé tatra stah

We (two) are doctors

Y ou (two) are devotees

They (two) are servants
(servant-masculine)
They (two) are maids
(maid - feminine)

Two fruits are here

Two lotuses are there

Expressionsinvolving the plura form.

ER I ISEACR S
vayam calakiha smah
PRRIECAER ]

yuyam pacakaha stha
qd g Hied

été yuvakaha santi
TqT: gaad: gied
étaha yuvatayah santi
JAI S Fied

We (al) aredrivers

you (all) are cooks

They (all) are young lads

They (al) are young women

Forests are here



vanani atra santt
QETOT a=f dfed Vessdls are there

patrani tatra santi

In this section, the verb 3 isused as 3ARA to denote
possession (in the sense of have)

T 9 IR | have ason or

mama putrah asti My son is here

"H 33?\[ K | have (two) sons or
mama putrau stah My (two) sons (are) here
a9 A gied | have (more than 2) sons

mama putraha santi or My sons (more than 2)
are here

The above sentences can be trandated in two ways
since Sanskrit does not have the definite article.

Also the same verb 31 isusd in two different ways
to mean "is' and "have".

The correct meaning will have to be understood from the
context. Though this may appear a bit confusing, the
student will be able to make the distinction with some
practice.

Lesson-2 Section-3
The table given below summarizes the use of

theverb 3 in different forms.

Conjugation of the verb 319_

Singular Dual
Ist person S| iee] &
lInd person g T
Ilrd person A &

In Sanskrit, the verb will have to conform to the Person

Plural

g



and Number.

The table below gives examples of the three noun forms
(in the nominative) of the nouns 9=, dH and RSH_

Singular Dua Plural
. o\
Masculine g el AT
Feminine A SIEES S
Neuter TS S RS

Each noun, will have to be remebered with respect
to itsthree forms, i.e., singular, Dua and Plural.

The personal pronouns also have three forms

Singular Dual Plural
| per. IR SIC|| ER|
I Wetwo We
Il per. | gdi ER|
You Y ou two Y ou(many)

Please note that the personal pronounsin First and
second person have no gender.

The personal pronouns corresponding to the possessive
case arealso given inthethree forms. In thefirst
and second person they have no gender.

-

| per. ™ SICRIE IR
my our our

Il per. a ga: THH
your your(two) your

The Demonstrative pronouns have three forms too.

Singular Dual Plural



Mas. UY: @ Q%T

he these two these
q: al a
Fem. W9l o QT
she these two these (many)
a a ar:
Neut. Tdd_ Q%T Q?'Tﬁf
this these two these
ad. d ane

Exercises for lesson 2.

Exercise-1

Here are some examples of questions and answers
relating to this lesson.

Q. % Qad_ a9 geas s this your book ?

A. A Tdd_HA I yes, it is my book.

Q. T O9: qd@ 9T Is he your brother ?

A. 9 U9: O9 91 Akd No, heis not my brother.

Now, try and answer the questions given below.
The answer may bein the affirmative or negative.
The type of answer required is also indicated.

1. & ara@ @9 i

D

2, ; Q9T qd W a

[Py

3. 7 dd a9 dEed a

Lesson-2
Exercise-2



Fill in the blanks with the appropriate singular,
plural or dual form of the noun. Study the example
given before proceeding further. We are introducing

numbers as well.
Example:

3 gEds *ARd

Questions:
1. I A IR

2. o HidRT TR

o o

Lesson-2
Exercise-3

a § TEa% &

\Q - two

= Fg: gled
(AF: -three)

aF Gded:  ®ied
(Ade™: - four)

GERE: I qied
(98 - seven)

G i |ied
(318 - eight)

GERE &

Fill up the blanks with appropriate demonstrative
pronouns. An exampleisgiven first.

I I [RA

o YT TR
GERE Ui
(AN - lady)
3. Tdd. &
4, I qEY: oI
5. I S A

dq 7 TR

sl e |
a9 |

W w3

qq Y

aq SEAl
(&I - pen)

Please remember the distinction made earlier

between |: and T9:



L esson-2
Exercise-4
Fill in the blanks With the appropriate form of the noun

and theverb 319 . An example sentenceis given.

Fd g Aled g e gqied
o < o
1. & ga1: |ied T
2. FHid aW: |ied EEEE
(S&d: - many)
3. UF & & AGed: died =

4. Ffd AT Fied

)/

94Hq_-eye declineslike ®aH_
5. i FO1: |fed &

FT: - ear (masculine) declines like T

6. T Fid e Tled T TcdW:
7. FEEET Hid FH0T Gied FcdTR
AN A o o o haN
8. dHhG YA hid d=hlUT Hl«d &
0. FHd Jum: qled 4
L esson-2
Exercise-5

Fill up the blanks with the appropriate form of 14 _.
Example.

I Nd  TRH q: SHREE A



A NI a N -
IE  TUTS ARH QTR &
1. 3F 9IS A d R (Dual)
2. TEOVNI SHREE IAed
Fohdl T AU, R
N

3. I® FN: eH d g
$9: - thin and lean, declines like 31

4, IE IdAd: ARH ar

5. ¥ %& S aed A TS
L esson-2
Exercise-6
Form questions as shown in the example.
W 7 o Tad R q9 9
1 TAd_ e O oo, R L
2. Teld, AT O aad, % T
3. Tdd HH 9 ad T3
4 Tqq T HE o —-—

FEIFH_ - Motor vehicle , declines like %

L esson-2
Sanskrit Numerals.

We have used numbers in the sentences seen
earlier. The names given to the ten numerals are given
below. Devanagari has its own symbols for the
numerals and these are also shown alongside.

Please note that number 1 will apply only to
Tka=_q_ while 2 will apply to &= . The first

four numbers alone have variations depending on the
gender. Theremaining six have the same form for all
the three genders.



Table of Numerals.

NO. Name Sym. Masc Fem.
1 T 2 Cht TRl
2 f& R & E+
3 E| 3 ERE 51>k
4 d ¥ cd{ ddel:
5 95 u RE| |
6 W & W g
7 qad. o qq ets|
8 I < Sie) 3
9 SEE G SE| CC|
10 ol Re oI et

Let uslook at an example. The word |

(in English, cow) may have many distortions
such as

i (cow), F (kuh) , 7 (gyu) etc.
Panini further gives the sutra 7€ ZTegTeiewey

which isinterpreted by the Bhashyakaras to mean
the eternal connection between sound and its
meaning. The "Darshana Shastras" place specific
emphasis on this eternal connection between a
word and its meaning. What the Samskritarians
have proceeded on is the conviction that the
Vedic language is the universal and natural
language. Thereis no place for any other
language in this scheme!

Lesson-2: Summary

In thislesson, we have seen the use of the verb

3T (to be). We have observed that in Sanskrit
there are three numbers, namely Singular, Dual
and Plural. The Dual form is unigue to Sanskrit
though one does encounter the dual form in
Arabic and Avestan.

Neut.



when we use a noun, we must know in which of

the three numbers we must useit. Inalater

lesson, when we study cases, we will see that every
noun will have aform for each of the eight cases
that a noun can be used in. With three numbers
and eight cases, there will be 24 forms for each
noun. Don't be alarmed. Theforms are easily
remembered.

Each verb will be remembered in nine forms,
three forms each (singular, dual and plural) for
first person, second person and third person.

The personal pronouns | and you do not have any
gender. There are three forms for each of the
demonstrative pronouns he, she and this.



Thislesson deals with elementary conversation.

Here, we introduce afamily of four. A couple and their
two children. The elder of the children is the son.

The father is & and the mother &=l
The sonise® and his younger sister isJgl

The conversations take place during the day.
91d: - Itisearly morning

o - g uH SRR, 99 SR |
Oh Dharma! wake up, wake Y amuna up.
QI i TEAGA, |

It isnow six o’ clock in the morning.

haN <

g ud 3y SIS, 994l Icag |
Oh Dharma! get up quickly, (and) wake
Y amuna up.

A few minutes |ater:

gHaw! - gradmEd  Fd a1 ?
Have you brushed your teeth ?
T - grdhe® $A ed ?

Where is the toothpaste ?

Al - g6 |, THAEN: Seagd T |
Here, take this, give Y amuna the toothbrush

I - gaf &R Hed |
Y ou (both) drink your milk.
TS - T, 2T [A9EE AR a1 ?
Y amuna, see if the Newspaper has been

delivered. ( The literal meaning of the sentence
IsYamuna, seeif the Newspaper has come)

A little later:



gHIl -

L esson-3 part-2
I

Al -

ThE T FE |
One by one, take bath.

T ARTS | i i g |
Come, Yamuna. Let us offer our morning
prayers. (Again, one should note the correct

trandation here and not do aliteral
trandation of the words.)

- Afterwards;

Hd TS , SURN: &sal: |
Come, all of you. Breakfast has been set.

I SURN & Faadr ?
What have you made for breakfast ?

gEl i gEErR |
Dosa and sambar.

ST T ARG ST |
Dosais very tasty (delicious)

oTd: ATy el ot ameay 33 |
Mother, give me some more sambar.
(Please note the informal request. This

Is the usual manner in which one requests
for additional serving. The formal

"may | have some more sambar" is never
used in Indian homes.)

FORMGE {[GRITHT ARd |

I Ay T TERTH |

| have a special classin the college (so)
| am hurrying.

HEIRE d'd 9ed |



Drive the vehicle carefully.
(essentidly, drive carefully)

A - M, TG S qEad 9] |
Please, take (lead) Y amunato the school
bus. (thisis addressed to Nala).

Observe that 9dfed uses ¥aT{_ while
addresing «s5:. Thisis common practice

inIndia
THIl - T e Aid a1 ?
Y amuna, have you taken your lunch (pack)
T - ATl |, 8 Aot INed |
FAGY Hod  IfRd |
qAHGH: |

Damayanthi, | will be late in the evening.
There is ameeting in the office.
See you.

Al - !

Seeyou.

ZAISH - thereisanew letter in thisword S.
Thisis not an aksharathat is part of the
language. It isknown asthe "avagraha' . Its
use will be discussed in alater lesson but

here it sufficesto say that avery short 31
will be pronounced between al and f4.

Lesson-3 Part-3

-

Aqw - Afternoon

TEAT - ¥ W@ ! TRE Rd gk WEn
TR SEHE JEE |
Mother! see how many marks | have got.
In Maths, | am thefirst.



A= - 3 TR |
Oh, good!

A9 ®S - Intheevening

gl - qTd: 3 FORMGE [SREHedr Ed. |
SHAT: JEaT: HAd, ARG, |

W SR Faae |
Mother, today we had a special lecturein
college. A professor from Germany came.

He lectured on chemistry.

[ar F= ? el AT d ANTaA, a1 ?
Whereisfather ? Isn’'t he home yet ?
(literally, has he not come home yet ?)

I - q, fhieq_ fiore swirsatd |
FEGY oA ARd |
No, hewill be alittlelate. Thereis
ameeting in the office.

L esson-3 Part-4
Hefed{H - Later
g - qa: Har  RTaEE. |
Mother, Father is back.
(literally, Father has come (back))

T - IAE A |
IS AT , & wUH
T E T ?
(I am) very tired.

Bring warm water. | will take bath.
Where iste soap?

q=: - Night
ATl - 4 AWTBed , WieH ERE |
Comeall. Let ushaveour dinner.
o - ERCEE c i i

What isfor dinner ?



Hal - dAed , g9 T AR |
I AT |, FTh: I |
Cooked rice, lentils, vegetables and curds.

FAedH - Later
PLEING G S AR :
Good night.
7S, THI- TR :
Good night.

Lesson-3 Grammar
We now look at some points related to grammar.
We have aready seen the conjugation of the verb

AR inalits present tense forms in the previous
lesson.

I isthe past tense for 3T9_ in the third person,
singular form. Past tenseitself will be discussed
in afuture lesson.

Thereisaverb introduced in this lesson which starts
with the vowel 2T , =3, For many verbs, the

addition of 3T asaprefix resultsinthe action
taking place in the reverse direction.

TSI - goes  HARTESI - comes or returns.
The verb T=aid istraced to the roots #_and 73 .

Here are some more examples.

T (takes)  ST=AM (brings)

aTid (gives) MGG (receives)

M (goes) A (comes)

&d (takes away) NEXd (brings back)



Lesson 3 - Imperative form.

The following words, used in the lesson arein the
imperative.

SR (SIRE) S8 (Scumad )
e T99 gqid (Uad a9d
HereSINIA and ST arein the causal form.

Barring the word SIR]® (from the root word STN] -
to wake up) al the above verbs are similar to the
form given in the table below for the verb

9 (from the root , 9) .

Sing. Dual Plural
person T ERIC] Colte
Il person CR| Tad aad
111 person Tad aadi Tad

The verb STF] is aso conjugated like the abovein all
persons except in second person singular whereitis

o

SAR]E

The form SIFRA arises in the causative form of the verb

STF]. Thereisno equivalent in English for this form of
the verb, but it may be explained as

Trﬂ'*‘,[l% - towake up

SIPRE - to wake someone up.

The imperative form of the causative is also conjugated
similar to ©9 in the above table.

L esson-3
Formation of simple sentences.

In asimple sentence, there are three parts. They are,



Subject - The part which names the person or thing
we are talking about.

Verb - The part that tells us something about
the person or thing, such as what the person
isdoing.

Object - The person or thing that the action
specified by the verb relates to.

In asimple sentence in English, the verb and the object
together form the predicate. Also in English, the object
amost always follows the verb.

In Sanskrit, the verb usually comes at the end.
Let uslook at

TS [Taed =3l The boy goes to school
q1: - (the) boy (subject)

e - (to) school (object)

TR - goes (verb)

Examine the table below which has the words

e andcd with the associated verbs

TRIH |, 93TH |, T=3™ and 9814 .

A number of words which qualify as the object for
asimple sentence are also given. You can try and

form sentences by selecting suitable combinations
of the subject, object and verb.

subject object verb
| ATl |
| Foice| |
I | EAR I | TSI
| TR | ST
| 9t | TS
| | el | ELyis
| EE| |



L ook up the meanings of the words in the glossary
attached to thislesson. Y ou will observe that arbitrary
combinations of the above will not make sense!

Hereisasimple chart to let you frame ssimple
guestions. Inthe middle ring of the chart,
you will find
several indeclinable words.

The verb used in all these cases

. o~
IS IT=dId .

| | T CTeA| | |
| T | e e e oo o - | = FR
| | | | | |
| | | TS| |

| &1 e e e e e oo - | | T |

Select aword each from the outer ring and the

middle ring and add the verb IT=3(d .
Y ou will have a question.

Examiple Yo, &l I3 ?
qS: FA T ? etc..

Lesson 3 - Exercises.

Ex.1 Understand the following sentences.

FERISE T G |



¢ I FOMSHE TF Hod AR |

R THI 3a: Th: TASUTS: SIS |

3 @ Aifas T AN GERR JrEar |

¢ I T: AHF FOMESH [FET W FM |
% I T AU A IS |

Note: Id4dTd_ - One who has received, (received

in the sense of receiving a prize)

IEH® - our
QEEER - prize
gME - famous

L esson-3 Exercises-2
This section consists of exercises of the type where you
fill in the blanks with appropriate words.

Thefirst set relates to time, i.e., when certain events or
activities take place. Consider the example,

Q. BH: FI [TAGH TS ?
A. BE: 9Id: FOed TS |
Now for the exercises.

o Ul #I1 FHISE TT=Bd ?

o FAGE TR |
R AS: FG IR ARSI ?

GICR J]EW‘C_'JI%II
3 M &G ARH @R ?

qran e @ |
¥ VI HSl IS ?

ME SIS |
w Ol Fwqr Mgl WA ?

el gl FAM |
§ Td: Fg AU ?




FEIIER _ WEMW |

In answering the above, choose from the following
words.

grd: - Morning @™ - Evening IR - at noon

T - at night 1d: TEE1E - 6.00 AM
9id: 22EES - 10.00 AM

Lesson3- Ex.3

Change the following sentences in third person to
sentences in the first person. Anexampleisgiven.

T Fed T=aed | % FEied TSy |

¢ [Uar a @Ed | o' w |
ROV WA | US|
3 d9h: A WG | S EE |
¥ @ 9Id: IS | 9’ e |
w TR &R fUaid | SE AR |
§ BE: I ARSI | T B |
o fUar g T4fd | WY
¢ Ig: AME gEd | SR aMel |

The verbs used in the above are fromthe following
list. Usethe appropriate verb.

= (\’ (\, \(\’ (\, B"I%'g‘rﬁ:[,

Lesson 3- Ex.4

Change the following sentences from first person to
second person. Study the example given.



¢ SEA M | o |
} E U FE® | @ 9 |
3 I GEhd 9EIH | oF @ERd |
¢ I I METH | oF I |
¥ I TERd T | 4 &R |
§ @ od A | @ od |
© IE THS AW | d FHS |
¢ IE Yd @™ | G o4 |

Filling in the correct form is easy if we remember
the changes required in the ending of the verb
from first person singular to second person

singular. Theruleis ......... (AMAT  changesto

Lesson 3 - Ex.5

Change the following sentences from third person dual to
first person dual. Look at the example.

qA fed Teed: | oEl ued eS| |

g FAT JEIA I | A G |
R A I FEa: | CIcICE| |
3 A9 7S @Ed: | AEl FS |
Q WIS o dfed: | ol o |
w T Hieal fawa: | emEl HieeX |
§ df @&hd agd: | el @&pd: |
o oA (HEEHd 9&d: | @l @R |
¢ d(ndd faga: | S @ |
¢ qtad dHa: | <11 G |
g0 TS TEdH Tod: | AE GEdsh |

The required words will be found in the following list.



Lesson 3 -Ex.6

Change the following sentences in third person plural to
sentences in second person plural.

Example.
1 P e Ty e 9 918 Yo |
¢ Sl N FHed | T TR |
R d S TRdled | o St
d e @Eged | A

T GHGAR =i |
GIERCCRIECa R c o i
TS I59 AGd |
qerdr: o FaRd |
el Hefhd fo@ied |
g0 O TEA FeISANRA |
The required verbs are in the following list.
THqH:, WEH:, RRIAH:, T=SW:, TGH:, J5M:,

<

FH:, [GEH:, FHGIH:

g4884844
g

Lesson 3 - Ex.7

Change the sentences given below, from third person plural
to second person plural.

Example. ¥Whl: &1 7®led | g9 33 WY |

¢ T gdied | gd o |
R AW A IUERA ? g FA |
an: din aedled | g9 aron |
A 9 qERd | g9 ad |
AT A Goled | FF AT |
Gl YA Gdfed | I WA |
q gEa® Fed | g9 g |

6 M £ £



< %[ q;|€|c|8€|' 33||3|‘c§'\|r d | ?:E:f %IZIQIEZI' |

Q  IMEMEN: JEANS TSied | g9 qeanet |
20 ‘?:l %rlglg,,‘al %rlghl- d | ?{EJ ?m""lg|@“~0\| o

Therequired verbs are in the following list.

ANTEBY, TT=SY, FeY .

Lesson 3 - Ex.8

Change the following sentences into imperative
mood.

Example I1&: Uid: MY | 916 Jid: SMAEd |

¢ IS: M HUM | TS e |
} TS 96 9 | q5: 9 |

3 e S TR | [ s™ |
¥ T : G IUEING | G E |
W WO FAT g8 | WaT Fl |

For answers choose from the following.

Change the following into second person imperative.
Example: o &1 @3 9gM | oF g Tcd ag |
¢ & I IuEEE | o TR |
o4 98 9 | o ue l

@ WR fam | o &R |

@ TG WEM | d TS |
cd JEawed T8 | od JEdwed |

yx;

oC

£

The corrrect verbs are in the following list.
@e , =%, U5, dg, Sy

Lesson 3 - Ex.9

Change the following sentences in third person plural



imperative into second person plural imperative.

Example:

IET: FEAET IqERg | I FeAEl ST |
¢ Vaed: JSFad URaed | g9 deread |
R d I FUEeq | gE I |
X d Uid: SMBg | g9 W |
Q Vded: GERd WO Fdvd |

T HEhd AT

L\ f\(\.q_lgo - l W (\(\.q'lz. l

Answers are from the following.

U%ad, 3P, SMAEd, FEd, 9od |

Select the suitable conjuagtion of the verb from the
choices given in parantheses.

Example:

qS: A IR (ST |, STRA |, ST )
o I e (T , T, T&T )

R UMRA & FE (TR, WEM |, @Eed )
3 g (A9 | TW\leq , q9id )

¢ a9 T (ST, A T )
Yot (T, Fgied , TEq: )

The word FeTT  itself is derived as:
e o 3fd R qunie
THENUSHY Rread 3 |
It is hereby taught. So it is Siksha. 781 - To teach.

The pronounciation of the words is taught hereby.
So it is Siksha

Sikshaisthe first vedanga among the six.



¢ &{d:- Sound (pitch)
R &&- Time
3 - Place
¥ Fdc- effort

Y 3Tq9qH_- Externdl effort. i.e., by the
organs of the mouth, the glotis, lips etc..

The eight places are

g I - chest
R FWS - neck
R R - head
¥ MeHSH_ - origin of the tongue
W gedH_ - teeth
§ TR - nasal
o AW - lips
¢ didy - palatte
37T - marks (awarded)
AR - more
QU - sets, STEdH_ - the process of setting
STYUTH_ - pilgrimage
& - lord (usually god)
S| CE - sitdown
SUEN: - breakfast
SRS | - warm water
'@W{ - one by one
ED| - story
FSRMST - university, usually means a college within a university
RETT - lecture
m - place of work
Rl - alittle
FA - Brush (ashort stick with bristles)

Fd - done Faad! - (f)
IS - to play



I

TS

S 1)
e

Geadra«
ECEIEEa

qld

>ﬁ%’§’3§’§’% ﬁ’ﬂf%g %%2 4 ¥ 3 g)gg

- playground
- sing
- movie
- todrive (avehicle)
- to stand
- cleaning of the teeth or dental cleaning
- Daily (Newspaper)
- television
- A well known breakfast dish in India
moves fast

worship
- sleep
- to take with oneself
- see
- flower
- library (a place for (reading) books)
- professor
- toget orreceive
- prayers
- paste
- little girl
- devotee
- meals (roughly, food)
- meeting
- give
- write
- apeoples vehicle (in this context, a school bus)
- Sy
- live (plural)
- cloth that one wears
- monkey
- school (aplace for (receiving) education)
- specid
- good! (not in the sense of an adjective)
- tofed tired



S SSE - ready

HHgdNH. - beach (seashore)

SIEE] Y - A liquid dish that goes well with rice
SIERIGE - slow and with care

{{éf: - the Sun

SEER - man servant

T\ - bath

&qq1 - Sister

S 1E20 - Take this (or accept this)

N - milk



Lesson-4 Part-1

T @9: T | Ravi and Soman.

Thislesson continues in the same style as lesson-3.
The student is introduced to new words and
expressions through a conversation between two
friends.

Ravi, and Soman are in conversation. They are
old schoolmates meeting in their home town
Madras, after a span of ayear. Ravi had continued
school in Madras while Soman had goneto a
school in Srinagar, acity in the state of Jammu
and Kashmir, in the northern part of India.

G- @MW, G- o FT 99N ?
Soma, where are you staying these days (now) ?
qH:- O SN dETH | dEEaed BT |
| am staying in Sringar and studying at
the Central School in Srinagar.
- o, o 9B | 9 d FTHIAR
e s 2
I Gt W @G ?
Oh! You are studying in Srinagr. Isn’t it in the
state of Kashmir? Very beautiful isn’tit?
AF:- 3 ST Geal vald |, RN aEeden |
I 99 T=AN , 9 o TSIl feRar
Hied |
Yes, itisvery beautiful, especially in Spring.
Wherever you look, the flowers blossm forth.

9 I  gdgl WA @ | ofiFR IEEe:
w4 Wi ?
Here of courseit aways summer. How isitin
Srinagar in Summer ?

qW|:- IS Y T B s |
Evenin Summer itis(theair is) pleasant.
RIS BHSY &H: gaid, o7 a9
S QU Haled |
In summer, the snow meltsin the Himalayas,
so therivers are full with water.



(literally, the rivers get full with water.)
¥ S o fEm: |

We drink pure water.

Wed dF A | auid |

But it does not rain much there.
Tg R AR JEd |

It rainsalot in Madras.

el TS auid |

Sometimesit rains very much.

Lesson-4 Part-2

-
q:-

WeHS AT diegd @udg_ |
During Autumn, the beauty of the Himalyas
cannot be described (is beyond description)

[aNiaNaN (aNy o

[ERIYOT qUANTY |
Especially on Full-moon nights.
< . qa-[ o o o l—%:[
ﬁ o N o ’
aq] a9 Qied ey |
when the full moon illuminates the Himalayan

peaks with her cool rays, the beauty is
unimaginable.

RAGIREN dodas 9 a6d Fidie:

IEHTE &Ed Al |

Her reflection from the Himalayan peaks and the
Dal lake, fill our hearts with joy (pleasure)

qg G HougE: FHYU: died |

There everywhere, the apple trees are full of apples.
FHNHTRS SR Ig = |

Kashmir apples are very tasty and famous.

7 HISHR Tdel JRICA(d: &ar ar

|s the weather in Kashmir always pleasant ?

9, ¥Wed RIRR T e 3fid ¥afd @ |

No, during winter it is extremly cold.

dgFl B gafd o1d: THARTEE F Waid |




Then there is snowfall and so movement becomes
difficult.

L esson-4 Part-3
- W TAed T RIRN A TN e

[N

Hq[d |
(But) during winter it is very pleasant in Madras.
TS GEE [hed FUTEH TEIAET FS: AW |

Not only pleasant (to stay) but also it isthe time
for classical music.

YIET: IR AdREd 9 a9 aF I,

o o . [ aN
Jcdled U & T FaHled |
Famous singers as well as artists (dancers etc.)
sing, dance and display their talents here and there.
qUIHIS T Fledl T ?
How isit there during the rainy season ?

dH:- A Y& | 9N 5 |

TWrd dal Uh 9d €39 FHR A |

(it is) amost like no rain during the rainy season.
But at that time thereisarare sight in Kashmir.

MR, =l A1 Y BT e T

o o ”: @;. o l

Not far away from Srinagar eastwards, near the
city of Pahalgaon there is alingam formed of

snow (Lingam - theimage of Lord Shivaas
worshipped in India)

- wd a1 29ESTia: R ® e 2

T F TR 2% HEN: ?
Isit so ? How far is Pahalgaon ?

How to go (reach) there ? What is special ?

-

qH:-  TEEUH, R4 RS gl oRd |
Y Fgdled d TERA Jdd STRERRd |
AT A TTBled |

Pahalgaon is 25 KM (from Srinagar).

Those who can, climb the mountain (by foot).
If not (otherwise) they go on horseback.



qdded I9R IEEI ’RE SId (g e |
aEd ST A AW |

On top of the mountain, thereis alingam
formed of snow. It is known as"Amarnath"
(its name is Amarnath)

- dd A Jgd a1 ?

Isit very big ?

dqW:-  AEUE QR qed SR aud Waid |

ad: W gE: ald |

E[H\ﬁ hay . haN qg gg: = |

During the month of Sravana (July-Aug.) till the
full moon day, the lingam increasesin size.
Thereafter the formation shrinks (decreases in size)
Viewing it (the lingam) is possible only during the
Sravana month (July - August).

Lesson - 4. Pointsrelating to Grammar.

L et us examine some of the expressions
introduced in this lesson. These are often
heard during conversations and are found
in written Sanskrit as well.

1 Tg Gl

This expression is used when one wants to say that
something happens and simultaneously arelated event
occursaswell. In english we may see an equivalent.

When the sun rises, darkness vanishes.

< N

g1 G4: I, AG A TS |
Here is another example.
I RHUE: AH: O
el THARTEA FER VAT |

When there is heavy snowfall, then movement
becomes more difficult.



This expression may also be used in the negative.

W (e f\: (e ’aa]' (e Y H‘ (e l
When it rains heavily, then the plane does not land.
(Literally, the landing of the place does not take place)

o

2. 9 3 fehed MY or |

Not only but also.

q N 3 Hg 'y « O - o . aTl'(l\q' l
Not only is Sanskrit an old language but a modern
one too.

3. gEd. GIEG |

so much asrequired.

qieId_ 9 A= T® |, dEd_ 9d 79 |
Take as much money as required.

Lesson-4 Grammar:2
4. 9% T and T o GENGE
Where there and wherever there dll.

T A AqRA a9 AR oI |
Where there is smoke, thereisfire.

9 99 Gcd AR, dF aF T9: ARd |
Wherever thereistruth, thereisvictory.

53 & one who IS
q1 ar one who IS
qd_ dd. thatwhich___ is

q: Eﬂﬁa]g: q: (H: |

One who has long arms is Rama.



I geeld @1 diar |

Onewho is beautiful is Sita.

Id 9cd  dd_ 99H_ |
That which istrue is good (beneficial)

6. Useof conjunctions. ¥ - and

[a N aNaN

NN
gHed RIRN A
ingA=d  and RRR
Note that the conjunction ¥ isused at theend
of the last noun in the sentence.

;&3 &R 9 a4 TTeskd |
Rama, Kesava and Hari are going to the forest.

9 isalso used in the following manner.

T T FE: T ER: | a4 Tested |
Rama and Kesava and Hari are going to the forest.
This usage is not common however.

|lesson-4 Grammar:3
7. V& @ -

This expression cannot be translated into English

easily or even literally. Theword @d here adds some
sort of emphasis to the sentence. Thisexpressionis
used by Somato contradict Ravi’ s statement (question)
about the weather being aways pleasant in Kashmir.

8. W -
Wd  usualy means"only"

d: ®S U9 @A | - He eats only fruits.



FORNST THY TF AR |
The collegeis nearby (only)

9. 3Ad: - Therefore

Thisword is used in the sense of therefore.

TH SO STRd |, d: FARNSI A T8I |
| have fever, therfore (so) | am not going to college.

Oftenin Indiapeoplesay " | have fever " though one
should probably say "I am running temperature”

Directions and Positions.

I orﬂﬂ"[
north
|
ARHT | QT
|
|
.
qQET OF oo oo qgf or gt
gl west | east
|
|
Erex| | Clp|
I
south
MO or AT



Relative Positions.

Fed WRT:
SYR above
| . ged:
| . a the back
|
o\ .
MR right I I
------------ | ||-------------- AH: AFT
I e 1| I aH left
|
|
qXd: infront |
~
QT H{ET: below 3Td:
I T

These positions are given relative for a person in front
of you and looking at you. We have tried to give an impression
of depth through the dotted line in the picture. Please view
the picture as a representation of positionsin three
dimensions.

L esson-4
oYY - indeclinables.

Theword 31099 is derived from the root

[ +3 and 31599 means that which is not
liable to change or that which retainsits form
in all positions.

It is easy to form sentences with 319y
aswas seen from the small exercise givenin lesson 3.



AT - also

dql - aways

qdql - at all times

aa - there

3T - here

T - everywhere
91d: - in the morning
g™ - inthe evening
gE9d: - In the morning and evening
yidied - daily

dd: - later, then

Y - |ater

31d: - therefore

qd: - because

37d: U9 - only because
dq1 - or

AT - else/or
FIAMY - somehow
FGM - sometime

QH_ - but

I%IFQI, - but

Wed - but

S - today

STYAT - now

g - like

Td - only

= - above, loud
qH_ - thus
T'%Rq\—foralong time
9™: - mostly

: -agan

{d: - earlier, before
A

2: - slowly
% - well



;- immediately

dql - then

%al ?-when

P ?- where

®YH_?- how

$d: ?-why , from where
fRTEM_ 2 - for what (reason)
fRM|Td 2 - for what (purpose)

Lesson-4 Exercise- 1.

The questions given below relate to the conversation in the
lesson. You will be able to answer them if you have understood
the sentences spoken.

¢ OW @ I 3 F9Y ?

R AW & & R 9e ?

3 O WR T TRd ?

¢ gEdES R Fe Rd ?
W FA A UH: AR ?

§ ISY of R & Ra: aRa ?
o IHES & gard ?

¢ UM TN ATEH aud a1 ?

Q IR Td T @RI ?

g0 FRHN Fa G 2cd WAl ?
% SR F TR ?

R TEHlGE T oA ?



Lesson -4 Exercise 2.

Fill up the blanks with appropriate indeclinables.

Example. =: Teid |

W yfdled gE: 9= Tl |

Please note that more than one word will be required
but there are choices. Based on the meaning of the
indeclinable, select the appropriate combination

for each sentence.

g o UeAE TFATH |
R G HGEHd | TM ,  HEhd 9eld |
Y d®’d TS, g

¢ ARl RE UM, d®d 9 s |

The indeclinables which will fit the above properly are
to be selected fro the following list.

qql | Widied |, 9 | "R, @, o, |@aql

AT, T, I A, qEA

Exercise- 3

Fill up the blanks selecting suitable words from



ARG & A - C A o

Example: : @1 AN FM |

RRl: qder Ve FUA |

¢ A qET T |
R TR T AT kA |
3 A a1 el |
@ gool: Afed |

> S ~
W ARRI e died |
A | CIRIEE A |
©  HH >l A |
¢ TqS: Hed |

=\ o\ N

Q QA aRd |
o TR &9 sE9afd |

Y ou should first understand the sentences and from the
context select the required indeclinables. The meanings
of all the different words are either known to you already
from earlier lessons or may be looked up in the glossary.

Lesson -4 Exercise 4.

Fill up the blanks by selecting words from the list below.



EICERINE S 10 B B ER O

Example: 9id: 59 fashdid

< AN aN N aN
9 qd: S, I T |
R A [, |
3 I (ARG AR |
¥ I [T
a: FGIET AT, |

Y Y I TR WETH |

fhed IME A TR TSI |
§ FASE TSI |
e IRTSTH |
© TeaaEd FUM |
MU} TTBIH |
Exercise -5

Fill up the blanks by selecting suitable words from
Fhed , o1d: , Id: , ST

Example:
IE JId: I 9 JoTH | hed T ToTH |

¢ o Ud: @ A W



ad T w0 |

} G: 9a: B IE 4 AT
T IE TS |

3 I JorTd g8 IdE FeTY |
I Gddl SSi~as qRAnH |
¢ TS Tl fhbe Field,
q e ordig I=afd |

w @ gda gl R qdq) @ |
§ AS: @AQ 918 TS, e feEid |
v J @dqr fFeEl TSt |

q @ T=Bied |

¢ TG ANES [ TV
S NS @ed |

R ¥: ®S UF @R ,
TS A TV |

9o YId: M@ &N d =™ |
g &R ey |

Lesson -4 Exercise 6.

Fill up the blanks by selecting suitable words from

R, g, =, die
Example @: 9A: &S @A |



9 cd T8 I T fauiw |

[N

Rop&S:  dld |
¢ WM A9 = |
=\ o =\

Y IH4d H: qQiIEAT fUld |

[aN =\ . N aN
& QYA FSES FUA |
o BE: I T |
Exercise 7.

Below you will see many questions. They require

theword ®¥I% intheir answers. Understand
the questions and in the process, improve your
vocabulary.

Example. WaT §&hd & Taid ?
I HEhd T GOTH |

g @ R ARA FY TSN ?

o

IE FHY A T[SATMH |
R o TH FY W ? 3E T R |

3 AT EFOE T AR a1 ?
of, g e S |

¥ TS FY B ? IS¢ ryre il

% I qFEE AT AEdid ar ?



af 3w dfor dedid |
Exercise 8.
Use the following words in appropriate places.
Qd: - infront of ged: - at the back
MOt : -attheright  d™d: - atright

SYR - aboveor at the top
3T: - below or at the bottom

Example: 9id: ®H @: §4: |

9 A9 e SufeRta |
R HH 9A: |
3 W A RO

qud: Teg: AU |

¥ HH HYT: |

¥ e e |

Now you should try and form more sentences with
additional words. Y our vocabulary would have
improved considerably in going through this lesson.

Lesson - 4. Forming sentences with indeclinables.

The table below can provide many sentences.

Choose a subject, the corresponding verb

( on the same line as the subject) and an

indeclinable. Y ou will be able to make many sentences.



subject indeclinable verb

T TSI
qeqH EEAIGH
SHET: IGE qofed
T AT LIS
AET a RLICE
3:[’&\[ A BIEGE
d g
Exercise 9.

Here are many sentences that require the
use of dgl --- dql .

Example: F&1 IWT: ¥aid , dar e Swa |

¢ §d: S, A [OwEd |

R gm:avEd,_ 3§ ak: e |

3 I g SASH ,_ gedaEd & |

Q e i SIS HETH |

W PR A VA, e | §e
C N e



Lesson -4 . Exercise

Here are some sentences for you to understand the use of

qEd, ... dEd_ . Figure out where these
should be added in the sentences.

Example: ITad_STHME: & NS |
dlad q18: 9 gESid |

9 HH W9 9 WS
IE TEAE 9IIH |
R A 9 T3 |

I I IqEENH |

3 &H A qaid
AT T F =3l |

Nl aN

Q T TR FOUH |

N o s 0O o

Y q9E 9 3IRd | 3’ U |

The following sentences help you inderstand the use of

Example d #a0 & T4 @0 |
fhrd e ST FUM |

0 q%: e Fd |, &9 BRY dredid |
] TR IR SR

< o o

HIGTIG ST9 S(ed |

3 I I 931 |



HEHd TEENY 951H |

Q qIEd ad 9ad | Trax AW |
Y I SleH e |

o o

TR U TEMH |

Lesson -4 Chart.

Here is a chart containing nouns, averb and many
indeclinables. By selecting a noun and an indeclinable,
you can form a short sentence with the verb.

Try and form as many sentences as you can.

If you have aliking for mathematical work, try and
figure out how many different sentences you can
make and how many of them will correctly convey
ameaning.

| & W U O S

| | |
| | @1 @ ¥ §aql |
|a: | | ST
| EICE | ST |
| S| ol | |
| S | Sictias |

i1 O B B
R qq: g9 |

bN

Lesson-4. Glossary



The seasons:

jaN . .
gHed: - (m) winter with snow

A, - (m) winter
d9-d: - (m) spring

AT - (m) summer
a9 - (f) rainy season

RIRN: - (m) dry cold season

RIRN: isnot experienced in most parts of India

Each season lasts between 55 and 65 days.
According to the ancient texts, the duration of
each season isfixed at a specific valuein the
range given above. The seasons Spring, Summer
and winter generally fall within the corresponding
ones observed in the west

The words give below are in the order in which
they are seen in the text of the lesson.

feHI&: (m) - The Himalayan mountains
’HH. (n) - snow

G () - beautiful

5 (m) adj. - central

Fea @SS (M) - central school

(acommon system of schools run by the
Indian Givernment all over the country.)

f=ed: (m) - school

quig_ (n) - full

quiERg: (m) - full moon

feRTaT« (n) - in full bloom.

Tt (f) - river

EGE (m) - comfortable (also convenient)
ﬁﬁ?ﬂ{ (n) adj. - pure

IAMHA_ (n) adj. - much

drd: (m) - wind (air)



BHUT&L (n) - beyond description
qﬁnmsr? - full moon night (during)
RIEMT - peaks

iﬂﬁ?ﬁﬂl (n) - unimaginable

d&q -its (thisrefersto case)

PIRIEECE (m) - reflection

RHTSARIEY - upon the Himalayan peaks
&ga9H_(n) - heart

ifra:@m: (m) - appletrees

Wﬁl (m) - full of fruits

(this word comes under the second case)
iﬁw (n) - Apple
ferE. (n) - very tasty
91%«'&“{ (n) - famous
THATHAH_ (n) - to and fro movement
qEql (m) - comfortable
Y= (n) - talent, expertise
q&-delhld_ (case) - from the Dal lake
qRIEYT: (f) - climate (though it really
refers to the atmospheric condition)
2799 (n) - chillness
BMAREE - with her (cool) rays

Ya=T: - term used to refer to an area
of a country or place.

:q’ir: - country
gafd - melts
Tuld - rains
qdid - falls
YREEM - shines
(the last four words are verbs. They arein
third person singular and in present tense)

YeRiErd - perform (exhibit).
Verb in present tense, plural.

gled - are
Waled - become or are
TEed - sing (plurdl, third person)



Given below are some indeclinables. More
indeclinables may be found in the section on
indeclinables.

Indeclinables remain the same (i.e., do not change)
with gender and number. Hence they can be easily
used in sentences and remembered as well.

IdE - very

A 99 -wherever dF d - theredll
(the two are always use together)

feRINUT - specially

qaar - aways

S - here

Qd - adds stress to the subject asin the
use of "too"

d -but howeverd isnot used
in the beginning of a sentence.

9iqd - but
T, - Sometimes
IIMHY. - very much

gql -when dql - then
the two are always used together

I.e., dgl awaysfollowsdqTl .
?@'{Fﬁq\ - NowW
Ad: - S0, therefore

G, - then (usually refersto the time
of occurrence of a particular event)

_ E\lu_':EoTI\-notonly fhed - but also

(in using the above two the word 19 =
Isused at the end of the sentence)

A -aso 9 - and

99: - almost

gd - like

AT - alternatively

I -0

E\IEFWI\ - only

dd: 9 - thereafter



Lesson-4 Expressing Numbers.

We have already discussed in an earlier lesson
(lesson-2) one uses numbers from one to

nine. In this lesson we will see how one would
handle larger numbers. First we introduce Zero,
the number whose use from very early periodsis
credited to India

Zero isknown as3[«AH_ in Sanskrit.

In expressing any number which includes
zeros in any of its digits, the word 2[«9H_
is used to refer to that digit.

Thus one can, in principle say a number by just
expressing the digits making up the number,
much the same way one would do with
telephone numbers.

S0 43695 may be expressed as

catk ST ¥ 79 99
In proper usage of Sanskrit, numbers are
expressed in a somewhat different manner.

,he lower order digits are expressed firstd
and then the higher order ones. For example,

125 will be expressed as FEEIA 3THF TF JATH. |

Literally five and twenty above hundred
Isthe trandation.

This system isfollowed for al numbers above 100.

When we were preparing this note it was still 1997.
we had planned to say

HEAld AF A9 T ANE T dgel a9
P FEAT: |
Simply, it was to be "good wishes for 1998"



Though it is past Jan.1 1998, the good wishes
continue.

Ik means more than.

The list below gives the Sanskrit equivalents for
numbers between 0 and 50.



LESSON 5

TH ER: =
L esson 5 continues in the same format as the
two previous lessons, in the form of a conversation.
The conversation here relates to different aspects

of daily routines and will introduce the student to
new words.

Much of the conversation continuesto be
simple, most of it being in the present tense.
Some expressions of common use are introduced
and these will help the student form short sentences
to convey simpleideas. Thiswill constitute the
very first step towards speaking Sanskrit.

IM_(Tom) and &R: (Hari) are friends. They have
studied together in the U.S. &R: has returned home
to Indiaand €¥_ visits him.

I - 8D Uad % 4931129 ?

ey UeEdE AT 2

Hello, isthis 4931129 ?

Isit Vishnu Industries ?
Al =M - I
(Telephone Operator) - Yes

M, - aF &R: A a1 ?
|s Hari there ?
(literally, isHari in there ?)
g A - qH @M |
Literally 2T means | will give.
What is meant is, | will connect him to you.

What the Operator says she will giveis
the connection.

T, - ¥ & | A T a1 ?
Hey Hari ! Do you remember me ?
g - N F: M ? Fd: ? I dq: ?
Hey, who ? Tom ? Where from ? New York ?

I, - A BE A



No, here only, at Chennai.
[N T S < ‘\S_lf%q l
| have come down for business.
(On abusinesstrip)
gR: - FA d 9 ?
Where are you (put up) staying ?
M. - &S 9, TREEE
THEICANE HEad. (325)
Hotel Chola, Room Number 325
gR: - o gud: ofRd a1 ?
Do you have time today ?
I - O, ATWR dd FESH SRR |
Yes, | will come down to your
office later (in the day)

L esson-5 Part: 2
FASY  (In the Office)

M - dFEd HH AW I |
gR 28 ANTAISRA |
Greetings, my nameis Tom. | have
come to see Hari.
g - e, 8R: Waed JarEd |
Greetings, Hari is expecting you
SMAUT: Tedl WA 9o GRIBH. |
(Go) South and the first room on the East.
M. - ER:
g - M, ITNTES, NS, IR |
FEd 32, TR e 2
HH ST T ?
Tom, come, come, sit down. Heven't seen
you in along time (Long time, no see!)
What will you drink, coffee or tea ?

cats QU (8 - =
Nothing (Basically, No Thanks)

gR: - FaAAS 91 GNE ?




|s Sarah well ?

ferer, A €T T 2

Bill should be (must be) five years old, no ?
TH, - o, §d FAeA: |

Yes, al arewdll.

EERRICRUC MRl

Bill goesto schoal.

® d HA 2T gH?
What about you ?
(literally, what isyour story ?)

| am still abachelor.

FEG, WA =@ |
Alright, let us go somewhere.
AMSYRM_ g A |
There is much to talk.
YR TTeoE: |

(let us) go to the beach.

= Tedl WOl FA:
Reaching there we shall chat.

FHgdN - At the beach

ER: - 9 JGEE JuEEE: |
(let us) sit here on the sands.
IM - Y 91 S 9w
AT T2 ?

Do you remember our visit to Miami Beach ?
(literally, our sight of Miami Beach)

IE Yo GUgae AR A |

| think Chennai beach is more beautiful.
gR: - WRd d ol d9gad T TFaaH

Id T |

It iswell known that Chennai beach isthe

most beautiful in India
T - T, G dSWcd JRTsled |

L ook, the waves reach the shore and return.




9T, I Y Jedied |
L ook, the bubbles dance in the waves.

g - aq\;gﬁaq:aqsrqﬁm:aqa:qﬁ:ﬁq: |
Tom, sunrise hereis very beautiful, therefore
worth seeing.

T | | E AQR UF Weed, |
L et us go home. Dinner is at my home only.
(meaning, at night, we eat in my house)

I - Al TSE: |

If so, let us go.

L esson-5 Part:3
TEMUAY - At the Supermarket

g - 9 d PO @ |

| eat only vegetarian food.

[ N Y = o aT ?

Do you like non-vegetarian (food) ?
M - ¥,9d <4 WeM o ISH. |

No, whatever you eat is aright with me.

(literally, | will eat whatever you eat)
Tah: - A1, TR a1 TERaE, 2

Sir, may | help you ?

(literally, what would you like ?)
gl: - O g9 Ui &g,

Two packets of tomato soup,

akilo of potatoes,

gRd o %ol adas o1d hal,

cabbage, half akilo, green peas, half akilo,

acucumber, afew onions,

apack of milk, half akilo curds,

give fruits as well, banana, oranges,

Hod, SIS, |




apples and pineapple.

g - I, TR FId EERVT ?
Please, how much altogether ?

HgH: - 8 G EUHIUT O qEEEd 9 |
Sixty eight rupees and thirty five paise.

Lesson - 5 : Grammar

In Sanskrit, the comparative and superlative are formed

by adding the suffixes A and dH to the generic form of
the positive. We had an example of thisin our previous
lesson (Lesson 4). Let usreview it here.

THARTAA F8 W9
- Y N\

There are two examplesin this lesson too.

haShan ~
e QHgd: (HIMH JYgde:) d:
TR a7 |
haNhan [a

INd 99 Hgde: TIaH: gid & d: |

While thefirst one is comparitive, the
second is superlative.

Depending on the gender of the noun, the adjective
in the comparitive and superlative form will take
the corresponding gender ending.

e,g. from the root word TH_we have the adjectives
T (m) @ () WEH (n)
g: 92:  beautiful cloth
AT AW beautiful lady
g 9. beautiful painting

Now let uslook at the comparitive.
al: 92: more beautiful cloth
AU A more beautiful lady
T 9. more beautiful painting

The superlative.
IdH: qe: most beautiful cloth



TIQdT A0 most beautiful lady
Tgae 919 most beautiful painting

Now let uslook at another example.
IAd: 9da:  atall mountain

e S9d: & The Sahyaisatal mountain
(The range known as the Western Ghatsin India)

e I Jad: |

e, e Iedat: qda: |

The Vindhyas aretdller.

Vindhyas are taller than the Sahyas
EAed: Jedad: wEd: |

e foreard, Ieaat: |

RHGT: [Oeedma oY Sedat: |
RHeE: e U9 dend, I9aad: |

The Himalayas are the tallest mountains.
(Note that we are rferring to the Himalyas in
singular asisthe practice in India)

The Himalayas are taller than the Vindhyas.
The Himalayas are taller than both the Vindhyas
and Sahyas.

Here is an example using a feminine noun.
@ =T | Ayodhyais big.
e @ReaU | Maya (Hardwar) is bigger.
FRN FRMSTHT | Kasi (Varanas) isthe biggest.
T SEAE: [3ead Mayais larger than Ayodhya
FRI AT @@TSad Kasi islarger than Maya
FRIT AEE: AU [G20ST Kas is even larger than Maya
FTRN SEEME: O qEME: R |
Kasl islarger than both Ayodhya and Maya.

Thefina examplein neuter.
TESYUUl JEq_ JEdHRT, |
Garudapuranam is a big book.

THRTH, FEdi (o) |



Ramayanam is bigger (abigger book)

HEMRA Jaddd (T6dhH) |

Mahabharatam is biggest.

(HYUH ITesIUNM] JaddiH |

Ramayanam is bigger than Garudapuranam.
HENNd TEEUTG. ST J&d. |

Mahabharatam is even bigger than Ramayanam.
HEMNd HYUT *C| TTeSYUN JaddHH, |
MahaBharatam is bigger than both Ramayanam
and Garudapuranam.

In Lesson 3, we saw how a simple sentence could be made.
A simple sentence will have three parts : a subject, averb
and an object. Let uslook at some aspects of gender as
applicable to objects.

A simple rule may be remembered for deriving the object
from a noun which is masculine and ends with 1. Such nouns

are known as 3&hNId: Joag: .
Here are some of them.

EISE a¢ TN HId:

When they become the object in a sentence, they
change to (in singular) :

% N IS AME  respectively
Let uslook at afew sentences now.

AATE: IS q8aqd |
The teacher teaches the boy.
T K T |
The monkey sees the man.

[ ¥ , 9\ Do you see a connection,
linguistic or otherwise ?]

When the dual formis used (T%Eﬁl?f) the nouns become :
CIIIE | el B respectively.
FAE: TS qBA |

The teacher teaches two (both) boys.



When used in plural, the nouns take the form :
qS  AUd.  ISIF HEAE respectively.

A TS T8dd |

The teacher teaches the boys.
G1C O N (0 | S

The monkey sees the men. (many)

What we have introduced here is the "case"

asis known in the English Language. Smply
case relates to how a noun is transformed when
different types of references are made to the noun.

In al our lessonstill now, we have mainly used
the nominative case, which iswhat appliesto the
subject of a simple sentence. When anoun or pronoun
Is used as the subject of averb, itissaid to bein the
nominative case.

The Nominative isthefirst of the eight cases

in Sanskrit. Case is known as fdih: and these
are refered to by their numbering order. The
Nominative being the first, isreferred to as the

T TR
We note that the subject of a sentence will always be

in the Nominative case when the sentenceisin Active
voice. The subject may bein Singular, Plural or Dual.

Im the English language, when a noun or apronoun is
used as the object of averb, it issaid to bein the
Accusative case. The Direct object of a sentence should
aways be in the Accusative case.

In the English language, one observes that the form
of the noun is the same for the Nominative and the
Accusative. Thisis not so in Sanskrit. The noun assumes
different endings depending on the number and case. It
Isusual in Sanskrit to present the information in the
form of atable, where the rows correspond to cases and
columns correspond to the Number. The variations are
called declensions of the noun.



Case Singular Dua

Nominative et 1)

Accusative I 1)
Being the second, the Accusative caseis called

Discussion of the different casesisreally not part of this
lesson. We simply set out to form a simple sentence
consisting of a subject, averb and an object and found
that we can derive the object form of anoun from

the subject formi.e., the Accusative case form

from the Nominative case form. Full discussion of
cases will be taken up in a subsequent lesson.

Before we close, we should also mention the VVocative
case where a person is addressed.

2 & ishow &R: in the Nominative case is changed

to from the Vocative case. Thisissimilar to English,
where one might say say Oh Harry ! The Vocative case
isthe last case in Sanskrit, but isrefered to as

HHEIHT TR and not as 3T8H: fahfh:

We have seen in the earlier sections that the Nominative
and Accusative forms of nouns will be found in sentences
containing a subject, verb and direct object.

Let uslook at the declensions of a couple of nouns.

Singular Dual Plural
Nominative USE Tl USIE
Accusative gc| Tt T
Nominative EIEK S SET:
Accusative SlE] e BEM,

In general, masculine nouns ending in 3 decline
in the same fashion.

Consider some feminine nouns now.

Plural



Singular Dual Plural

Nominative HlAT 1) HlAT:
Accusative qHS1 T HIAT:
Nominative CN| e RYT:
Accusative G| e FYT:
Again the declensions shown are typical for most
feminine nouns ending in =T
Here are the declensions for nouns in Neuter.

Singular Dual Plural
Nominative S S SIS
Accusative e S TSI
Nominative aq = T
Accusative = T T

The fact that the declensions for the Nominative and
Accusative are identical need not confuse the student
who might be expecting some variations in the
declensions.

Again the declensions are typical for neuter nouns
ending with 3t

We must remember that verbs must be conjugated in
accordance with the number and person of the noun
used in the subject. We have aready introduced this
concept earlier, but ashort revision is useful.

We add suffixes to the root form of the verb to derive

the different conjugations. Consider the verb 9& which
Isinitsroot form. It means to study. In present tense

9% conjugates as:

Singular Dual
111 Person 9T q&d:
Il Person e ryte| 95y

o

| Person QoI+ LrICK

Plural
Yéled



It will be useful for the student to remember the
following suffix rules presented in table form.
These apply in the present tense.

Singular Dual Plural
P root+31+d root+31+a: root-+31+3Tled
Il P root+31+9 root+31+¥1: root-+31+¥
I P root-+3TT+% root+3+d: root+311+H:
Observations

In Sanskrit when conjugations of verbs are shown, the third
person conjugations are shown first followed by second person
and then first person, an indirect reminder that the | (ego!)
should find the last place in the world !

Lesson-5 Exercisel

The exercisesin this section are meant to familiarize
the student with the usage of nounsin different persons
and number (Singular, Plural or Dual).

A Brief Review - Formation of simple sentences.

In forming simple sentences the noun and the verb used
should correctly reflect the Number and Person in
respect of the subject. Look at:

N FESY TS |

Man goes to the workplace (office)
Thiswhen changed to plural becomes
T: FEGH T=Sted |

Men go to the workplace

The verb is conjugated in accordance with the form of

the noun. The formsin which the verb 319_is used was
discussedinlesson  and also the different forms of
the personal pronouns. In thislesson we have also seen

declension of 3TRNI«d E'I%‘ﬁ words in the nominative
case.



Singular dual Plural
Nominative a el I
The verb TT=afd corresponds to the third person

singular (ThaAH_JTHIEY:). The basic rule for
forming such verb forms was also discussed in an

earlier lesson and the suffixes to be added to the
root form of the verb shown.

Singular dual Plural
Suffix for
Present tense
in third
person 5] G| 3ied
first
person G311t K I:
ex: 3rd
person 95 gad: qSted
first
person TSN ! T

Now for the exercises. Change the following
sentencesin third person singular to third
person plural.

1. 7 T TS |

The man goesto the village.
2. BE: U8 9B |

The student studies the lesson.
3. FF: T3 @Ed |

The crow eats the fruit.
4. T: S {UEid |

The elephant drinks water.
5. IFR: I IR |

The monkey sits there.



Change the following sentences in third person
plural to third person dual.

Example: S91: J&ms 9died |
People watch the movie.

T TS 939a: |

1. 990 9 Jodied |
Peacocks dance there.

2. 3T AegUEl foeled |
Horses stand in the stable.

3. TS W YAl |
Boys drink milk.

4. ST A AN |
Fathers bring up sons

5. IRl RS A |
Y ouths bring fruits.

Lesson -5 Exercise- Il

The personal pronoun 3@ declinesas:

Singular Dua  Plurd

e S| ER|
Change the following sentences in first person singular
to first person Dual aswell asfirst person Plural.

Example :
I F ARH FTSH
Il HIY qEA TS
T4 Y TEA TS

1. 3 TEd 9STH

2. € HThHI [qaTH




3. 3 TYIAR IS
4. 38 gl =™
5. 3 TEah [SEH

The verb 98 conjugates as:

[aN

Il person REYS qsy: 9sY
(Singular) (Dud) (Plural)

The personal pronoun "you" declinesas:

Singular Dual Plural

%! REl T
Now change the following sentences in second person
singular to second person plural. The verbs conjugate

in the same manner asindicated for 98

Example:
o4 HERd 9o
9 TEFd T84
1.7d 3 qE@™
2.4 fhuel &d™
3.7d TN S
4. 7d faomt TN
5.7 ®S @E™

Lesson-5 Exerciselll

Examine the chart form given below. The word in the inner
square is the subject of a sentence to be formed by selecting
an object from the middle square and a verb from the outer
square. Make as many meaningful sentences as possible.



| qaTd T |
| | |
| | @EFd = @ed ||
| [ | r- R (R— R -
| | Iz PO |
| s - I— | ST 1|
| | qea®  FESE ||

Here are some simple questions based on the lesson.
Try and answer them. An example is given.

Example  &R: @ IRd a1 ?
;M BR: o AR |
Note however, thisis not the same answer
given by the telephone operator. So, answers
to the questions are not to be found in the
sentences of the lesson. The questions are similar

to those found in the lesson but are presented
in ageneral manner.

1. ™aT I TR a1 ? 3 |
pRReas A e | ) S R S—
3.% TOH A EECRT AT ? O e
4.8 FAR T COG a1 2 3l wemmmmeeee
5.8 TF, T60F TSR a1 2 cccemeeeeeeee

Here are some direct questions.

1.31\1,1%1'}77%1,%=? Ans. 3% Seaid: |
2.%% d aE: ?  Ans Jel R ¥ d@: |




Here the student is introduced to the @ and
combination. & and go together.

q - your, q - my,

souse H in the answer.

3.3 d A, ? SEEH
SEMEE: - student hostel;
a place where students live.

Note how the word is coined from @1=:  and 99:
4. F J IEaF ?

This question may be answered with asingle
word, Fcatc

‘;I?F\IEH\ means room. One word answers are perfectly
appropriate. Now try and answer the questions below.

5FT d e ?

6.370 THY: ITRq a1 ?

7.97 SASaS AR a1 ?

8.3T TUieT oMk a1 ?

Here are some more questions, good for daily use!

176 [UE » &l oEr 99 2
T - coffee ™ - tea
you can answer thisas I @9 - only tea

[Py

2.7 WEM 7 FIS! A YoARS ?



Lesson 6 : Part-1
A Conversation

Here isthe text of a simple conversation between

two friends ST and TS, Try and understand
the conversation. Word meanings for new words
are given at the end.

a1 - SR\ | 99ed |
GRH - [9He dHEd | gEdE o |
UGS - g9 | IS, 3Tvd: =S |

A FRASAT ?
SRA - N T FASA | od FF T4,
I A ?

et - o SEAY | 999 e |
ST FE i xEe |
SEH - F J AT AGEA 2 HSEAT A, |
Y AT, Feal AV 7 2AH |
FAST - AR A9 IE O SO0 9= oq@9 |
4 901 35 7
SRY - M HE Y =T AR oaf g8 |
FY AT FR ANTAT |
IA: g AW g8 AW |
fHST - FT J 9E: ? SWH IR a1 ?
SRH - A, S TR | 9 T
JUSTGH *1: TF |
ffHaT - g2, d @NY OF @ ?
AT & B ?
ST - H&hd WU FAE qEer |
EHST - @ , 9 Y9 Gedel TR,
Id_cd GEHd U9 TSR Id |

FAST - U a1 ?76ERdE YER: @99 IR |



Word meanings :

FIAE - How areyou ?

-
JAY | - otherstoo
= - inalong while
HH =91 3d - | am anxioustoo
qeH - tosee

= ; .
S« e = inthe house where oneisborn

(reference to parents' house)
SESTE - elder brother’s
qUSteie - first birthday
g2 - good

<

QRFHFIH_ - achanceto see (Y may actually be
taken as lucky chance)

gE9l - admitted (past tense)

ag - wdl
el - happy
ARTEN - interest
JRMl - increased

In the above conversation, try and understand who
isvisiting who. Pick up some words from the
conversation, which you can usein your own
conversations in Sanskrit.

Given below isastory. The story islikely to bea
familiar one for those who have read many fables.
The verbsin the story are all in the present tense and
henceit isasif the story isanarration of what is
happening. The words newly seen here will add to
your vocabulary.

T FH: |
TS THRH FF T ;R TR |
aeq B FH: oA |
FH: TG TS |
[N ¢ Iy o\
fhd Z0=1: Gder 20 9Eid |
[aN ]% < a_ Y




Ee &9t 9atd |
Th: I Fugs: A |

FHRN JHEHT T P |
.. D e :

TSRMEYEd Id gL A, ad 9 9
Ui, 9 e |

TE: AR T aEd wUd |

F: Gd SAeaHedH ARSI ?
Fvde Fcal Uad_ag |

gt Hiidean 2R fasfd |

FH: ANTESA a1 T |

FH: O Oe¢ ANT=DA |

TR (Aeadrd, ThfEd, [Eellied Fcal
) A

T I g SR |

ATl Tel: il FUTT |

o =\ o o o . .
Ud 2e: AA: Tl Ylocdl HERIHMI

AW &4 9o |
Word Meanings:
2R: - rabbit
FH: - Tortoise
Thal - onceupon atime

THRA ae - inaforest



deq - his
HeqH_ - dowly
9 - moves
AT - fast

Q&I - between each other

<

BIEC IS - running race
FUr: - judge (umpire)
Q&’IFTIWTIH\ - near thetree

(from aplace near the tree)

SeREIEead. - till the pond
Q@ - distance

e ™l - winner

AledHeT . - finishing point
Faeae Fedl - thinking over
dggH, - for along distance
Eefled - rest

%Fq?:@?- at the bottom of the tree
FTcdl - unnoticed

EF, - sleep

fefed @ - without taking rest
G - inashort time
agel - then

3™ - arising
AR g - remaining distance

FReG@cd - through constant effort
EEREICIE - the attainment of success.

The conversation below is supposed to have
taken place between Kalidasa, the undisputed
king among the Poets of Indiawho composed
in Sanskrit, and alittle girl.

Many things are obvious from the text seen,

from literacy and education for girl children

to the fact that writing was done on Palm

leaves. There is no information available about
Kalidasa s time, though scholars have conjectured



times which vary from 1400 B.C to 700 A.D
The beauty of this often recited verseisits

metrical structure. Some liberty has been taken
by the Poet in the ordering of the words.

FIAIE: - K cd q1S

GI) - FEAEET |
Ffda™: - FE: T 2
TS - FARSAET: |
[aN N e N
FlAqE: - 86d Tsh d ?
G| - qSEY |
FIASSE: - 1 a1 @I 2
GI) - 1 @1 AT

The conversation is known through its form in verse.

F cd IS FETHGT FEA: Tl FTRSdE: |
NN . =\
gCd % d dISas &1 a1 {&@1 &1 @7 I 91

We give below the words rearranged for you to
follow the conversation. The words in parantheses
areimplied.

S o & 2

(3 ) FEHST |

() FEn: & i o
FehsarEn: (T )
%ra—crﬁ(awr)?

(¥ &6 ) dSHT (IR )

(O ) HT AT G2

(q ) & @I
A - Palm leaf (used for writing)
@ - letters ( of ascript)

At this website, we have a page on Palm |leaf
manuscripts, in which you will see aleaf from
amanuscript. Though small in size, the leaves
often accommodate as many as fourteen to twenty



lines of text, where each line may have more than
thirty syllables! The Multilingual Applications
link seen below in the footer of the page has the
details.

e ggtid fomd fomang arfd Jera |
qrEcalg YA O O ad: S, |

L earning gives modesty ; Through modesty
does man attain worthiness; On account of
worthiness, he gains wealth. With the ability

to give for charity with hiswealth, he gains
happiness.

qgaEndl 3q_ g T Tl 39 e, g@q, |
TENAA: Fal [ Fal ara: @

If you desire comfort, you should give up learning;
Should you desire to acquire learning you should
give up comfort. How can a person wanting comfort

acquire learning? And how can a person enjoy
comfort if he wantsto learn?

A TEAE 9 Rreg: e |

qe SFErIGd: U HSGHAT T |

A student gets afourth of hislearning from his
teacher; afourth through his own intellectual

efforts, another fourth from his class-mates and
the last fourth in course of time.

Flh: FET: Uh: FO: RN G UwREHAT: |
JE-dRIS TFYTH FR: FF: UH: UR: |
The crow is black, the cuckoo is black. What
is the difference between the two then?

At spring time, a crow will be acrow and a
cuckoo, a cuckoo!



Lesson - 7 Part-1 Mohan and Usha

In this lesson, the student is introduced to the
concept of past tense. The lesson is presented
through astory. The thoughts mentioned herein
are those of "Sanathana Dharma" as found in the
ancient texts from India and relate to the creation
of the universe.

It islate in the evening, around 8.00PM. Usha
and her younger brother Mohan have finished
dinner and are watching TV. They get bored with
what they see.

Aled - WPl , 3@ &9 3¢ 1239 ?
I G TSR M dd 9 |
Sister, Oh! How can we watch this?
Always songs and dances from movies.

I - oA, AR & FE: 2 A geE: |
q: A FEY FAT aed |
Y es, what shall we do then ?

(let us) ask Grandfather. He will tell
usastory.

HEd - 9%
Good

Oigd , S - dd aid | &4 a9d  FAl 92 |
Grandfather, tell usastory, tell usastory.

fUame: - & Fai 9 T ?
WGl a1, GFaeS a1, Sd oWl a1 ?

What story do you wish to hear,
about God, Panchatantra or something else?

IV - VM 9 IEEdES |, B I WEE
JEIUE S 3d | df FAl FA9d |



Once you mentioned how the Lord created the
universe. Tell that story.

E: - oFd 3%d , TRl U | U ..o,
Well, well, Listen attentively. Long time ago.....

A, - GEeETd:  WiE ?
A thousand years ago ?

UaWE: -9 390 GEeEd: I% |
fheg HIEHIE T oY TE |
FSET T IR G FgH |
Not merely athousand years ago, but crores

of yearsago. Another day | will tell you how
to reckon Time.

Lesson-7 Part 2. Avyaktam

UdmE: - 639 TGl 3gF ST, |
In the beginning, only "Sat", the Supreme Being
was there.
OEd - did did , 9d_ 3 Risd: ?
Grandpa, What is the meaning of
Supreme Being (here)?

fawE: - 9 3fd F9< Jaed @ i, |
dgl o , BS: g a1 HAY F ST, |
Sat, only pure conciousness, was present.

At that time, there was no space, time
or matter.

dgl FSE TN A, |

aq G GHY: A ad] aeaaeaEd 30
WG | I g TaERT 3T |

At that time, there was not even the perception
of time. When it was time for creation, the

desire arose in the Supreme Being.
| shall start creation.

UaHE: - dd: dd_ oTed® Iad. |



Then the Supreme (being) transformed itself
into the "Avyakta' form.

I - F® I [ ?
What is Avyaktam ?

o

UaE: - 6Tk 3d Id. 38 dd_ 3 Eqeadn
 fold T ad_ |

That cannot be clearly ascertained is called
Avyakta.

Iq gved: 28 g dd oFw |

That which can be perceived by the sensesis
called Vyaktam.

IoUHET dd_ EaeY 3gd: 9 g TaEd. |
qEAT_ oT6Th Iid M |

That form of the Supreme Being cannot be

perceived by any of the senses. So it is called
Avyaktam.

Lesson-7 Part-3 Creation

e - aid did , RGN 9 SfT=siy |
Grandfather, | don’t understand anything !
Ya™E: - [d8 8 , S F9] |
Wait Wait, hear patiently.
qOE ST |

Y ou will understand well (it will be clear)

[aE: - dd: W I @d: 3edh
ey VegEE I7E AEd InTEd. |

Then, the form prone to differentiation
began to manifest. Then the Avyakta
form of the Lord changed to the form
of Mahat.

I - HEd I R 2
What is Mahat ?

UaHE: - Hed 3d A AP a&g |



Trd HHSATCHA:

TR g8: Jaeaeyd Tad, 2fd &ad. |
Mahat is not any matter (which you see).
Mahat is the state of the Supreme

being before the creation of the Universe,

(referred to as the whole - yet to take
different forms).

dd: W dd_HeEd_ STEgN: 3Wed |
Then the Mahat form became the Supreme Ego.
HFEGR: AT ST, |
The Ahankara divided into three.
d Gl R RN |
They are Satvik Rgjasik and Tamasik
Ahankaras.

Ard, - ad: g 2
Thamasa means ?

Hame: - ad: 3d FaHER: |
Thamasis Darkness.
S AR d TRRET AEId |
Here, Darknessis not like the absence of Light.
W |, Sa-ad YE: SRR 99 FI9ard |
But it shows the near absence of Conciousness.

Lesson-7 Part 4 The five e ements

YaE: - AFHEENId, S-MIeE T
I |

From the Tamasa Ahankara emerged the five
prime elements by becoming gross (visibly big)

T - H N A 2
What are these elements ?
Uawe: - ST | ag: |, ool |, Ia%, O gRET |
Ether (Space) , Air, Fire, Water and the Earth.
JUTT SRR SEad, |
a¥q Asq: T IYIA: |
First emerged the element called Akasa or Ether.



Its quality is Sound.

dCHI]_ ATRRMG 919 AL |

From Ether(space) emerged Vayu or motion.
N S\ . o

o M g 0N | Feq: U9 T9Rl: 9 |

Vayu possesses two qualities. Sound and touch

(feeling)

Il O IPTEd, | ATl AT IOT: |

TS TR &Y T |

From Vayu came Tegjas. It has three qualities,

Sound, touch and Form.

dEATd_ 3T [T |

Iqhtd Fcdl: IOM: |

From it came Water. Water has four qualities.
FEAETRETET: | dd: JEl nfad. |

Sound, touch, form and taste are they.
Finally came the Earth.

e 9 IO SR Iz Fed):

O OF T AW T

It has five qualities. In addition to the above
four, the quality of smell.

Lesson 7, part-5
O, - Qe i &I ?

M ad oz ?

What are these elements ? Those which we see ?
fYamE: -4, T e |

No, these are subtle elements.

FGT TAle GErdld WER el e,

de1 RN TS IRUT Wefed dTie

X A~ o |

When these subtle elements combine with each
other, they become perceivable by us: the worldly
elements.

Td YRNUT SFHTH 229HH 22 SWid. enfad, |
In this manner the visible universe was formed.




Uame: - o™ Pl HeEE: |
Today we shall conclude with this.

O, - 3B GE9Eld 6 %9 gd: | =g
H: O SaAgIEd: IE. ?
Are you going to stop here ? How were the

Sun, Moon, Earth and the Devas, Humans
were created ?

I - AF, AGTPIGH g F IR 2
No No, How did the creation of humans and
animals take place ?

UaWE: - 3E oI [dor: Sad. |
gai eI T |
IR IR 3 |@d aa| |
It is quite late now. Y ou two go to sleep.
Another day | will tell you everything.

Lesson-7 Grammar: Part-1
This lesson has introduced many new concepts to
the student. Among these, the concept of sandhi

@ will be taken up for discussion now.
(Since this concept is very important, a separate
lesson is planned to provide additional details.
The presentation here will suffice to give the

student an idea of the formation of &fed: )

It isacommon practice in Sanskrit to present
combinations of words as a single word. What this
means is that in a sentence two or more words may
be written together as a single combination replacing
the original individual words. So what may be seen
asasingle word in a sentence could well be the
combination of of more than one word which could
well have been used independently in the sentence.

When words are combined, Vowels may combine
leading to Vowel combinations called & gled:

or consonants may combine leading to < qieH:,
Let us now look at some of the words used in the
|esson.



The word FQTUIHT'EI IS obtained as a combination
of TUI and 3T
Thus RO + AW = TIOEN
Other examples are:

d + 9. = A9
The word ITSTH[H_ means elephant faced and is
actually a combination of
TS+ A = TN
So one can see that aword ending with vowel 31 or 3T
and aword beginning with vowel 31 or 3T resultsin 3T
as the combination.

Thisistrue aso when the both the combining vowels
are3 . Look at an example:

BH + e = RAESH. or snow clad mountain.
The student may well ask at this point, how does

one find out if agiven word is actually a combination
of other words. That is, are these rules to separate out
agiven word into more words? The answer is that

one must have knowledge of the words forming the
sandhis, which comes only after periods of training

in the language. We shall therefore give only the rules
for combining words.

Combining consonants.
The word =94 is obtained by combining

ad_and 9=, Thisis an example of hal sandhi or
consonant combinations.

Here are afew more examples.

aa\ + '\larat_{ = ar‘c arat_-"

Y + oWad, = IMREd,

®FH o+ AW = FEW

The consonant sandhi are quite complicated and
we will not be able to deal with them in any detail
except to indicate some and show the manner in
which the sandhi isformed.

IESHS isthe combination of 2TEE. and .
In this case, when the consonants combine they
merely form a conjunct.



led + & = =%
likewise  WIERMU] (s ¥WIEd + JUI

qiedeag is HAd + dg
Let uslook at EFHT ST
Thisisacombination of 320 + W+ T
Note that the text combine 31 where as we have split
it as W, The rule for sandhi in this case says that when
the swaraT isfollowed by the long vowel =TT, the T
becomes 3TH_and I_becomes silent.
Thus 381 becomes 3/, Here 31 means first.

QH + W follows the same principle as mentioned
earlier and would become?@m\:l if not followed
by any word beginning with 1. ex. 389l ¥

When however the same T if followed by the short

vowel 31 | the 3 will become silent in the combined
word.

Ex: $EAY + 309 -> SEAUSHA,

Note that between 31 and ¥ aspecial symbol has
been written.

This symbol known asthe 31998 : (avagraha)
denotes that in the combination the swara 31

has been rendered silent but will appear when the
words are split and pronounced separately.

We have now seen afew examples of combinations
involving @ astheinitial or first vowel. If the second
word begins with a swara (vowel) different from =1 ,

theQ in the first word becomes 31 and the swarain
the second word isretained asit is.

When the swara in the second word is 37 it isrendered

silent but shown through the S avagraha symbol which
looks similar to the english letter s.

The student may keep in mind the fact that sandhis
involving @ asthe ending vowel in the first word



will in general changeto 31 .

More examples of sandhi.

T is Id + A

ACATT, isSd  + ATH,

IAE is A+ T

The coombinations of § and 31 resultsin 4.
Consider anew case.

El?[S%‘f: G + &T%f:

In this particular instance, the sandhi between #:

and ¥: takes the form Fs¥:. Thisis quite a
common case of sandhi involving the visarg.

Whenever a combination of a consonant with
Visarg occurs before a short 21, it will take the
form M. As explained earlier, the avagraha denotes
the silent 1 and when the combined word is

split the =T will come back to the second word.

At this point, the student will do well to remember
the different types of sandhis by memory, even
though there are rules expounded in the Vyakarana
of Panini asto how such sounds are derived. Itis
beyond the scope of this short course to go into

the finer details of the sandhis at this point. There
will be a separate |esson devoted to this topic.

Examples of combinations involving a change
of consonants.

o i+ o
e -
dad qq + @
aqry ad +

)

One may take it in general that the consonant d
ending aword followed by any vowel(short or long)
in the next word will transform into a <.

[T ﬁ%\ + %I isasingle consonant sandhi.
EEE] I +



The general ruleisto change @ or"\l ending a
second word to €@ , when the first word endsin
A or

N

HH + U4
dal +
qHe o+ U
General caution on sandhis.
Please note that splitting a word cannot be done
arbitrarily. It would require alot of reading and

practice and sizeable vocabulary on the part of
the student.

N\

For reference and aso to present the intricacies
of sandhis has been derived from the information
provided in the Sanskrit Reader prepared by the
Samskrit Education Society.

For this reason the student should not attempt to
split any word into constituent words, until his’her
understanding of the language is good and he/sheis
familiar with many roots from which words are
derived.

Lesson-7 Grammar: Part-2
1.Word repetitions:

g {8 , o%q °®q etc,

These repetitive words are frequent in Sanskrit
and other Indian languages as well. One finds
them used in conversations. There are generally
no rules about which words can repeat. Typically
when a person answers a question with asingle
word or commands one with a single word, such
repetitions are heard. It is common practice for
many Indians to retain thisin their converstions
in Englishtoo ! Y ou might find someone saying
wait wait, no no, good good etc. Amusing isit not ?
yesyes!

T8 means wait and S7d means alright or yes.

2.Negation of nouns.
It isto Sanskrit that most ancient languages have



their tradition of negating a noun by the additions
of ashort vowel 31 asaprefix.

ex: og<h¥_- clear, manifested, perceivable clearly
by the senses.

When 31 is added as a prefix the word becomes
SPPYwH_, - unclear

Other examples are:

Hcqq. - Truth MHcyHq. - Falsehood
AW - death SHWMY, - immortality

Now, when the noun begins with a Swara

(i.,evowel) the 31 prefix becomes 31d_.
These are some examples:

Sfed¥H_ - end, 3f-dHq_ - endless
ETte - Truth FJaH_ - fase

(note & isaswara)

SEUEE - heat IIWUH, - lack of heat

The reader’ s attention is drawn to the presence
of similar usage in the Romantic languages
and English aswell.

Theist atheist
ghostic agnostic
aerobic anaerobic
official unofficial
ending unending
A Word of Caution

The student is advised that he\she should remember
that the meaning of aword is negated with the

prefix 31 only when the word is anoun or adjective.
Any word beginning with 31 is not a negation of the

word without the 31. When 31 precedes averb, the
meaning may be different. The student isinformed
that most verbsin their ssmple past tense take the

prefix 31 . Thiswill be explained later in the course
of the lesson. We did see however in lesson 2 that

the prefix 3T (long vowel) will give the opposite



meaning of the verb asin the example:

goes comes
Tt A

takes along comes back with

For the beginner who is eager to speak Sanskrit as
quickly as possible, some of these discussions

may seem unimportant. Y et these points are given
primarily to reinforce the idea that many wordsin
Sanskrit are built from related words and in all cases
from fundamental roots.

Lesson-7 Grammar: Part-3

In this lesson, afew examples of what are known

aSHHMET: have been used. A GHTE: isbasicaly
a combination of two nouns, adjectives or nominal

stems. A detailed explanation of @HMET: is beyond
the scope of this on-line series of lessons. The
student is however introduced to the concept through
examples used in the lesson.

The word HEQEFI&®TH_ is a combination of two

nouns H&d_and ¥&E&9H_ . The components of the word
are in neuter and are in the nominative case.

Thisis an example of &gqHN: .

Consider the somewhat long word:
ATlcT RS RATHRES N

Thisisacombination of
Afca®d  EFN:  Teleh STRIR:
and dHEE SR/
When joined together, the three attributes of the

same houn TEgN: , which means self or ego, will
naturally become plural. so the ending becomes

T
Also note the @4 in the final part of the word



dHMHESN: . The word AW and STETNI:
combine into AHMIHESN:.

L et us see another example:

-

EATERE:  is 49 + U + STed:
This word means the Gods, the humans and

others. In the English language, one would probably
write this as gods, humans, etc.

Consider the word:

e ETRIETNET: Thiswill be identified as
eq: + Fqﬁ: + &Y: + {H:

Thisis another example of asamasa similar to

HEqEI&9H_explained earlier. Here four nouns
have been combined into a single word. However
note the difference in this example. The final

component noun ¥&: isending asT&@T: in plural.
Thisisthe indication that all the four nouns are
taken together.

In the previous example of AEJEI&YH, the
component H&d_was actually an adjective of the

noun ¥E&Y9H_ and so together they formed a
Nominative singular. In the present case however,
Teq:, TIRM:, &9: and W are distinct and
independent from each other. Collectively they
form oneword in plural.

Use of respectable form Ha=d: (WdT)

The student will note that the children when
addressing their grandfather, use the respectable
form of addressing a person. Thisis not really very
common. However most children in Indiawere
taught to use the respectable form with all elders.

So instead of saying <&, the child addresses the
grandfather as {41 .

Difference between ScaGIM and ScdTia:

Both words are used to signify the meaning of
etcetera (and so on, & others). However, unlikein



English the singular and plural are differentiated.
For instance, if one were using a string of singular
words such as

3d:, TST: ... then AT would be used to
signify etcetera. When used in the context of astring

of wordsin plural form like HST , gﬁ'im'ﬁT ......
then Scameti«l would be the correct usage.
gcdiqd: isthe adjective form.

Lesson-7 Grammar Part-4
Deriving nouns and adjectives from other nouns :

In Sanskrit, one can derive nouns and adjectives
from other nouns by dlightly transforming them.

Let uslook at
TH: Q@RI 9= |

Rama (is) Dasaratha’ s son.
We can say thisas:

TH: RE:
where SR denotes Dasaratha' s son.

Likewise
FEHUT: GEAE: T would become
SEH: TN

The student will observe that such derivations
generaly apply to the genitive case where a noun
Is derived to indicate something relating to or
derived from it.

In the Upanishads, one finds the name TRl (gargi).
This s derived from TWTEd.
TR T IMRT | Similarly in Kenopanishad one
seesBHad! which is derived from

fraa: i gwa
In our lesson, the terms Allcash: is derived from

the ®@cd which denotes a gentle or good quality.
An ahankara which partakes of the satvagunais



HTfcahlegg™: (note the sandhi).
Similarly words are derived from the qualities

G and dHY_ respectively.

Let uslook at some other interesting derivations.
RIA: means dog and T=¥H_means tail. Thus
RAA:Y=3H_meansdog’ stail. If aword is derived from

ZA:9=3H_then it would beil‘\lﬁzgw_zﬁq\_

Consider another example. The idea of a gedanken
experiment is from Einstein. It is a thought
experiment performed by the mind. Let us see
how we will derive the word for it in Sanskrit.

In Sanskrit, mind is ®AH, Any activity relating to

the mind may be termed ATHH_ and the gedanken
experiment may therefore be termed as

HEE 99 . 990 means an activity to achieve
something, typically areligious activity aimed
at the well being of the society.

Another example is AR, an activity ordained

by the Vedas. 2 means the vedas and Siid means
from the, of the, by the Vedas.

Lesson 7 Principles of Sandhi

This section deals with the basic rules of Sandhi.
When two words in Sanskrit are combined to form
one word, the rules specify the transformations that
must be applied depending on the vowel in the last
letter of the first word and the vowel in the first
letter of the second word.

Another section in this lesson deals with many
examples taken from the lesson itself. Given below
are the most important rules to be followed.

1, ERE:

Specifies the rules for combining short and long
vowels,



S+ A=31, A+AM=3T, +A=3, 3N+ A=3T
3+§=§,3+§=§,§+§=§,§+§=§

I+3=F, I+F=F, F+3I=F, F+HF=F
R+F="R

2. I

Rules to be applied when 1 /31T combine with
2,3,%F and =

HA+F=T , ;M+F=T , I;M+E=T , A+3=T

A+I=S0 , SM+I=3N , A+F=3 , F+F=3A

H+F=S , M+H=I , A+T=IF

3. gredfe:

Rules to be applied when 1 /31T combine with
N 2\

T U 3 and Al

A+T=U  Aq+T=T
A+AM=3 , AM=aW==T , M+ =a

4.909Fg:  Sandhi that resultsin g

T+A=T , T+;=TT , §+3=7 , T+F=7

3 U Y
T+E=F , T+T=T , T+U=Y , T+3M=A
$4+=T , 34U= , I4+3M=T , I+F=1
€+§E=5ﬁ , 3+'{=a’ , I+ A=Al , R=3=X
T+ A=T , H+U=Y

5. IFAEE Gled:
Specifies the rules for combining T ,\Q , N , S
with an 3T _.

T+ ST = 39
T+ oo = I
A o+ A’ = A
A+ I = A

We will include detailed discussions on Sandhi Rules



in a separate lesson. For the present, The above may
just be noted by the student.

Lesson 7 Past Tense

In this lesson we have introduced sentences. Some
sentences use verbs in the Past Tense. Past tense
refers to an action that has already taken place. In
the previous lessons we saw how some verbs
conjugate in the present tense through the addition
of appropriate suffixes to the root form of the verb.
In deriving the form of the Past tense of averb, a
similar procedure may be adopted, though the
derivation will involve both a prefix and a suufix
to the root form.

Let uslook at the conjugations of 9%
1.Present Tense

Singular Dual Plural
[l person 9 qéd: qafed
Il person Byl LR qoY
| person ST ECICE TSI
2.Past Tense

Singular Dual Plural
3rd person ST, &l CELTY
2nd person 39s: IS q&d
1st person 9 SRIC| IS

Let usrecall the suffixes added in the case of the
Present Tense.

Singular Dual Plural
3rdperson - i S 7 e
2nd person - s} K, P o
1st person - ™ B q:
Past Tense Singular Dual Plural
3rd person H----q_ -l -

2nd person H---- A---d A----d



1st person H----H_ AH--- ---H

The rule given above applies to many verbs used in normal
conversations.

Lesson 7 Exercise -1

Here are some questions from the lesson.
Answers are mostly found in the lesson itself.
So read the lesson again.

1. 99 3T HIsT: ?
2. I6TH T HIST: ?

3.7gd 3 & 2
4. 99 T(A USET TR INTE: 3
el 4t ?

5. FH AT TN ?
6. STHRET F: IOT: ?

Lesson 7 Exercise -2

In this lesson, we have introduced the compound
words formed through sandhis. It is useful for the
student to remember the simple rules to be applied
depending on the vowels and consonants at the end
and the beginning of the combining words. In the
sentences below the words to be combined are
indicated the underscore symbol. Try and form
compund words froms from the given words.

At the same time see if you can understand the
sentence as well.

1L9aq: 93 o e 9 9d oTg:
MSra@e g&ds |
2.8g U9 |F 3¢ IR I



Lesson-7 Exercise -3

1. Try and read the following sentences. They
contain some verbsin the past tense. Y ou
should be able to trandate the sentences as well.

a Ul foge SRS 32 Yaeue M. |

b. SfeFl UF (5] T <36T Nl edr. |

C. @G, a9 , | df &t T, SF
Idd G4 SRSl TE |

The sentences have used the past tense of the verb

AR in singular, dual aswell as plural.

2. Fill up the blanks in the following sentences with
the appropriate form of the verb, asin the sentences
above:

|
|
%

ARG —mmme \
7. FSEE: Hd ---mmv |
. W: 91%@4‘[3;: ______ |
9. IR TSI = AR
PGt ) — |

o



10. IISHI: oAE: T FEETEMEN: - |

[1. Change the following sentence into first person
and past tense.

Ex: @: T RN FR A, |

IE IAHE RIRRT W . |
1. Gl TIdle Rfcas R THEid. |

= =~

2. 91 a9 FR A |
3. foo : & TSy i, |
4, TV W: TS g8 ITaa, ST, |
5. 7 IAHHR HEhd qioaar, Eid. |

Lesson 7 Exercise -4

Change the following 3rd person singular sentences
in the past tense into 3rd person plural aswell as
second person singular.

ex: H: HE&hd IS |
T GERd e |
o HERd  AUS: |

1.9 FESH T3 |

TS - went
2. q%h: hd PG |
EEd._ - ate
3.9: 913 A |
I - led
4. F: TR a6, |
3EHd_ - lived
5. qNG: SIS AU, |
Y. - drank
2. Choose the appropriate word from those given in

parantheses to fill up the blanks. (you will also have
to use the appropriate conjugation).



(WIS, TTdd, T9zad. )

[a\aN

(SThied, AioEd, E=ad. )
gREZT - to the poor

Lesson 7 Exercise 5

Fill up the blanks in the following sentences.
(Choose the appropriate word from the following)

3®, o, 99, <@, gal, gd
1T GER AT, |
2 -mmnmm TR FT=oH



Il
Seeif you can write Ten simple sentences about

your childhood. Thelist of verbs given in section
will be more than adequate for you to form the
required sentences.



Lesson-8 Part 1 Mohan, usha and Grandfather

I AT |

I A 9 Uqme gid ITear ded: |

It is Saturday. Usha and Mohan approach their
grandfather and ask him.

I, Alee- a1d ;e |
I g8 T=eW: a1 ?
Grandfather, tomorrow is Sunday.
Shall we go and watch a movie?

aE: -AA | Wed FHABICAGT T™: |
No, no. Instead let us go to the Kamakshi
temple.

3, - FUA TSEA g8 T TS |
. — . r‘\c . gg ha¥ . @_ |
Please let us go only to see the movie.
We will take you to see the movie only.

qwE: - 3 | ga 7 T A 7
qARAA, 18 qXEE Iid R STaga g 2
Hey, don’t you remember what you said in
the last lesson, about the television program?
Id GG |
That | will not go to see that singing and
dancing.

I - Wad: AGHI fo= qa,

i el SUARE: ARG |

Even without your permission, we have
reserved three seats.

o €I TS e qW 2 TETANTH, |

What would be the name of the movie?......
M ahabharatam !

Lesson-8 Part 2 Scene at Home



o\
e
:

N T FEMNE A TS
TRl T cAnT=a |

Scene after the three have watched the film and
returned home.

qre. -

IR | Fid AHERN: AR THRH AST |
Oh! how many heros ans heroines in one movie!
AT NERET J1d § 98 FE Med |

It isdifficult for me to understand (know)

their relationships.

I SRISRA |
But of course | am eager to see the dark blue
Krishna and his (divine) actions.

[HEMY A= |
May be so, but | cannot understand their
relationships even now.

ad | 9ad dEd , FIsT IRE:

quUg: A ?

Grandfather! Please tell who that fair skinned
(almost white skinned) person called Pandu.

Fe OET IR Heae: ?
What is his relationship with the blind person?

T Y uF ug |

Same here. (means: | too have the same question)
o UdmE: 3 ° o oTg: , 9 aeda:

A HEF, 9 T |

The one whom they called grandfather, appeared
really radiant and great.

IR | oM |, N AT T TR
I 3T, ?

Oh! Amazing ! Did Duryodhanareally have
ninetynine brothers?



awE: - YU , T gd: =, Tegak
Id 9 R
Listen, if you pester me like this | cannot
answer.

I qEd_ FEMRGHRYT U9 Uiy |
R FHNGUUEEE FHIdd HIATH |
| will now tell you the story of the

M ahabharata.

Today | will tell you upto the birth of the
Kauravas and Pandavas.

Lesson 8 Part 3:
Pandavas and Kauravas

TEEE - Sunday
N e :@@\.\u\_‘ﬂl
dq AY: QAT AM™E |

Shantanu (was) the king of the Soma
(Lunar) dynasty. He had three sons.

SRSl el e W 9o enYad,
gogacal Tgdamt Sipio)| ﬁ\l Eﬁﬁ |
fAREdE: 9 FEEed |

Through his first Consort Ganga, he had a son
called Bhishma. From the second wife

Satyavati he had two sons, Vichitraveerya
and Chitrangada.

fiee 9 99 dadd: 3 ST, |
Bhishma was earlier known as Devavrata.

I o STTiee FeEddd gd |, ddl aed a9
IeH g 9WE Shfad. |

When he took avow of celebacy for hisentire
life, he became famous and his name Bhishma.

qed UF FEEE T T ST |
ffeEEt ety Qe

U9 WRRAT edl GeTa: |

During his childhood itself, Chitrangada was

killed by a Gandharva (Semidivine being).
Vichitraveeryatoo died in his youth




due to disease.
e WA 99 gl F9: T IRTE, |
A AT FHHOT JAY: q0G: UF WGl |

He had three sons from his two wives and a maid.
Their names were Dhritrashtra, Pandu and Vidura

respectively.

A A PR

isHOT @ Heed: ?
Mohan, tell the relationship between
Vichitraveerya and Bhishma.

TGS 9T |

Step brother.

FETEe: AREdEe g |

Chtrangada was the brother of Vichitraveerya.

~ TN =
:-3Y |9 g T

EIEEEICUIE TR CoS B Il

Usha, you tell, what is the relationship between
Pandu and Vichitraveerya.

Ot = 9= |

Father and Son.

s odd: HISH: L ?

Then Bhishma....... ?

ivH: qUel: SEhged: |
Bhishmawas Pandu’ s Father’ s elder brother

(Uncle. Note the specific reference to
father’ s elder brother)

N N ~
P -qIUel: g A e |

Fedl |G T |

Pandu had two wives. Kunthi and Madri.
Fedl WEQ: e fage
(crerer) ST, |

Kunthi was Lord SriKrishna' s father’ s sister
(Aunt).



S AgeRt TeTRe S |

Madri was the princess of the kingdom of Madra.
qEqN A Fed: A Tl T |

She also had a brother by name Salya.

HEaRl: dael WNASaNd aod [aniRl

T G AR |

In those days, Madradesa was a kingdom in the
northwest of Bharat (part of present day
Afghanistaan).

Lesson 8 Part 4

UamE: - JEAId Jeg: SAgfd 3
M, aEHTd_ 9:
R NG A T, |
Since Dhritarashtra was congenitally blind, he
could not ascend the throne.

ad: 9Ug: ERa-TIEd Tl ad, |
So Pandu became the king of Hastinapura.

BRI FEUHGIRET TSl T, |

Hastinapuri was the capital of the
KuruPanchala Desa.

quUer: 99 AT ST |

Pandu had five sons.

Tq: Frcdl, W3 & HEA A |

Three from Kunthi and two from Madri.
TSR qI0g;: FTeHT gd: I, |
Soon after the birth of his sons, Pandu died.
dgHl AIGl T 9l | feEar |

Then Madri entered the funeral pyre along with
her husband.

A TRl 3d AT e, TR Jdl T |
Dhritarashtra had a hundred sons and a daughter
through Gandhari.

YamTE: - SY 9g , TGl Fecdl: Hid TAT:



AE_ 2% T ?
Usha, now tell, how many sons did Kunthi have?
Who are they?

TG, G | e | A |
Three, Y udhishtira, Bhimasena and Arjuna

t - Hige , SITRT a1 Higan: gt

(e el aN

gl M fRHd ?
Mohan, do you know what the names of the
two sons of Madri are?

~ =
AR - Th: AFS: |, 99 Tged: |

One was Nakula and the other Sahadeva.

o ~ =
UameE: - J@l: &: Sg: ?

Who was elder among them?

A - F 23 TS TG ?

How ? They were twins (were' nt they?)

amE: - EFa% , QST TFa] S

Good, Even then Nakula was the elder.

(It appears that there was a system of ranking
twins too as elder and younger. What would be of
interest here is to know that the one born first
will be the younger! The concept is that the one
born second has spent more time in his mother’s
womb.)

JOUEE Y F: L ?

Well, who was the elder among the sons

of Dhritarashtra?

~ =
qr , 3 - gaEae: |

Suyodhana.

3fd 9 eEe |
Y es, on account of the wickedness seenin him,
he was called Duryodhana.



GAGH! F TRl i, ?

Who was the sister of the Duryodhana brothers?

-

O - gl |
Dussda

UamE: - Ahmeg: FEg T A ?
Whose grandson was Abhimanyu?

Al - S UamE: 9 |
Abhimanyu’ s grandfather was Pandu.

N
I - A A A A QA

9A: & ?
Grandfather! if one’s son’s soniscalled poutra,
then who is one' s daughter’ s son ?

o

fame: -39a: 94 | d SR 2d agied |
Good question. He is called douhitra.
g g T A qiesl waid |

If it is daughter’ s daughter, then sheis called
douhitree.

Lesson 8 Part-5

UdHE: - %: STETd GRd: AaNeed
qawE! A ?
Who remembers (knows) who was the maternal
grandmother of Parikshit Mahargja ?

I, A - 3Tl F A |

Wed |, T AENST &6 T3¢ ?
We do not know butWhose son was
Parikshit Mahargja?

YamE: - &: TR O |
He was Abhimanyu’ s son.

ha¥ o hnY <
3T, A - THHAAT: HET &l ?



Who was Abhimanyu’ s wife?

amE: - ST W gUeaUSTIs I
A | g, o 9 geeTH |
Abhimanyu’ s wife was Uttara, the princess of
(kingdom of) Drupada. OK, let me ask
another question.
AN T8 ;s F: Hawd: ?
What is the relationship between Sakuni and
Duryodhana?

O - A1 dS: |
Uncle (Mother’ s brother)

UaHE: - quedl Yauged &: gaed: ?
What is the relationship between Dhritarashtra
and the Pandavas?

3N - G: qUeAEl Hged: @F |
Paternal Uncle of the Pandavas.

YawE: -9 | dle dqd HraHga:
Mg: ®: daed: ?
Correct. Then tell what isthe relationship
between Kunthi and Madri?

I - Y |

Wives of the same person.

fYam™E: - qHNE IO, |
UGNl e T
&l Heaadl |
Correct answer. Shantanu was the grandfather
of Pandu and Dhritarashtra, and their
grandmother Satyavati.
Al Fee: & ST, O qwg:
SiTan: TN Feol o A |
Draupadi was the daughter in law of Kunthi
and Pandu was Draupadi’ s father in law. Kunthi



was the mother in law.

AFE: JaUged T5: |

Sakuni was Dhritarashtra s brother in law.
JaIg: TPel: RIS |

Dhritarashtra was Sakuni’s sister’ s husband.
(Brother in law)

AN TEel: AREE: |

Duryodhana was Sakuni’ s nephew (sister’s son).
FAT T @G | TR SRR 3 Tom: |

AT : |
Story was interesting wasn't it? Will follow it up
another day. Good night.

Grammar for Lesson-8

Part-1

YlciTed - 9 is used here like the English preposition
"towards'. However hereit isaprefix and not an
independent word.

qid may also be used like a preposition in
Sanskrit. In such cases it will have different
meanings like

"about" or "in connection with"

Unlike the perposition in English which iswritten

before the noun, 9 is written followi ng the
noun. When written like this, the noun which

occurs before 9 should be expressed in the
Accusative case (TGl =¥h:). Clearly this
difference in use must be remembered. In lighter

vein, should we call this a"postposition” rather
than a " preposition”?

Here are some examples of the use of qid
q: TR Uid TS

He is going towards his house or just

He goes home.



Uid is used after &

Here is another example.

M i AT Heoy % oEed, ?

What did Max Muller say about the Vedas?

There is something else about 9 which should
be kept in mind.

qid may also be used as prefix to averb, typicaly
atrangitive verb such as =& (averb of motion).
Thus FiceT=aTd will mean "goes towards”

qid may also be used as a prefix to anoun asin

Yidieq. which means "everyday".
Thus, when you see Iid its meani ng will depend on
the context.

Isit used after anoun?
Isit aprefix to averb?
Isit a prefix to anoun?

later in the lesson, you will read about

AT and JegAEH,
While on the use of 9id, we might bring the reader’s
attention to afamous and important verse

WWWWJIQIHW
Haaaauwr{ F2E Tl TS

We will discuss the meaning of this beautiful verse
in one of the later lessons.

Lesson-8 Grammar Part-2

aeH. , %?1@:[\ - These are g words. The concept of
ddd. wasintroduced in Lesson-6

q SARTHSATH - literally * 1 will not come
In the context of thislesson, it should be
taken to mean | will not go to see the
movie' or simply ’| shall not come’.



e Td - even without

@Er - without.
Please remember that the noun against which

&= is used should be in the second case.
i.e., Accusative case (f&diaT TaHTh:)

qi=t - Normally means two grandsons (Feaae).
There are some special conventions used in
describing grandchildren. When both are of
the same gender, the form depends on the
gender.

Ex., T - two male grandchildren

q=4t - two grand daughters
However in dual or plural, even if one of the
grandchildren is male, the male form is used to
refer to the two grandchildren. This appliesto
groups of people aswell. Krishna and his Gopis

(Gopika ladies) will be referred to asd (m) and
not asdr: (f).

@%H?I\ - Thisisthe seventh case of the pronoun T:
meaning "in a" or "in one"

A9 - Their (m) Sixth case plura

TiozamaY. - Adjective used to describe Lord krishna
(his colour). It means dark blue. i -Blue

IMHAH_- dark. Note however the order of the
coloursin the expression.

dad - even then

HIST - F: + & A example of a Sandhi

Gd W9 - Both areindeclinables. These may be used
independently too. When used together they
mean it is so’

HH 1Y U§ U9 - Hereit means’| too fed the same' .

aSTEl - A person with divine radiance.

a&dd: - actualy, realy, infact
thisword is an indeclinable.

<

JUIEMH - means describe, used in first person here.

HEqUeaEi - Example of aSamasam. Thisisa
compound of two nouns. It means’ of Kauravas and
Pandavas’ . The samasam is used in the dual form



as the compound noun is formed to describe two
groups of people and not a group consisting of
Kauravas and Pandavas. Hence the plural form

FNFAUAHT is used. When we examineit,

the dual form does seem appropriate. Now if the
grandfather were intending to refer to the

Pandavas and Kauravas independently, the sentence
would go like,

3T RGN qUeaEl 4 FeHTHed AT |

Lesson8: Grammar Part-3

S*RYE=aH_ - Upto the birth

Theword is aso an indeclinable.

Tded which denotes "upto” or "till"

Is added to nounsto indicate an event in time.
It may also be used in this fashion to describe
"upto a physcial boundary"

Examples;

FISTd - Upto the duration

Afeaquded - Till the last (of one'slife)
Idud~d - Till theend

dmded - Upto the border

qrad_ ( T ) - Upto any amount of Time, or as

much time. A itself meanstill
the end.

qs - Consort , used in the sense of King's wife

TSTie=_ - Aslong as one lives
<

S&l=ddd - vow of celebacy

WS - meansa person whom people approach
with caution or fear.
(In the sense of not being able to find a person of
match in respect of the great qualities of the person).
In this case, he has taken avow, afearful one that can
be fulfilled only on account of extraordinary
courage.

SHUT - respectively or in the order
quUel: - of Pandu
faF=rEr - from or by Vichtraveerya



FIFUET - SriKrishna's
naﬁsﬁm - of MadraDesa

All the above four words, reflect the use of nouns
in different fEnTih:

IEHT_ - dEHId. - two wordsused asapair. Usage is

similar to Idd_- dldd_
JEHTd. means "since” or "because”’ and dEHId

means "as a consequence”. Here is an example
of a sentence using this pair.

TN s ashetle; TRd | JEHTd Wa, Tad.
HEFAIE Iied TRl

Sincethe internet is there, you are able to read this
Sanskrit lesson.

TR, A compound noun built up of

fasa: world, "9 communicati on, STISH_ net
Based on the ending word, the compound noun
becomes neuter.

W{l% - Congenitally, i.e., from birth

Theword ‘;D{'IT\-I can be added to any process
from any point. It means from then on. Some
examples,

< o

qdedAHId - from the time of the accident

)

qﬁarqqi%[ - from the time of the examination

FaERIcIHId - from the time of marriage

QAT - After the birth of the children. Thisisa

compund word from 33 , S99 and 3TF+aX
=R isan indeclinable.

IR may be added as a suffix just as I
feamEE=ae]. meaning after the marriage

THS - twins
RIS - the consort of the King of BRI (3.

A compound word formed from e | T
and ATES



oo

[dHIh: - Case
It is assumed that the reader has reached this point
after reading the introduction to the "cases".

Case declensions for a noun are obtained by adding
different suffixes to the basic form of the noun.
The suffix will be different based on the case,
gender and number of the noun.

Theword TH: isthe word representative of
most masculine nouns in Sanskrit which end in

the vowel 31 . This coupled with the fact that the

name TH: has a special significance for people
in India, is the reason why most Primers for

Sanskrit start with TH: for illustrating the
declensions.

Case form of the noun

© N OO 0k~ 0D

<
g {H !

Thus knowing the declensions for TH: will help the
student identify the case declensions for many many

nouns which are masculine and end with 31 .

Now let us see the declensions for afeminine noun

endingin 3 , T

Case Form of the noun
1. iy

2. gLy

3. T

4, MY



4

© N o O

1%

The two examples do illustrate the concept that
suffixes are added to the noun to get at the declensions.

Now, we shall see exmples of sentences which have
nouns in different cases. The same noun is used in
al the sentences. The noun chosen for this purpose

iIs3T: or horse. Thisis amasculine noun similar
to TH: and you will seethe rules applied asin the
case of TH: .

Case 1. The Nominative case

3g: fa8id - Thehorseis standing
3: 9Ed - The horseis running

In bothe cases, 314 isthe subject of the
sentence and is hence given in its basic form
as the nominative case.

The name for the nominative case in Sanskrit is
JUT fRR: , FAT meaning first and TEie:

meaning case. Thereis also a name for this case
given according to Sanskrit Grammar. Thisis

[N [N
known as &k dH<h: .

Case 2. The Accusative case.

geY: 3% AN | The man ascends the horse
geY: 7% dredid | The man beats the horse

In these sentences, the horse forms the direct object

of the verbs TRT&Td and dredid . Hence the usein
the Accusative case. The second caseisusualy

referred to as Tgaan @¥fh: though it does have



(NN o\
another name , ®RHTEHTR: .

Case 3. The Instrumental case.

T: A T IS |

The man goes home by horse

TS % a9 TTesid |

The King goes to the forest on horse.

In these examples, the meaning conveyed by the
case declension is"by" or "through". The third

case in Sanskrit is known as BIdET [@¥fh: . Its
other name is &I fT™RR: .

It may be noted that the declension hereis SR
though the student might expect it to be Y as

per the declensions of TM: . This need not confuse
the student, for according to other grammar rules of

Sanskrit, theuse of 9 or 9T will be prescribed
based on the consonants present in the noun.

Case 4. The Dative case.

q: I O TS |

He gives grass to the horse (to eat)

q: AFE [Fd Hee €GRI g3 |
Heis asking Rs. 20,000 for the horse.

In the Dative case, the meaning conveyed is
"for" or "to" . The Dative case is known as

Iqelt fonTie: or @¥9EE foniie:

Case 5. The Ablative case

AT [ ST |

She falls down from the horse.

T T Hed ST, |

The elephant is more expensive than the horse.
The statement in Sanskrit when interpreted



literally, means that the price of the elephant
Is higher than that of the horse. The meaning
conveyed by thiscaseis"from" or "than"
I.e., comparisons. This case also is used to
convey the meaning "because of".

Aaead_ YGg: SnTad , Wi Fsard. |
Achilles became famous because of the horse
Pegasus.

Thefifth case is known as
gl [EVh: or IR [EWk: .

Case 6. The possessive case.

1%GEg Jui: ®: > What isthe colour of the horse?
9T 9id: &: > Who isthe owner of the horse?

Inthiscase or 8t e | the meaning is that of the
Genitive casein Englishi.e., "of" or "belonging to"

etc.. This case is aso known as @+ {a¥h: |

Case 7. The Locative case

N TS ARG | Inthe horseis strength.

Iy W YR | The man sits on the horse.
TEed STUE: AW R AT (IR |

Indra has aliking for the horse called Uchchaisravas.
The seventh case is known as@aH! {T9TE:. Its
other name i's STTIEFRTT {¥RE:

Case 8. The vocative case.

The last case is known as GFTIAYAT e,
It is generally not referred to by its expected name

ATH AR |
-

g I, MY TS |
Oh horse! go fast.

The examples given above are meant to introduce the



basic idea behind the foRE: . The person learning
Sanskrit is expected to know the declensions for many
many nouns. Practice will be required. In the following

sections we will go into the details of each feih: and
see several examples of nounsin different genders and
nouns.

In the following sections we will provide
different examples of declensions of nouns.
Each case is discussed individually with
additional information relating to special
forms.

Casel. The Nominative case.

Rule: The subject of averb isin the Nominative
case.

The noun isdeclined in al the three numbers
(FFTE).

Masculine nouns ending in 31

T T T
F: el o
T JE| T
T T T

General Rule: All masculine nouns ending in 21
will decline as above in the Nominative case.

Feminine Nouns ending in =

IR frd e
T ™ T
oadl 8_?[ &dl:

General Rule: All feminine nouns ending in 31T
will decline as above in the Nominative case.

Neuter nounsending in 31 . Please note that



the anuswar is not to be reckoned in fixing the
ending vowel.

[N

Tk b FHT
. N N~
T EE STt

- =\ o\
o= B gAY

(As mentioned earlier in the declensions of 314,

the suffix < or 9T will be used depending on
other grammar rules). Most Neuter nouns ending

in 31 will decline as above.

Here are some examples of use of nounsin the
Nominative case.

TS Fed:
diar 9=
\ N\ f'\-

T4 95y

d @igled

* o fagid ?
Observe that the verb is also declined based on the
case of the noun. Thusthereis consistency in a
sentence between the declensions of the noun and
the verb. It will be helpful to remember the ssmple

rule, that both the noun and the verb should be
consistent with each other.

Lesson-9 Cases
Case-2 The Accusative Case

The direct object of the verb in asentenceisin the
Accusative case.

Declensions.

Masculine nouns ending in 31

(T:) T @ e
() ™ T T



(&&a) g gedl g

(F8) T R
Asageneral rule, al masculine nouns ending in 31
will decline as above in the Accusative case.

Feminine nouns ending in 3T

(&) gl dd
(@) W ™ T
() sdi  Fdt @

Asagenera rule, al Feminine nouns ending in 3T
will decline as above in the Accusative case.

Neuter nouns ending in 31

(%) . TS AT
(=) EEE-§ EE| ST
( IEa® ) qEd qEd QeI
(W) T, | T

Asageneral rule, al neuter nouns ending in 31

will decline as above.
Also, Neuter nouns will have the same declensions
in the Nominative and Accusative cases.

Now for the declensions of the personal pronouns

w® oW o, A T,
o cat, <l gdl, a THE , T
q: d a a

|l ai d an:

ad, dq d SIIE]

S0 | THH,

o e T

= G ) AT

w: et T,

W w At T,

| I T T



qwr oA T T
Wd,  d, T T
% % l H,
e i & il
B R 3 e

Please note that for some of the personal pronouns
two different forms are indicated. Thisis not an
inconsistency.

Here are some examples of sentenses using the
Accusative,

DN . [aN . .
Si|l: @9 dH-d | people are offering salutations
to the deity

TN 9 WEid | The elephant is drinking the water
d Mg T=Ad | They are seeing the horses

cd MMM WA | You areoffering salutations to
the teacher

€ M 9™ | | am viewing the picture

Observation:
These simple sentences are ordered as
(noun) (direct object) (verb)

which ordering is different from the familiar ordering
in English whichis

(noun) (verb) (direct object)

In Sanskrit and many other Indian languages, the
verb often gets placed at the end. Some European
languages also have this structure (German).

Note however, the sentence in Sanskrit will

make perfect sense even if the ordering is changed

eg., ©d AHY AEEH. |

Some questions which use the noun in the
Accusdative.

o3 9ra: & 98 ?
ql F FHd



9: & a9 94 ?

Indeclinables which go with the Accusative

There are some indeclinables which must be
used with the accompanying nounsin the
Accusative. These are

gfd - towards {41 - without

ddd: - Allaround 3¥Ed: - on both sides
Examples:

IET: Geash &1 TBled |

The students are going without the books.
I TS A TS |

| am going to (towards) the school.
g SWTd: e ied |

There are trees on both sides of the school.
ST qaa: TIeT |

There are children all around the garden.
Special Note:

What about sentences which have two direct objects?
In Sanskrit it is known that there are 32 verbs which
can take two objects in the same sentence. We give
below afew.

9B - cooks
Ul - punishes
=3I - asks

T - takesalong
&0 - takes away by force ( steals)

Example sentences.

q qUGSH, AgH T |

He cooksrice as food.

dqugald_and a?@:r are both in the Accusative.

T9: & A U |

The King finesthe thief a hundred (units of currency)



q: AUEE G ISl |
He asks the student the way.
d T TR ied |

They take the sheep home.

There are some questions in the exercises section
relating to the Accusative case. Y ou must try and
answer them.

BrdEr @Re: Case -3 Instrumental case

The instrumental case involves the form of the noun
which provides answers to questions invovling
phrases such as

with what? by which ? aong with what or whom?

Here are the examples of declensions.

Masculine nouns ending in =1
qH: O QERET
T TeE IR,
§6d:  &6dd SN,

TH: PO AR :

<\
<\

2

Masculine nouns ending in §

gR:  gRum g, ZRAT:

Masculine nouns ending in 3
5[‘1: (3 'y 3 f\:

o\

S G CINNCIE I | arg:

What is given above is representative of the declensions
of masculine nouns in different ending vowels. Given
below are some more nouns which decline as above.

Masc. 1 SH&: - father TM9T%: - Cowherd



FE?: - Sun

q13: - boy
Masc. § [T - treasure

fE: - mountain

RIR: - mountain
Masc. 3 9: - boss

iflﬂz - bridge

Q@RI: - axe

Now for feminine nouns.

Feminine nouns ending in 3T

A - horse
daMUT: - Arrow
AfAr: - guest
qRT: - heap
e{l: - sound
dig - hand

3!0@ - Bamboo flute

ded: - manuscript

Mal AR anaE dfarhr:
"1 @S T, T

Sl BIAE SANGH, ST
qST ASEl S, TSI :

Feminine nouns ending in §
qd Weaw "l qian:
GG I (G GIGIEE

Feminine nouns ending in 3

s EGE o G 0 0 R
o 9gA =g TGN

Other examples of Feminine nouns.

Fem. 3T fa=l - education qiET - journey
far - deep Flezl - moon
@& - line W - light

Fem. M - tinsel T - moral
i - fear M6 - strength

Asagenera rule, the declensions given above are
representative of declensions of feminine nouns ending
in the specified vowels.

Now for Neuter nouns.



Neuter nouns ending in 31

S Fod TSI T3
EE S el BRI EER
qEdE JEaa qETERNAE, g
CERE L T IR, Lk
Neuter nouns ending in ¥

QR GIROM TR aIRAT:

Neuter nouns ending in 3

7y WA EEH qgh:

e aEqAl  aEdEET TEI:

Other neuter nouns
Neut.

91 - lotus 93U - town
O - truth W - food
q&H. - oil F&H_ - strength

Let us now list the declensions for the personal
pronouns

IE Al AR AT
a b SIE10: a:

Al a R, GIITE
. o e, a:
3{Y 31?1?[ SFH q&[:
R I MR, 3RT:
€ o EUSILN qfir:
W O T Gk
SR AR, RSURE
% e FAH, *:

A G| EALeole- g HIRT:
& 3 FIATH, %

Try and get the patterns to memory. The student



would have no doubt discerned some patterns
aready.

L et us see some exampl e sentences.

ST T g et |
people worship with flowers the deity.

L et us note here that the same sentence is sometimes
written as " people worship the deity with flowers".
The second form is ambiguous however, asit does
not explicitly state if

it iswith flowers that the deity is worshipped
or
(the deity with flowers) is worshipped.

Sanskrit is quite flexible on the ordering of the words.

qOld: W TS |

The king travels by his chariot.

@ g foae |

Y ou write with your hands.

SATEHRNOR_ qTUTT Hadq, |

Grammar was formulated by Panini

N aEdnl 9@ [Efd |

The thirsty person drinks water with both hands

For those who are used to drinking water from a

cup or afountain, the use of hands might cause some
amusement. Drinking from one's own hand, by cupping
the palm and let the fountain flow through it into one's
mouth is an age old custom in India. It isclean, simple
and does not require any dish washing ot throw away
plastic!

Now for afew questions.

Sl % g9 geEied 2 (See answer above)
SR el FidH ?

od &Rl WY 2 - With what do you walk?
I qEendl T | | walk with my (two) feet.,



Note the use of the nounin "Dual". We mentioned
before that the dual form is used with things which
exist in nature as two like two eyes, two hands etc..

Now, if you must say that the elephant walks with
its legs, you would not use the dual form but the
plural since the elephant has four legs. So it will be,

TS g W |

Special note:

Asin english, where prepositional phrases are used
to decline the noun in the instrumental case, afew
Sanskrit words are also used along with nouns to
give the meaning of "along with". The indeclinables

98 and 9% are used with nouns to give the same
meaning. However, they come after the noun asin,

SEHI: THOT T 9 TS |

L akshmana goes with Ramato the forest.

9 BRI @8 o FEnd |

| live here with my friend.

q TS TN G T oINTESld |

They come here with fruits and flowers.

(@ is used with Neuter nouns)

qM&H: UM TE AU =30 |

The students goes to the shop with the teacher.

Similar to @& , the indeclinables {1 and 3.
also go along with the noun in case 3.

YU Siod e | shafed |

Living beings cannot (do not) live without water.

If your stomach is full with ameal, you can say,

Aieiee @9 ! (I have had )Enough food!

Would you ever want to say



o ha¥
HERAA TS ?
Certainly not of course, if you want to continue
the lessons!

Of course, thisis getting to be alittle prolonged.
We must go over to the next case.

Before that, be sure to ook at the section on exercises
and answer the questions given there.

Case-4, the Dativ case.

This case relates to the meanings such as

“for whom", "regarding"”, " for the sake of",
"In connection with" etc..

Declensions:

Masculine nouns ending in 21

[H: A TETT. o

T T T, T

g g EEAT I, T
W g e, CRISE

Other masculine nouns which decline as above,
IMEN: - food RTA: - Student 9u49: - Bull
93: - Son “aaz - Deity

Feminine nouns ending in 3T

frar dan darar, diara:
s I TR T
s @A™ SANIR Sang:

Neuter nouns ending in 31

R FSH FAVITH FSY:

= . = = e

o= = AR EEEE
qea®s  IEaE™ R, ey :

Nounssuch asd , & , @33 - water

SIS - water TSF - Kingdom will also
decline as above.



Other examples:

Masc. g

gR: & ERT g
Alg: o A, Ao
Masc. 3

I A D, -
T W EERSIL N T
Ry e g, R
Feminine

O A iR, qfeng:
Fh R TR TR
Feminine3S

S EE 1Y Eot
Neuter g

R T AT g
Neuter 3

g W A, AL

The declensions of the personal pronounsin
the Dativ case.

w® " amangi At S G
<  gEd gangt At Rt CE
q: el ansi g

Sl = a3t ang:
ad. 3 anei T

T 3 e T

| = et A

%3 = s g

N At T
el e AT TR
W, At T

% T Frg g

Cal S e FRY:

o = Cats i Y



Now for examples of sentences with nounsin the
Dative case.

BET: AENE T B |

Students go home for food.

ATel: STENE SEd |

The beggar roams around for food.

6 RS dcd SURANd |

The teacher expounds the principle for the (sake of)
student.

FIH: gNE ¥ TS |

The farmer gives fodder to two bulls.

@ ARl &K e |

Y ou bring milk for two guests.

IE R U A

| bring grass for two cows.

It isinteresting to observe that the word for "grass'
In Sanskrit is¥MEH_ .

Te¥d: dH: | Obeisanseto the teachers.

F: d | Sautationsto you
According to the grammar rules and Sandhi,

N =~
aH: d becomesdHE] !

Special note:
H: isan indeclinable. When you use it as such

the noun will bein Dativ. However 9H isaso
the root for averb. When using the verb the person
will be referred to in the second case.

IE Iee] THETH | | offer salutations to the Guru.

But, there are some verbs which when used will
have the accompanying noun in Dativ only!

~ (a\ =
Iq: TR FEM ToBhed |
Ul O™ A |

qSH: Fieawd TYadid |

Some gquestions and answers involving nouns
in the Dativ.



o FRRY 9 gEE
IoqIOT fREe > g geTr |

a9 Tc: FEH 2 HH YO G |
FER FEH TN ? 6 IR |
THE & T ? TFE TS 94 |
o 9T Wald ? 9RUrel 9™ Wi |

Please attempt the exercises before reading
further.

Case-5 The Ablative case.

The ablative case is used in genera to effect a
comparison or indicate an effect of separation from
the noun.

The Ablative caseis known as T&HI faith:
Declensions:
Masculine nouns ending in 31

TH THT AT T
™ T, Tt T
ged  ged|. SNl EE:
G TRT TR
W T e o
Masc. §

IO S i qfeng:
gR: &G gt g g:

The nouns T BT'I?\;Z: quuTe: TR SAAR: [FIR
will decline in the same fashion as above

Masc. 3
e IR IR
qg:  gE: gt I

Feminine nouns ending in 3T



diar giaMn: Hiani Hiang:

)| T Lt | Y
&l SLIRIE RIp|| AN
Feminine g

qafa: "G i Qi
a9 et e

The nouns aM®: Hifd: Jie: Hifd: Jh: Hil:

will decline in the same fashion as J#:

Feminine3

= N = . N

Ug: EEn BEE| O

wg: == e | T

Neuter nouns ending in 31

TS RO Fen TS

= S N . e

EEBE P i EEN| EEEF
. haN

qEdd eI, qEqRnAl e

= EEIC] =Rl =g

Neuter

R AN aTR IR

Neuter 3

wg A T LR

ged  aedn: Fegvat TEqH:

Example sentences.
FET: Wifd: S | From the enemy arises fear.

AT FERe R | (He) learns good behaviour
from good people.

ol: 9Uf qaid | The leaf falls from the tree.
ﬁﬁz FFﬁ ‘SIEIEI%I | From the mountain flows theriver.
TN: fa=n S | (He) learns from the preceptor

In the following sentences the process of one thing
getting separated from the other is very clear.

ECANTl JEaHI ddied |
The books drop from the hands.
GIRECRIRECR G Ol

They descend from the mountain




TN o T |

Tear rolls down from the eyes.
BET: JEASET: ST |
Students return from school.

The following sentences are examples of situations
where one entity is differentiated from another.

dR @HgTd S, | The shoreis higher than the sea.
dSFET: H4Td_ 3T<9: | The pond issmaller than the sea.
RAed: IFng: FTRE: Jed: |

Himalayaistaller than other mountains.

Other situations where the Ablative case applies.

When averb in a sentence implies that some one
Is scared or someone is saving (protecting), the
concerned noun will bein the Ablative.

T A T CIed |

Kings protect the kingdom from the enemies.

Udg: ogmyd, & A |

The cow fears from the Tiger.

IR TE: TS

The brave person does not fear (from) the enemy.
EDt %I'JTIF[\ qSH A |

The physician saves the boy from disease.

In situations where the verb is associated with meanings
uch as

disgust, resting from, deviating (or faulting) from

the noun concerned will be in the Ablative.

Case-6 The Possessive case

Nouns in case 6 generally convey the meaning of
"Whose" , "belonging to" etc.. In generadl, the case
refers to a connection between one thing and another.

Declensions:



Masculine nouns ending in =1

TH: THH A4 LHTOT]
IS ST Y TIGPEI\T: TIGTHT
& TR JCRIE e
F: A Fer: e

Nouns such as

\a?:[: - deity [ - compilation ¥[O1: - character
WH: - taste SIRIRI: - sky S«q: - delight

also declineasin UH:

Masc. g
qH: e q Y
g ' & any

Nouns such as

[TeT: - treasure TRHA: - ray of light A - guest
TRT: - heap AS: - bee &@M: - sound

oI - disease gﬁ{ﬁ?: - large drum (Musical Inst.)
AfE: - mountain TMT: - mental illness

. . . o
will declineasin &R

Masc. 3

R IR e Y
Nouns such as

9GQI: - axe TE: - hand T - boss RY: - enemy
ag: - ar 1\3@ - bridge %ﬂt - cause

%IUJ; - flute RTRI: - baby T&: - mountain

gd: - sugarcane U - Lord Shiva

ded: - manuscript I - ray of light

decline asin 24:

Feminine nouns ending in 3T

dar gamEn: Hiqar: Hiari
T T T AT
&dl S Sl &ai

Nouns such as



IR - story AT - street AT - bright light
will also decline asin @¥dT

Feminine

qq: A el ot
Nouns such as

qMe: - Maize g®: - rain Ad: - moral

Flfed: - luminance ¥Tid: - shelter

FMd: - fame ¥ifd: - fear ?ﬂ%r: - earth

FMh: - strength Hifes: - dust SAM: - greatness
qf6: - knowledge Hfd: - shape TE: - night
decline as Afd:

Feminine3

N NN NN N .
'ﬂﬂ: gl JedT: "FE'"
Neuter nouns ending in 31

W RS A FS

= . = N = .
GE] A BERIE AT
e =& 9= Bl
oedsh  IEaEd el ErsEan|

Nounssuch asa< & W% ®di%d aso
declineasin &&

Now for the declensions of personal pronouns.

@ 7\ OH A ,ﬁ I A
cd aa d ga4qr: i g 4
q: e GRIE awi

al e GRIE ami

ad = o GRIE awi

© e FA: G ST
® = SEEIIRCR IR U
W @ SR IEIRCC I C



o o A A e
T, @ SR IEIRCC IO
& T w4l FEH
1 FE: F4I: HIER
T Era| Al FE

L et us now see some examples of sentences
with nouns in case-6, the possessive case.

g a9 IEH_ | Thisisyour house.

i T Jeit | Sitais Rama s wife
AR =047 7 IR |

The nose is between the (two) eyes.

6 Bregn fOee| dsdid |

The teacher is delighted at the students' success.
qran Eran: Fed TR |

The mother sees the play(ing) of two children.
TSR TS T TS |

The competition of the students takes place

at the playground.

™ S | I WId: ke |
ThisisLakshmi . Her brother is Govind.

SE: I FF ARA ? Whereis Lakshmi’ s house?
TIod: Fl G Ffed |

Kings honour (felicitate) poets.

Specia uses of the sixth case.

"“for the reason”
A sentence incorporating this phrase will have
the accompanying noun in the Possessive case.

= NN

&d: - reason &dl: - for thereason
S GEAEET &l FRAR Tested |
People go to Kashmir for a pleasant stay.

When one refers to directions in a sentence,
the nouns associated will be in Possessive case.



gdd: (to the east of) TIEHA: - (to the west of)
Z&fUTd: (to the south of) STTG: - (to the north of)
T gdd: Al gaRld |

The river runs east of the village (on the eastern side)
AMSTET JRUE: dEFT: TR |

To the south of the temple is the tank (pond)
ESaeT qiHd: HISEy qRd |

To the west of the school is the playground.

It may be noted that the four words given above
are actually indeclinables.

There are instances of use of the indeclinables
inadightly different form asin

= [N o =
qEuT , QA , 3RO, ST

Though these are indeclinables, they appear to
have suffixes of the instrumrntal case (case-3).
When expressed this way, the indeclinables are
accompanied by nounsin either case 6 or 2.

for example,

qHU ARAEd s ST |

Bay of Bengal isin the east of India
I AR RHSAn: add |
Himalayas are in the north of India.

When referring to something done by a person,

the person is expressed in the possessive case.
When referring to someone having done something,
that which was doneis expressed in the

sixth case.

Examples.
TELISIET Tl TeNeTIs:
Rajargja Cholais the creator of the Brhadeeswara

Temple
(The temple referred to here is more than a thousand



years old and worship continuesto thisday. Thisis
truly a massive edifice qualifying for the adjective

J&d_meaning massive. The temple has been included
among the world heritage monuments by Unesco.
freaaed g FUNSERN: |

Krishnaragja Sagar is the creation of of Visweswaraiah.
(Visweswaraiah was a civil engineer who lived in
South India during the early part of the twentieth

century and is called the father of engineeringin
India. The structure referred to here is a dam)

Sometimes, a noun qualifying for case 2 may get
expressed in case 6. Consider for instance,

The boy thinks of his mother.

Here "mother" forms the indirect object of the verb.
The meaning of this sentence could well be that the
boy is thinking about his mother’s affection towards
him. Then "mother’s' comesin the sixth case. In
Sanskrit this can also be expressed in the sixth case.

qMS: AR U case-2 or

qMS: AId: T case -6

It is possible that a noun qualifying for expression

in the third case also gets expressed in the Possessive.
giod: SRl g |

The famished person is satisfied by food. This could
have also been expressed as

ghra: = g |

Such examples are given only to give a hint to the

student about the variations seen in the use of the
words. Only experience will help master these.

This has been along section. Please go over the
section a second time and do the exercises.

Case-7 The Locative case:

The locative case indicates the locality or position
of athing generally expressive of the meaning given
by the use of prepositions such as



In, into, inside, out of agroup of, out of etc.

Declensions:

Masculine nouns ending in =1

T T TR
IR I IR
I T e
gf: S I
qeT: qron qrog:
A A N
T ™ T
=g =R el
T el T

Declensions of personal pronouns

W AN A
o M I
CER 255 aa
ar i A
<5 S (22 I
N
QT—EIT:
Q| el I
TRT_ T
.
QT—F’J’[:
T AR, T
N
QY[
o qEe T
T, AR Qajﬁ
e FRA el
e w4 AT
R FRT el

RlEA

Y4233 § 43 24344y



Example sentences

quUET: STged: @ld | Fingers are (present) in both hands
ﬁT'I%EI, al: @+d | Cavesare present in mountains
U 6y e Tiid: |

The students has much affection for his teacher.

Uy Si& Ad | Thereis no water in the vessels

I faftgen: =g=a |

Whales roam about in the ocean

Now look up the section on exercises and answer
the questions given there.

Case-8 The Vocative case

Addressing a person is handled viathe Vocative
case. Mostly usage in this case will accompany
adirective or an order to the person addressed.
Also arequest may be applicable. The Vocative
case may also apply in third person where one

might say,

Let him help us. Let them sing his praise etc..
Declensions:

Masculine

T: &I g T & T
gR: & g &l g &
Feminine

1 N g A % @
AR ¥ A T wd 2 Ao
W g E:C g W
Neuter

g g & T
M 7 AN & TRt g TR
m: g A & WAl g W



	devan
	lesson1
	lesson10
	lesson11
	lesson12
	lesson2
	lesson3
	lesson4
	lesson5
	lesson6
	lesson7
	lesson8
	lesson9

